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2.1  ESGUIPMENT
ggs-é' ;? é# TANDARD CCMPUTER WITH 4KH OF MEMORY
R S
KS11 SRI7 ENANGE CARD TNSTACLED
2.2 STORAGE
THE PRUGRAM LORDS INTO 4KK OF MEMORY
3. LOADING PRCCEDURE
“4E_STANDART PPICEDURE FOR LOACING ABSOLUTE BINARY TAPES
15 13 BE LSED
‘. STARTING PROCEDLRE
4.t CONTROL SWITCH SETTINGS
4.1.1 AFTER PROGRAM LORD (INITIAL PROGRAM START)
ALL CONSOLE SWITCHES DOWN
“.1.2 10 MODIFY DEVICE ECTOR AND CONT~.. REGISTER AODRESSES
RFTER PROGRAM REST
SWd0=!
4.1.3 10 START PROGRAM AT SELECTED TEST AFTER PRIGRAM RESTART
SWllsl
4. STARTING ADDRESS

L4+ rcd £ £
WLLWLWWW W W

Pt pePaprp o B
nNLWive—

THE STRRTING RDCRESS FOR ALL TESTS IS CC220C

THE RESTART RDDRESS FOR ALL TESTS I 30020C3

THE STARTING ADDRESS TQ ENTER & SELECTED TEST IS 202200
PRCGRRM AND,OR OPERRTCR RCTION

INITIAL PRCGRAM START

LOAC PROGRAM INTC MEMORY

LORD ADDRESS 000200

oLERR COh JLE SWITCHES

PRESS STR

THe PROGRRH WILL TYPE “DH1l XXXX

AND WILL THEN TYPE “VECTOR RDDRESS-" AND UAIT FOR WN
INPLT FRCM THE TELETYFE SEYBORRD.
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4.3 (CCNT'D?

4.3.1.6 TYPE_IN THE ADDRESS JF THE RECEIVER INTERRUPT VECTCR
FOR THE OMI1 TO BE TESTEC FCLLOWED BY (CARRIAGE REVURN.

NOTE:  WORDS IN ANGLE BRACKETS, I.E. <CARRIAGE RETL®M: “TaoN THAT
THE TELETYPE KEY WITH THE NAMED FUNCTION SHCULD BE ."RUCK

IF AN_INCORPECT QDDRESS IS ENTERED, THE PROGRAM

WILL TYPE "?" AND WILL REPEAT THE SECOND MESSAGE OF +.3.1.S
Tns PRO?RQH WILL TYPE “CONTROL REG&%TER RDDRESS-"

AND WRIT FOR AN INPUT FROM THE TELETYPE KEYBORRD

4.3.1.8 TYPE IN THE ACDRESS OF THE SYSTEM CONTROL REGISTER OF ThE
DH11 TO BE TESTED FCLLOWED BY <CRRRIAGE RETURN>

IF_AN INCORRECT ADDRESS IS TYPED, THE PROGRAM WILL TYFE
= AND WILL THEN REPEAT THE MESSAGE OF 4.3.1.7

THE FROGFAM WILL TYFE "R" TO_INDICATE THAT 1T 1S

ABOUT TO START TESTING, AND THEN TESTIMG WILL SESIN

PROGRAM RESTART WITH ALL SWITCHES DOWN
PERFCRM 4.3.1.2 TQ 4.3,

.3.1.5
THE PROGRAM WILL TYPE “DHII XXXX
AND WILL THEN CCNTINUE RS DESCRIZED IN 4.3.1.3

~?

4.3.1.

£.
.

W
[ =2
J)

&

5. 4.
Wie W
uru Mo

N)sr—

4.3.2 PROGRAM RESTART WITH SWOOs!

4.3.3.1 LOAD RJOCRESS QGC2CC

+.3.3.2 SET SuWll=i

4.3.3.3 PRESS START

4.3.3.4 THE PRCGRAM WILL PERFCRM 35S DESCR'BEC IN 4.3.1.5 7C 4.3.1.3

4.3.4  FROGRAM RESTART WITH SWCI=!

4.3.4.]1 LIRD ACDRESS 0C22C0

4.3.4.2 SET SWOl=l

+.3.4.3 PRESS START

4.3.4.4 THE PROGRAM WILL TYPE “DH1l XXXX
AND LILL THEN TYPE "TEST FC-" AND WILL WRIT FOR RN INP.T
FROM THE TELETYPE KEYBOARD

2.4.5 TYPE_IN THE ADORESS QOF THE TEST AT JMICH THE PROGRAM 15 TJ

' 3 STARTED FOLLOWED BY <CRRRIAGE RETURN:
4.3.4.6 THE PROGRAM WILL TYPE R TO INCICATE THAT IT HAS STARTED
AND WILL START TESTING AT THE SELECTED TEST.

NOTE: CARE MUST BE TAKEN WHEN ThS FERTURE IS USED, SINCE
THERE IS NO PROTECTION AGRINST SELECTING AN AUDRESS THRT
IS IN THE MIDOLE OF A TEST

NOTE: IF IT IS OESIREC TO LOOP CN THE TEST THAT IS SELECTEC
SET SWi4=] BEFORE ENTERING THE TEST ADDRESS
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OPERATING PROCEDURE
OPERATIONAL SWITCH SETTINGS
WiS=!, HALT ON ERROR

S414=1, LOOP ON CURRENT TEST
SW13=1, SUPPRESS ERROR TYPEOUT

SWil=1, INHIBIT ITERATIONS

SW10=1. ESCAPE TO NEXT TEST ON ERROR

SW09=1. FREEZE VARIABLE PARAMETER N CJRRENT TEST
SuDj=1, START PRO3RAM AT SELECTED TEST

SWJ0=1, CHANGE PARAMETERS AT PROGRAM RESTART

SUBROUTINE RBSTRACTS
TRAPCATCHER (LCCATIONS 000COC-000776
TnIS _ROUTINE IS USED TO INTERCEPT UNEXPECTED INTERRUPTS

AND TRAPS, THE AREA FRCM 0C0C00-00077& 1S LORCED
WITH THE FOLLIAING SEQUENCE

~J
(g8 I

Q:}D"J‘ QLo
an

IF AN UNEXPECTED INTERRUPT CR TRRP OCCURS, THE PROGRAM
WILL HALT WITH THE PC 2 GRERTER THAN THE ADDRESS T
WHICH THE PROGRAM TRAPPEC. THE PRCCESSOR STACH MAY

BE EXRMINED TC OETERMINE WHERE THE PROGRAM WRS WHEN ThE
TRAP CR INTERRUPT QCCURED.

START  (PROGRAM INITIALIZATION)

THIS ROUTINE INITIALIZES ALL PROGRAM FLAGS A!D COUNTERS,
TYPES THE PPOGRAM TITLE MESSAGE, AND INPUTS ~HE VECTOR
ANC CCNTROL REGISTER ADORESSES 3F THE DHL1 10 BE TESTED.

BEGIN  (PROGRAM STRRT AND RESTART)

THIS ROUTINE 1S ENTERED IMMEDIATLY AFTER “START™
AND EACH TIME A PROGRAM PASS HAS BEEN COMPLETED.

THE ROUTINE SETS UP THE PROCESSOR STACK AND STATUS WORD
AND_TrEN TRANSFERS CONTROL TO THE TEST AT WHICH

TESTING WILL BEGIN. IF SWO1=0 WHEN THIS RCUTINE IS ENTERD
TESTING WILL START AT T1 (TEST 1). 1IF SWOl=1 WHEN

THIS ROUTINE IS ENTERED, TESTING WILL STRRT AT THE P(
ENTERED FROM THE TELETYPE REYBCRRD.
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AND UPDATES THE PASS COUNT. IF THE PROGRAM WAS LOROED
UNDER ACTI1 OR DDP. THE ROUTINE CHECKS FOR RETURN T

THE ACTI1 OR DOP MONITOR, IF THE PROGRAM IS NOT UNDER
MONITCR CONTROL, THE RCUTINE TRANSFERS TO BEGIN.

SCCPER  (SCOPE LOOP AND ITERATION HANDLER:

THIS ROUTINE 1S ENTERED EACH TIME A TEST IS COMPLETED.

THE ROUTINE CHECKS FOR THE FOLLOWING UPON ENTRY

A) IF SWiC=1, THE RCUTINE WILL TRANSFER TO THE NEXT TEST
IN SEQUENEE, AFTER CLEARING ERROR FLAGS.

3. IF SWll=1, YHE ROUTINE WILL TRANSFER TO THE NEXT TEST
SEQUENCE, "AFTER CLERRING ERROR FLRAGS.

C) IF SWid=l, THE ROUTINE WIL. LOOP ON THE CURRENT TEST
REGARCLESS OF THE ITERATION COUNT.

IF NONE OF THE ABOVE IS TRUE, THE ROUTINE WILL ADD I

TO THE COUNT OF TEST ITERATIONS, AND COMPARE THIS VALUE
T THE NUMBER OF ITERATIONS THAY SHOULD BE PERFORMED.
IF THESE NUMBERS ARE EQUAL, T.~. ROUTINE WILL TRANSFER
TO THE NEXT TEST IN SEQUENCE. "THE THE NUMBERS QRE NGT
EQUAL, THE TEST CURRENTLY IN PROGRESs WILL BE REPEATED.

SCOFIR (FREEZE ON CURRENT DATR)

THE CALL TO THIS ROUTINE FOLLOWS IMMEDIATLY AFTER THE
THE CALL TO THE ERROR HANDLER IN THOSE TESTS THAT HAVE
VARIABLE PRARAMETERS. THIS ROUTINE IS ALUAYS ENTERED IN
THOSE TESTS, WHETHER OR NOT AN ERROR OCCURS.

IF SWC3=1, YHE ROUTINE WILL TRANSFER CONTROL BACK TQ THE
TEST AT A PCINT WHICH WILL ALLOW REPEATING THE FUNCTION
UADER TEST CONTINUOUSLY WITH THE SAME DATA. IF THIS
JPTION IS SELECTED, THE ROUTINE “SCOPER™ IS NEVER EMTERED
AND ITERATION C2UNYS WILL NOT BE _PDATED.
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ERRIRS

HO1

(ERROR HANDLER)

THIS ROUTINE IS ENTERED UPON ESQRCR DETECTION ONLY.
WITH ALL CONSOLE SWITCHES DOWN, THE ROUTINE PRCCEDES &S FOLLOWS:
A) THE PC OF THE INSTRUCTION THAT CHLLED THE ERROR HANDLER
IS ACCESSED THRU THE_STACK, AND_ HEN THE EMT INSTRUCTION
ITSELF IS FETCHED. THE 8 (SB OF THE EMT
1.4STRUCTION ARE THE ERROR CODE. THIS CODE IS
USED TO ACCESS A TABLE OF ERROR MESSAGES AND ERRGR
DATA STORAGE LOCATIONS.
B) ¢ THE TEST THAT FAILED DID NOT FRIL PREVIOUSLY
DURING THIS PRSS, A COMPLETE ERROR RzPORT IS MADE
IF THE TEST THAT FARILED FAILED MOR THAT ONCE CURING
THE CURRENT PASS, ONLY THE DATA RELATING TO THE FAILULER
IS TYPED. IF SiWl3=l. NO ERROR TYPEOUT IS MADE.
C) THE ROUTINE NOW CHECKS FOR HALT ON ERROR. IF SW1S=l
THE PROGRAM WILL HALT WITH THE PC OF THE CALL TO
THE ERROR ROUTINE IN RO. 1IF SW15=0, THE PROGRAM WILL
NOT HALT, BUT WILL CHECK FOR ESCAPE TO NEXT TEST.
D) IF SW10=J, THE ROUTINE WILL RETURN
TC THE TEST IN PROGRESS. IF SWi10=1, THE ROUTINE WILL
ABORT THE CURRENT TEST, AND TRANSFEA TO THE NEXT
TEST IN SEQUENCE, THRU' THE ROUTINE "SCOPER"™.

TRPSRY

(TRARP DECODE AND DISPATCH)

THIS ROUTINE DECODES THE 8 LSB OF THE TRAP INSTRUCTION
THAT CAUSED TH PROGRAM INTERRUPT, AND TRANSFERS CONTRCL
70 THE ROUTINE THRL THE TRBLE "~BPTAB™ USING THE 8§ LSB
OF THE TRAP INSTRUCTION AS AN LFFSET TO THE POINTER TC
THE ROUTINE TO BE ENTERED.
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PROGRAM AND OR OPERATOR RCTION
I  PROGRAM STRART WITH ALL SWITCHES DOWN

1.1 REFER TO SECTIONS 4.3.1 AND 4.3.2 FCR INITIAL PROGFQM
SEHAVIOR.

1.2 AFTER “R" HAS BEEN TYPED BY THE PROCGRAM, TEST EXECUTION
WILL BEGIN. ERCH TEST WILL BE REPERTED A SELECTED NUMSER
QF ITERRATIONS (SEE LISTING FOR EXACT NUMBER FOR EACH TEST)
AND THEN THE PROGRAM WILL PROCEED TO THE NEXT TEST.

.1.3 WHEN ALL ITERATIONS H. /E BEEN COMPLETED, THE PROGRAM

WILL TYPE "DZDHX™ AND THEN RESTART TESTING AT TEST 1
(LOCATION TI IN THE PROGRAM).

1.4 IF AN ERROR OCCURS, THE FROGRAM WILL TYPE AN APPROPRIARTE
ERROR MESSAGE, AND THEN CONTINUE THE TEST IN PROGRESS.
¢  PROGRAM START WITH SWOO=!
THE PROGRAM WILL PERFORM RS DESCRIBED IN 4.3.1 AND 5.3.!
3 PROGRAM START WITH SWOl=1
.3.1 REFER TO SECTION 4.3.4 FOR INITIRL PROGRAM BEHAVIOR
3.2 TEST EXECUTION WILL START AT THE ADDRESS SPECIFIED

AND WILL CONTINUE RS DESCRIBED IN 5.3.1.2

.3.3 RFTER "DZDHX™ HAS BEEN TYPEDC, THE PROGRAM W (LL

RESUME TESTING AT TEST |

.4 FROGRAM OPERATION WITH SW1S=]

SAME AS 5.3.1, EXCEPT THAT IN THE CASE CF AN ERRCR,
THE PRCGRAM WiLL HALT AFTER THE ERROR TYPEOUT, AND
4E PC+2 OF THE CALL TO THE ERROR ROUTINE WILL BE

DISPLAYED IN RO.

.S PROGRAM OPERATION WITH SW13=l

SAME aS 5.3.1 EXCEPT THRT NC ERROR TYPEOQUTS WILL JCCJR

.6 PPCSPAM OPERATION WITH SWii=l

gﬂfg RS 5.3.1 EXCEPT THAT ERCH TEST WILL BE REPERTED ONCE

7 PROGRAM OPERATION WITH SW10=l
RS 5.3.1, EXCEPT THRT IN THE CASE OF AN ERROR

SAME .
THE CURRENT TEST WILL BE ABORTED, AND THE PF 3RAM
WILL PROCEEC TO THE NEXT TEST IN SEQUENCE.

-— w—— o ——— —
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(CONT*D)
PROGRAM OPERATION WITH SWl4=1, OR SW09=!

THESE FUNCTIONS ARE NORMALLY USED FOR TROUBLE SHOOTING.
SEE SECTION B.3 FOR THEIR USE.

ERRORS
ERRIR HALTS

THE ERROR MESSAGE FORMAT FOR ALL ERROR TYPEQUTS
IS RS FOLLOWS

PC+2 MESSAGE
HERDER (IF APPLICABLE)
DATA (IF APPLICABLE)

WHERE

PC+2 IS THE ADDRESS OF THE CALL TO THE ERROR HANDLER + 2
MESSRGE IS AN ASCII MESSARGE DESCRIBING (BRIEFLY) THE FRILURE
HEADER IS R DESCRIPTION OF THE DATA_TO FOLLOW

DATA IS OCTAL INFORMmTTON RELATING TO THE CAUSE OF THE FAILLRE
IF THE SAME ERROR OCCuRS IN A GIVEN TEST ON THE SAME

PASS, AND IF DATA IS ASSOCIATED WITH THAT ERROR, ONLY

DATA IS Trre ON SUCCEEDING ERROR TYPEQUTS

IF NO DATA_IS ASSOCIATED WITH THE ERROR
THE COMPLETE ERROR MESSAGE IS TYPED.

ERROR DESCRIPTIONS

SEE LISTING FOR DETARILS OF ERRORS
ERROR RECOVERY

SWiS=0

IF THE PROGRAM IS RUN WITH SW15=0, NO OPERATOT ACTION IS
EE?EITED TO CONTINUE TESTING

IF THE PROGRAM IS RUN WITH SW15=1, TO CONTINJE TESTING
AFTER THE PROGRAM HAS HALTED, PRESS THE PRJC ZSSOR
CONSCLE CONTINUE SWITCH

ILLEGAL INTERRUPTS

IF AN _INTERRUPT QCCURS TO A VECTOR ADDRESS NGV
SELECTED_OURING PROGRAM INITIALIZATION, THE PROGRAM WILL
HALT ! THE TRAPCATCHER. THE ADDRESS At WHICH

THE PROGRAM HALTS IS 2 GRERTER THAN THE ADDRESS

TO WHICH THE INTERRUPT OCCURED. THE PROGRAM MUST BE
RESTARTED AT 200 TO RECOVER FROM THIS ERROR.
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5.3
6.3.1

£.3.2

SCOPE LOOPING

70 SCOPE ON A SPECIF.. TEST, SET SWl4=1 AND SW13=l
THIS WILL CAUSE THE PROGRAM TO_CONTINUQUSLY L?OP N TH
SRAME TEST, ANC wILL CRUSE ALL ERROP YPEOUTS TO BE INHIBITED
TO _SCOPE ON R SPECIFI. VALUE OF A PARAMETER WITHIN

q _TEST, SET SWO9=1 TO FREEZE THE DATA

(SEE LISTING FOR THOSE TESTS THAT INCORPORATE THIS FEATURE)
(CONT'D)

PROGRAM START TO SCOPE LOOP ON SELECTED TEST

PERFORM SECTTON 4.3.4 WITH SWid=l

RESTRICTIONS

STARTING

THE DH1l TEST CARD MUST BE INSTALLED

RUNNING

NONE

MISCELLANEOUS

EXECUTION TIME

THE TIME FOR_ONE PASS OF THE PROGRAM .END OF

TYPEQUT OF DZDHX TO END OF TYPEOUT QF DZDHX}

IS GIVEN FOR VARIOUS PROCESSCORS IN THE THBLE BELCHK

TIME
PROCESSOR

POP-11-05, 10
POP-11/20
POP-11/40
POP-11/45
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PROGRAM DESCRIPTION

THE FIRST GROUP OF TESTS VERIFIES THAT NC INTERRUPTS OCCUR
WITH_INTERRUPT ENABI ES ©ET FOR EACH INTERRUPTING FUNCTICN
AND THE ASSOCIATED DONE BIT OR FLRG FOR THAT FUNCTINN CLEARED.

THE NEXT GROUP QF TESTS VERIFIES THAT AN INTERRUPT CQES
CeCUR_IF R SPECIFIC DONE BIT OR FLAG IS SET, ALONG

WITH ITS_CORRESPONDING INTERRUPT ENABLE.

AT THIS TIME, INTERRLPTS TQ THE CORRECT VECTOR ARE TESTED.
IF AN_INTERRUPT OCCURS TO ANY VECTOR OTHER THAN THOSE
SELECTED AT PROGRAM START, THE PROGRAM WILL HALT IN THE
TRAPCATCHER IN A LOCATION 2 GREATER THAN THE ADDRESS

Of THE VECTOR TO WHICH THE INTERRUPT OCCURED.

THE NEXT GROUP OF TESTS CHECKS TRANSMITTER NPR AHD
INTERRUPT LOGIC OPERF-ION FOR ERCH LINE, IN AN
INDIVIDUAL TEST FOR EACH LINE. THE BYTE COUNT FOR

THE SELECTED LINE IS SET TO -1 (FOR 1 CHARACTER TRANSMISSION)
AND THE BUS ADDRESS MEMORY LOCATION FOR THAT LIN IS

SET TO 0. THE EAR BIT FOR THE SELECTED LINE IS SET
TRANSMITTER INTERRUPT ENABLE IS SET, AND THE PROCESSOR
STATUS WORD IS CLEARED TO ALLOW INTERRUPTS TG OCCUR.

A DELAY LCOP IS THEN ENTERED, AND IF THE DELAY TIMES

OLT BEFORE AN INTERRUPT OCCURS, AN ERROR MESSAGE IS
TYPED. IF AN INTERRUPT DOES OCCUR, THE CONTROL REGISTER
IS TESTED TO SEE IF THE TRANSMITTER DONE BIT

HRS BEEN SET, THE BAR REGISTER IS CHECKED T0

SEE THAT THE'BAR BIT FOR THE SELECTED LIN HAS SLEARED,
BYTE COUNT IS CHECKED TO SEE THAT IT WENT TC 0

AND THE BUS ADDRESS REGISTER FOR THE SELECTED LINE

1S CHECKED TO SEE THAT IT INCREMENTED T0 1.

THE NEXT GROUP OF TESTS VERIFIES THAT A SINGLE SELECTED

LINE WILL PERFORM TRANSMIT FUNCTIONS WITHOUT RFFECTING

ENY OTHER LINE. THIS IS DONE BY SETTING ALL BYTE

COUNTS TQO -i, AND VERIFYING THAT ONLY THE LINE SELECTED _
FOR TRANSMISSION HAD CHANGES MADE IN BYTE COUNT AND BUS ADDRESS
WHEN TRANSMISSION HRS BEEN COMPLETED.

THE NEXT TEST VERIFIES THAT A SINGLE CHARRCTER CAN BE
LORDED INTO THE SILO C(IN_MAINTENANCE MODE).

THE TEST IS MADE WITH INTERRUPTS ENABLED AND CHECKS ARE
MADE TO DETERMINE IF RECEIVER DONE WAS SET, IF THE SILO
FILL LEVEL REGISTER WAS INCREMENTED, AND IF THE

DATA RECEI' -5 IN MAINTENANCE MODE 4RS CORRECT.




- — e s - P

OSDHC  MACYLL 27.732)

DZDHCB.PFC

497
498

S
509
510

dydnoonaootononon
N et peadopos ps pos ps p =
ODO NN LWn—

dionunun
T
£ WY+

525

B

100C00
040000
020000
010000
004000

CO00e0

MOl

16-MRK-"6 (9:17 PAGE 13

g. (CONT'D)

THE NEXT TEST VERIFIES THAT FROM 1 TO 63 CHARACTERS
CAN BE LOADED INTO THE SILO, AND THAT THE SILO FILL
%gvghERE?EgTER INDICATES THE CORRECT NUMBER OF CHARACTERS

THE NEXT TEST VERIFIES THAT &4 CHARACTERS CAly BE LCARDED
INTO THE SILO, FROM 1 TO &4 CHRRRCTERS CAN BE READ OUT OF
THE SILO, AND THAT THE SILO FILL REGISTER INDICATES THE
NUMBER CF CHARACTERS REMAINING IN THE £IL0.

THE FINAL TEST VERIFIES THAT THE CHARACTER RVAILARBLE
FLAG WILL NOT 8B SET UNTIL THE SILO FILL LEVIL -'TEguS T=E
SILO ALARM LEVE., FOR ALL ALARM LEVELS 0-83.

1C. ~ISTING

:DHil TRANSMITTER AND RECEIVER BASIC LOGIC TEST
; COPYRIGHT 1972,1976, DIGITAL EQUIPMENT CORP.., MRYNARD, MRSS. 0!7S4

:STARTING PROCEDURE
:LOAD PROGRAM
:LOAD ADDRESS 000200

;PRESS START

PROGRAM WILL TYPE DH11 TRANSMITTER AND RECEIVER BASIC LOGIC TEST
:PROGRAM WILL TYPE "VECTOR ADDRESS-"

:TYPE IN THE ADDRESS OF THE RECEIVER INTERRUPT VECTOR

:FOR THE DH1l1 TO BE TESTED, FOLLOWED BY (CARRIAE RETURN
:PROGRAM WILL TYPE "CGNTRGL REGISTER ADDRESS-"

:TYPE IN THE ADDRESS OF THE SYSTEM CONTROL REGISTER

:FOR “HE DHI1 TO BE TESTED, FOLLOWED BY ¢CARRIASE RETURN)
:PROGRAM WILL TYPE "R™ TO INDICATE THAT TESTING HAS STARTED

:AT THE END OF A PASS, PROGRAM WILL TYPE “ DZDKC *

'AND THEN RESUM TESTIAG

:SWITCH REGISTER OPTIONS

SW15=100000 :=1,HALT ON ERROR
SW14=40000 :=1,L00P ON CURRENT TEST
SW13=20000 ;=1, INHIBIT ERROR TYPEOQUT
SW12=10000

SWi1=4000 =1, INHIBIT ITERATIONS
SW10=2000 +=] ESCAPE TO NEXT TEST CN ERROR
SWC9=1000 :=1,.00P WITH CURRENT DATA
SW08=400

SW0e=120

SWOS=40

SWO4=20
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554
655
556
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000013
000004
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Sk33=1C
Si0a=M
SW01=2
SK00=1

NO1

:RESTART FROGRAM AT SCLECTED TEST
{RESELECT VECTOR AND CONYROL REGISTER
:ACDRESS AFTER PROGRAM RESTHRT
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2338, 5FC
558
£59
ggg ‘RESISTER DEFINITIONS
£62 olaje 0t RO='.2 :GENERAL REGISTER
33 FI3EET R1="1 R RECIZTER
SEu BE0R02 Rg='g : GENERAL REGISTER
EES R3333 R3=".3 : SENERAL REGISTER
55 idalely] Ri="4 : GENERAL gécxsrsn
gL’ RERTX RS="5 : GENERAL REGISTER
e ARZRE §P=".6 ! PROCESSOR STACK POINTER
SE3 Raleietopy o ' PROGRAM COUNTER
;:; .LOCATION EQUIVALENCIES
g-3 1750 SWR={TTET :LONSOLE SWITCH PESISTER
g:g oo _iGHISz177870  :POP-11.45 DISPLAY REGISTER
5T enhny 85177776 :PROZESSIR STATUS WORD ~
5tk fix1a3 S ACK=ENOCOD+200  START OF PROCESSOR STACK
. £ : INSTRUCTION DEFINITIONS
- 3
o g PLGHISP=S746  :DECREMENT PROCESSOR STACK 1 W2RD
i1 ZRE~E P3P15P=5726 * INCREMENT PROCESSOR STRCK 1 wORC
. 582 apfelar PUSHRO=10046  :SAVE RO ON STACK
53 =13EaC £3PRO=12630 'RESTORE RO FROM STACK
S8+ RSJESE BUSHZSP=2We4e  :DECPEMENT STACK TWICE
| 3Es Z328cE POP2SP=22626 _ : INCREMENT STACK TWICE
58 EaUTv EMT.WLT :8ASIC CEFINITION 2F ERROR CALe
,  £og
| 883 Reeieis 8377162100000
£32 235335 8i114=400
ey A2nnAs 31713=2300C
g3 Rptetalela 91712:10:80
o ES3 el ola's BITII=43C
_ C3- ac2320 BIT:0=2000
€3 alejtalsls 175821000
£3€ SREGIE 81 70e=400
N 322-85 Bglgﬁgg
' - o - | -
‘ €98 ;égﬁﬂ T705=40
354 aelatls §§qu=ac
¥ 603010 BI763=1C
Eoz 239054 BITOE=4
N ok 205002 R
L ESe Rl BITR3=]
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s FRRPCATCRER FCOR IL_ESAL INTERRLPTS
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tUNeXPECTED TRAP T0 THIS LOCHTION
EXAH&N% E ACK TO_FIND CRUSE
:UNEXPECTED “RAP TQ THIS LOCATICH
:EXAMINE STACK TO FIND CAUSE
ENEXPCCT D TRAP 75 THWIS LGCATIC
XAMINE STACK TJ FIND CALSE
: JNEXPECTED TRAP TO THIS LUCATION
:EXAMINE STAZK TO FIND CAUSE
UNEXPECTED TRAP 7O THIS LSCRTIC

.EXRHINE STRCK TO FINL CRUSE
: JINEXPECTED TRAP TQ THIS LOCATICN
sZYQMINE STACK TO FING CARU

SE
: JEXPECTED TRAP TQ THIS LCCATION
:EXAMINE STACK TO FIND CAUSE
1 UNEXPECTED TRAP TQ THI: LCCR IoN

:EXRMINE STACK TO FIND C

USE
: JNEXPECTED TRAP TQ THIS LCCR’IOH
‘EXEMINE STACK T2 FINC CAUSE
+UNEXPECTED TRAP TO THIS LOCATICN
:EXAMINE STACK TO FIND CAUSE
‘UNEXPECTED TRAP TQ THIS LOCATICN
:EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATIC
:EVAMINE STACK TO FIND CAUSE
:UMEXPECTED TRAP TO THIS LOCAT!
:EXAMINE STACK TO FIND CAUSE
:U'NE (PECTED TRAP TO THIS LOCATIC
:EXAMINE STACK TC FIND CAUSE

+ JNEZPECTED TRAP 70 THIS LGCRTICSN

:EXAMINE STACK TC FIND CAUSE
:UNEXPECTED TRRP T0 THIS LOCR’ CN
:EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TQ THIS LanTION

:EXAMINE STACK TO_FIND

CLRUSE
« UNEXPECTED TRRP TC THIS LOZATICN
:E(AMINE STACK TO FIND SAUSE
:UNEXPECTED TRAP 70 THIS LOCATION
EXQHINE STRCK 70 FIND CRUSE
UNEXPECTED TRARP TO THIS LOCRTICN
:EXAMINE STACK TO FIND CAUSE
:UNEYPECTED TRAP YO THIS LOCATION
EXRHINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TO TH'S LOCRTION
EXRMINE STRCK TO FIND CRUSE
UNEXPECTED TRAP TO0 THIS LOCRTICH
:EXAMINE STACK TO FIND CAUSE
:ULEAPECTED TRAP TO THIS LOCRTIN
EXRHINE STRCK 7O FIND CALSE
«UNEYPECTED TRAP TO THIS *CCRTION
EKRH;NE STACK TO FIND CAJSE
UNEXPE»TED TRAP TO THIS _OCRTIJN
EARHINE STACK TO FIND CR.SE
UHEXPECTED TRAP TO THIS LACRTICN
E\nWINE STRCK T9 FIND CRLSE
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HALT
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: MEXPECTED TRAP TG THIS LACATICN
:ENAMINE STACK TO FIND CAUSE
'UNEXPECTED TRAP T THIS LOCATION
'EXAMINE STACK TO FIND CAUSE
;UNEXPECTED :RAP TQ THIS LOCATION
'EYAMINE STACK TO FIND CAUSE
:UMEXPECTED TRAP TO THIS LOCATION
'EXAMINE STACK TO_FIND AUSE
:UNEXPECTED TRAP TO THIS LOCATICN
'EXAMINE STACK TO FIND CAUSE

t NEXPECTED TRAP TO THIS LOCATICH
:EXAMINE STACK TO FIND CAJSE
:UNEXPECTED TRAP TO THIS LJCATIGN
{EXAMINE STACK TO FIND CALSE
:UNEXPECTED TRAP TO THIS LCCATION
'EXAMINE STACK 10 FIND CAUSE
:JNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO EIND CAUSE
:UNEXPECTED TRAP "0 THIS LOCATION
'EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATICN
:EXAMINE _STACK TO_FIND CAUSE
:UNEXPECTED TRAP 7O THIS LOCATION
LEXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP_TO THIS LOCATICN
'EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATION
tEXAMINE STACK TO_FIND CAUSE
:UNEXPECTEC YRAP TQ THIE LQCATICN
tEXAMINE STACK TO FIND CAUSE

: NEXPECTED TRAP 7O THIS LOCATICN
'EXAMINE STACY TO FIND ZAUSE
tUNEXPECTED TRGP TQ THIS LORATION
'EXAMINE STACK T0 FIND CPUSE
:UNEXPECTED TRAP TQ THIS LOGATION
'EXAMINE STACK 10 FINT CAUSE

: JNEXPECTED TRAP TC THIS LJCOTION
‘EXAMINE STACK 70 FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATION
'EXAMINE STACK TC FIND CAUSE
*UNEXPEZTED TRAP TQ THIS LICATICN
'EXAMINE_STACK T FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATION
TEXAMINE STACK T0_FIND CAUSE
:UNEXPECTED TRAP TQ THIS LOCATION
:EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATIS
'EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TO THIS LOSATISN
*EXAMINE_STACK 70 FIND CRUSE
:UNEXPECTED TRAP TO THIS LOCATION
'EXAMII-Z STACK TO_FIND CRUSE
:UNEXPEZTED TRAP TQ THIS LOCATION
;EXAMINE STACK TO FIND CRUSE
tUNEXPECTED inAr TO THIS LOCATION
tEXAMINE STACK TO FIND CRUSE




lal
eacHC

MACY1l

S=CnIB.PFC

:1?
&%g

"'91

7§5
~34

-q-

’“5

~an

‘-:9

000334

36338

CCo3ue
DOQEHH

”03512

£C0023

L6-MAR-T& 09:17

PRat 1S

.*2
HRLT

E02

:UNEXPECTED TRAP TO THIS LOCATION
ENAMINE STACK T0 FIND CAUSE
tUNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CAUSE
; UNEXPECTED TRAP T0 THIS LOCATION
:EXIMINE STACK TO FIND CAUSE
: UNEXPECTED TRAP TQ THIS LOCATION
tEXAMINE STACK T0 FIND CAUSE
¥NEXPECT'“ TRAP _TO THIS LOCATION
EXGMINE SiCK TO FINO CARUSE
: UNEXPECTED TRAP T0 THIS LOCATION
:EXAMINE STACK TO FIND LALSE
: UNEXPECTED TRAP TO TH'S L“CRTION
{EXAMINE STRCK TO FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATION
{EXAMINE STRCK T3 FIND CRUSE
:UNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO SIND CRUSE
:JNEXPECTED TRAP TQ THIS LCCATION
:EXAMINE STACK TO_FINC CRUSE
:UNEXPECTED TRAP 75 THIS LOCATICN
sEXAMINE STACK TO 7 IND CAUSE
:UNEXPECTED TRAP TO THIS LCCATICN
sEXAMINE STACK TO FIND CAUSE
UNEXPECTED TRAP TJ THIS LOCATION
1EXAMINE STACK TC FIND CAUSE
tUNEXPECTED TRQP TO THIS _OCATION
:EXAMINE STACK TO FIND CAUSE
s UNEXPECTED TRAP '0 THIS LOCATICN
{EXAMINE STACK TC FIND CAUSE
: INEXPECTED TRAP TG THIS LOCATION
sEXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TQ THIS LJCATICN
{EXAMINE SYACK TO _FIND CRUSE
s UNEXPECTED TRAP T9 THIS LOCATION
:EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TO THIS LQCATION
:EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP 70 THIS LOCRTICN
:EXAMINE STACK YO FIND CAUSE
:UNEXPECTED TRAP TQ THIS LICATIN
EKRNINE STARCK TC FIND CRUSE
;UNEXPECTED TRARP TO THIS LOCATICN
:EXAMINE STACK TO FIND CAUSE
:GNEXPECTED TRAP TO THI: LOCATION
:ENAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCRTION
;EXAMINE STACK TO FIND CAUSE
s UNEXPECTED TRAP T0 THIS LOCRTION
:EXAMINE STACK TO FIND CAUSE
s UNEXPESTED TRAP TQ THIS LOCRTION
tEXAMINE STACK TO FIND CAUSE
: UNEXPECTED TRAP_TQ THIS LOCRTION
:EXAMINE STACK TO FIND CRUSE
:UNEXFECTED TRAP TQ THIS LOCATICN
:EXAMINE STACK TO FIND CRJSE




SemHl

MACYL!

L--qus PFL

T3

1

Pab—o Pt p—tps pos o p— b

0 C0 U0 (O 00 00 (D 0D A0
OO0 M LG

£29

000S 1M

30628

O”CSEE

2n T}

900516

L

0C0030

16-MRR-7S 08:17

PRGE 19
.+
HﬂbT
HQLT
HRLT

+2
HALT

_— - . - ——

FOe

{UNEXPECTED TRAP TO THIS LOCATION

SRR R ASKaT0 BTN LA v

:EXAMINE STACK TO FIND CRUSE
UNEXPECTE? TRAP TO THIS LOCQTION
EXRMINE STACK TO F RUSE
s UNEXPECTED TRAP TO THIS LOCRTION
tEXAMINE STACK TO FIND CAUSE
{UNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CAUSE

:UNEXPECTED TRAP TO THIS LOCATION
(EXAMINE STACK TO FIND CRUEE
TUNEXFECTED TRAP TQ THIS LOCATION
{EXAMINE STACK TO FIND CALSE
{UNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CRUSE
:UNEXPECTED TRAP TQ THIS LOCATION
{EXAMINE STACK TO FIND CAUSE
{JNEXPECTED TRAP 70 THIS LCCARTION
{EXAMINE STACK TO FINC CAUSE
{UNEXPECTED TRAP TO THIS LOCATICN

{EXAMINE STACK TO FIND CRUSE
s UNEXPECTED TRAP TO THIS LOCATION
EXAMINE STACK TO FIND CAUSE
UNEXPECTED TRRP TQ THIS LOCARTION
(EXAMINE STACK TO FIND CRUSE
s UNEXPECTED TRAP TO THIS LOCATICN
'EXAMINE STACK TO FIND CR SE
sUNEXPECTED TRAP TO THIS LOCATION
tEXAMINE STACK TC FIND CAUSE
sUNEXPECTED TRAP TO THIS LOCATION
:EXAMINE STACK TO FIND CRUSE
*UNEXPECTED TRAP TQ THIS LQcATICN
:EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATION
EXAMINE STRCK TO FIND CAUSE
{UNEXPECTED TRAP TC THIS LOCRATICN
:EXAMINE STACK TO FIND CAUSE
sUNEXPECTED TRAP TQ THIS LOCATION
s EXAMINE STACK TO FIND CAUSE
tUNEXPECTED TRAP TO THIS LOCARTICN
tEXAMINE STACK TC FIND CARUSE
:UNEYPECTED TRAP T0 THIS LCATION
;EXAMINE STACK TO FIND CAUSE
s UNEXPECTED TRAP 7O THIS LJCATION
tEXAMINE STACK TO FIND CAUSE
s UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK YO FIND CAUSE
s UNEXPECTED TRAP TQ THIS LICATION
sEXAMINE STACK TO FIND CRUSE
‘UNEXPECTED TRAP TO THIS LOCATION
{EXAMINE STACK TO FIND CRUSE
: UNEXPECTED TRAP TO THIS LOQCATION
:EXAMINE STACK TO FIND CARUSE
:UNEXFECTED TRAP TQ THIS LOCATIN
tEXAMINE STACK TO FIND ZAUSE
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823
330

ik

832
834
835

00064
200676

3R8+48
00070
£007C6
000710
00CT12
0oCr 14
3007 1€
200720
030732
000724
020726
£30739
000732
05734
000736
000740
000742
000744
005746
000750
30C752
00974
300756
000750
£O0T62
£A07EN

020756

cadv7e

ARt

890676
000000

888038

000736
COC0CC
0c0712
000000

Shgs

000

"UOUOD
003726
002000
000732
000020
£0Sr36
020000
000742
0200aC
000746
200002

0007?5
88030C

16-MRR-TE 09:17

PRGE 20

.+c
HRLT
.42
HALT
.42
HALT
.+2
MALT
.+
HALT
.42
HMALT
.42
HaLT
.+
HRLT
.+
HALT

GOe2

:UNEXPECTED TRAP TO THIS LOCATION

PR T
:UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
tUNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STEZk TO FIND CAUSE
:UNEXPECTEL TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
tUNEXPECTED TRAP TQ THIS LOCATION
sEXAMINE STACK TO FIND CAUSE

:LNEXFECTED TRAP TO THIS L.CATION
{EXAMINE STRCK TO FIND CARUSE
:UNEXPECTED TRAP TO THIS LOCATION

:EXAMINE STACK TO FIND CRUSE

; JNEXPECTED TRAP TQ THIS LOCATION
EXAMINE STACK TO FIND CAUSE

: UNEXPECTED TRAP TO THIS LCCATION
EXAMINE STACK TO FIND CAUSE

: UNEXPECTED TRAP TO THIS LOCATION
sEXAMINE STACK TO FIND CAUSE

s UNEXPECTED TRAP TO THIS LOCATION
;EXAMINE STACK TO FIND CAUSE
:UNEXPECTED TRAP TO THIS LOCATIO
EXAMINE STACK TO FIND CAUSE

s UNEXPECTED TRAP T0 THIS LO”QTION
tEXAMINE STACK TO_FIND CAUSE

; UNEXPECTED TRAP TO THIS LUCQTILN
s EXAMINE STACK TC FIND CAUSE

: UNEXPECTED TRR§ TO THIS LOLQTION
:EXAMINE STACK TO F RUSE
UNEXPECTED TRAP TO THIS LOCRTICN

EXRHINE STACK TJ FIND CRUSE
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DZDHCB. PFC
863 :STANDARD INTEPRUPT VECTORS
885
856 000024 =24
867 000CR4 015460 PFAIL ;POUER FAIL HANDLER
863 000526 GOD3YC M0 'SERVICE AT LEVEL 7
859 000030 013240 ERRCRS :ERROR_HANDLER
870 00CC32 000340 340 'SERVICE AT LEVEL
71 000934 Q14542 TRPSRY wmmmmmmmmwm
§r2 00003 900340 340 1SERVICE AT LEVEL 7
87 £00200 A =200
974 000200 J00I67 00CS7 P START ;30 TO START OF PROGRAM
2 _
877
e :DEFINITIGNS FOR TRAP SUBROUTINE CALLS
87 :PQINTERS 10 SUBROUTINES CAN BE FOUND STARTING
880 :AT LOCATION “TRPTAB"
£83 104400 SCOPE=TRAP+Y ;SCOPE LOOP AND_ITERATION RANDLER
883 10445 ] TYPE=TRAP+Y :TELETYFE QUTPUT ROUTINE
594 104402 OCTASC=TRAF+Y :CCTAL 10 ASCII CONVERSION
BES 104463 INSTR=TRAP+Y t INPUT RSCIT STRING
896 104404 INSTER=TRAP+Y :STRING INPUT ERROR
Ba? 104455 PRRAM=TRAP+Y :CONVERT STRING TO OCTAL, CHECK LIMITS
828 104406 SAVNSP=TRAP+Y :SAVE RO-RS, PC
859 104407 RESOE=TRAP+Y :RESTORE RO-RS
890 104410 SCOPE1=7RAP+Y ;CHECK FOR FREEZE ON CJRRENT DATA
89] 00004E .=
832 000046 014106 LoGICAL

893 3003%e .=
83+ 0CO0C0S2 (+30CC +3C00
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S0S 001000

001054

001056
801060

S OO O DD DD
NP prepes paps o poap
OO JorU LW

549 0Clelb
35C 001213

T3

01203

012767
J12706
012737
005067
005067
005067
005067

012737

005767
001-74
03277
0014+S
012701
012702
012703
01021}
00s012
060301
260302
320127
001371
104403
018703
104405
000300
000770
015400

0C3

004
104403
015725
10440¢€
C02000
177776

16-MRR-76 (9:17

000349
017102
D1SHEC
014426
014362
014363
Q14350
Q14344
C156g4
Cl4374

0g1072

C14360
6C0002
0000Cs
01433z
003301
CCa330

033302
0020C4

goloac

176770
000C24

000004

014352
000004

176442

102

PRGE 22

+PROGRAM INITIALIZRTION

:LOCK QUT INTERRUPTS

:SET LP PROCESSQOR STACK

:SET UP POWER FAIL VECTOR

: CLEAR _PROGRAM FLAGS AND COUNTS
:TYPE TITLE MESSAGE

:DETERMINE MEMORY SIZE

MOV 8340, PS :LOCK QUT INTERRUPTS

MOV #STRLK, SP :SET UP PROCESSOR STACK
MOV sPFAIL . 3824 ;SET UP_POWER FAIL TRAP
CLR STFLG " CAR TEST START FLAG

CLR PRSCNT CLERB PASS COUNT

CLR ERRCNT :CLE-Z ERROR COUNT

CLR ERRFLG :uLEMR ERROR FLAG

SLR ERRFLG :CLERR LAST ERROR PC

TYPE MTITLE :YYPE TITLE MESSAGE

15T INIFLG CHECK INITIALIZATION FLAG
BNE VEC1 :1F NOT 0, CHECK SWITCHES
LR . :FOR REINiTIRLIZRTION

MOV 23, 284 :SET UP TIME OUT RETURN
15T (RO} + ‘WILL TRAP WHEN NO MEMORY
BR 1§ :LOCATION RESPCNDED, CONTINUE
MOV RO, HCORE :R0 CONTRINS ADDRESS OF
SUB 82 HCORE :NON EXISTATN MEMORY

MOV 85, n4 :RESTORE TRAPCATCHER

ST INIFLG :IF INITIALIZE FLAG=0

BEQ VEC2 :GET VECTOR AND {SR ADDRESS
BIT #5100, SWR :IF SWOQ=1, GET NEW VECTOR
BEG BEGIN’ :AND CSR

MV 300, 81

MOV 302 R2

MOV 4. R3

MOV R2. (R1) -RESTORE TRAPCATCHER

CLR (Re) : IN CLOATING VECTOR AREA
ADD R3.R!

ADD R3.R2

CMP R1, #1000

BNE 1§’

INSTR : INPUT ADDRESS OF DEVICE VECTOR
MVECTOR ‘MESSAGE “VECTOR ADDRESS-"
e s CONVERT STRING TO OCTAL
300 'LOW LIMIT

>0 ‘HIGH LIMIT

DHRVEC :LOCATIONS TQ BE FILLED

3 NUMBER OF _OCATIONS

g 1158 MASK

INSTR : INPUT RDDRESS OF DEVICE CSR
MREGAD s MESSRGE “CONTROL REGISTER AGCRESS-"
PARAM ' CONVERT STRING TO OJTAL

0 :LOW LIMIT

177776 ‘HIGH LIMIT
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351 021212
952 00lclM
953 001215
354 (QCl216

gl 021337

J15356

00s1e?

012767
012706
032767
001410
104403
016071
104405
00000
017500
000207

001

o0}
000410
012767
005767
001004
005167
104401
002177

16-MRR-7S 09:17

014152
Ql4148
14214

014206

000340
017102
0000c2

OO0 OO0
beepape ()
zorrLr L
Qao— W
ooy W)
oo Lo

Cl418:2

176526
176306

014104

valen)
- =
——
mm

BEGIN:

.BYTE
.BYTE

19:

wn
A

PRGE 23

DHSCR
7

10

MOV
INC
18T
SNE
COM

Joe2

DHSSR, DHSLR
DHSLR
INIFLG
BEGIN
INIFLG

; PROGRAM START
:CHECK FOR PROGRAM START AT SELECTED ADDRESS

MOV

£340,PS
sSTALK, SP
:§k01 L8R

2%
uTl RETURN
tc

STFLG
MR
JRETURN

:LOCAQTIONS 7O BE FILLED
NUHBER OF LOCATIONS

11 S8 MASK

:SET UP ADDRESS OF SILO
:STATUS REGISTER HIGH BYTE
:IF INITIALIZATION CLAG

: 1S_CLERRED

sCET IT

;LOCK QUT INTERRUPTS
?ETSUE P?OCESSOR STACK
:GET PC FOR PROGRAM START
:GET PC

;MESSAGE "TEST PC"

; CONVERT STRING TO OCTAL

:NORMAL START, TEST 1
: IF LOOPING, BYPASS TYPEOUT

;s TYPE “R™ TO INDICATE START
:START TESTING
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001334
001342
001350
001356
301364

001372
001400

001405
20144

Q0luee
00.426
00.430
001436
0G144G
001444
931446
001452
JO145Y
001460
0J1462
031466
001470
001476
L01502
001518
C3151%

001516
001524
001532
001540
001546

001554
001See

001579
001576

0016CH
001610
00i6l2
001620
d0leze

000002
017705
104000
01271€
006002
016777
005077
616777
005077
164400

012767
012767
012767
012777
012777

w-2777
012777

012777
0ig777

005067
000240
812767
Go0414
017705

16-MAR-76 09:17

000340
004000
001470
004000
001440

00C340
001454

009340
00013C

176330
020340
013712
Co1473
01367

0C1470
013708

013700
01367¢

000340
004000
001652
004000
COibee

000340
001636

030340
01000C

176166
000340
01353C

405y

176340

013702
C13e74

176252
013672

1%:

c9:

Te:

1%:

PRGE 24

K02

: INTERRUPT LOGIC TEST
+SET CHRRACTER AVAILABLE INTERRUPT ENARBLE

: VERIFY THAT NO INTERRUPTS OCCUR

MOV
MOV
MOV
MoV
MOV

MOV
MoV

MoV
MOV

oLR
NOP
MOV
BR
MOV
HLT
MOV
RTI
MOV
HLT
MOV
RTI
MOV
LR
MOV
CLR
SCOPE

8340, PS
4000, ICOUNT
£33, ESCAPE
#BIt11, JDHSCR
1§, 204RVEC

340, JOHRLVL
823, JDHTVEC

#340, CHTLYL
61706, JDHSCR

PS

$340.FS

3%

SDHSCR,RS

%38, (SP)
gDHSCR,RS

$3%, (SP)
DHRLVL , JDHRVEC
JDHRLVL

DHTLVL , JDHTVEC
QDHTLVL

; INTERRUPT LOGIC TEST
;SET SILO OVERFLOW INTERRUPT ENARBLE

; VERIFY THAT NO INTERRUPTS OCCUR

MOV
MCV
MOV
MO".
MOV

MOV
MOV

MoY
MOV

CLR
NOP
MOV
BR

MOV

340, PS

#4000, TCOUNT
%35, ESCAPE
81111, aDHSCR
13, IDHRVEC

#340, SDHRLYL
#2%, JDHTVEC

£340, aDHTLVL
$B8IT12, JDHSCR

PS
#340,PS
3%
JOHSCR, RS

;DISABLE ALL INTERRUPTS

;SET UP FOR 40CQ ITERATIONS
;SET _UP TO ESCAPE TQ NEXT TEST
:MASTER CLEAR INTERFACE

;SET UP FOR POSSIBLE

;RECEIVER INTERRUPT

sSET UP FOR PQSSIBLE
; TRANSMITTER INTERRUPT

-SET CHARACTER AVRAILABLE
: INTERRUPT ENABLE
ALLOW INTERRUPTS
:WINDOW FOR INTERRLPTS
:NO INTERRUPT OCCURED
: CONTINUE
:GET CONTENTS OF SYSTEM CONTROL REGISTER
s UNEXPECTED INTERRUPT
SET UP TO
RETURN £ROM INTERRUPT
*GET CONTENTS OF SYSTEM CONTROL REGISTER
s UNEXPECTED INTERRUPT

-SET UPT 10
RETURN FROM INTERRLPT
:RESTORE TRAPCATCHER

:CHECK FOR ITERARTIONS, LOOP

:DISABLE ALL INTERRUPTS

tSET UP FOR 4000 ITERATIONS
:SET UP TO ESCAPE TQ NEXT TEST
!MASTER CLEAR INTERFACE

:SET UP FOR POSSIBLE

:RECEIVER INTERRUPT

;SET UP FOR PQSSIBLE
; TRANSMITTER INTERRUPT

sSET SILO OVERFLONW

s INTERRUPT ENRBLE

:ALLOW INTERRUPTS

sWINDOW FOR INTERRUPTS

'NO INTERRUPT OCCURED

:CONTINUE

:GET CONTENTS OF SYSTEM CONTROL REGISTER




DZDHC

MaCYL]

<DHCB.PFC

1038
1039
1040
1041
1042
1743
104y
1045
1048
1047
1048
1049
+0C0
1051
1052
1053
105y
1058
1056
1057
1058

001626
Q0162
00'_sM
. 1836
00142
001544
001650
001652
001660
J01664
o01eTe
001676

-01700
001706
001714
001722
00173C

901736
001744

C01752
001760

001766

002032
002034
002042
002046
002054
002060

002062
002070
002076
Co2104

27732

012716
000002
g17s0

104000
012716
000002
016777
005077
016777
0Cs0?7
104400

0i2777
012777

005067
000240
012767
000414
01770S
104000
012716
000002
017705
104000
012716
200002
916777
005077
016777
005077
104400

012767
012767
012767
012777

LO2
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001652
013514
001882

013524
013516

01316
013513

003340
004000
002034
004000
002004

00C340
002020

Co0340
620000

176004
000340
013346
C02034
013332
002034
013335

013334
013326

000340
004000
002226
004000

013520 3%:

013512

013336
013330

175706
013326
013314
013244

2s:

T3:

1%:

cs:

3%:

TY:

T O ; UNEXPECTED_1.+TE3RUPT
MOy #38, (SP) 15T UP_TO

RTI ;RETURN ¢0M INTERRUPT

MOV  2DHSCR,RS ;GET CO' [ENTS OF SYSTEM CONTROL REGISTER
HLT O s JNEXPE . TEQ_INTERRUPT

MOV %38, (SP) :SET UPT TC

RTI ;FETURN_FRGit_INTERRUPT

MOV DHRLVL , SDHRVEC "RECTORZ TRAPCATCHER
CLR ADHRLVL X

MOV DHTLVL , DHTVE?

CLR ADHTLVL

SCOPE (€17 508 ITERATICONS, LOOP

- INTERRUPT LOGIC “€ST
tSET TRANSMITTER CONE IM™-RRUPT EMG3LE
s VERIFY THRT NO INTERRUPTS OCCUR

MOV 340, PS :DISABLE ALL INTERRUPTS
MOV #4000, ICOUNT :SET UP FOR 4UD0 ITERATIONS
MOV 3%, ESCAPE :SET UP TO ESCAPE TG NEXT TEST
MOV 81111, JDHSCR :MASTER CLEAR INTEPFACE
MOV %13, JDHRVEC :SET UP FOR PNSSIBLE

*RECEIVER INTERRUPT
MOV 340, JDHRLVL

MOV 28, dDHTVEC ;SET UP FOR POSSIBLE
}TRANSMITTER INTERRUPT

MOV #3400, 2OHTL v
MOV 81713, IDHSCR SET TRANSMITTER DONE
: INTERRUPT ENRBLE
CLR PS :ALLOW INTERRUPTS
NOP :WINDOW FOR INTERRUPTS
MOV 340, PS sNO INTERRUPT OCCURED
BR 35 :CONTINCE
MOV JDHSCR, RS :GET CoIENTS OF SYSTEM CONTROL REGISTER
HLT 0 : UNEXPECTED INTERRUPT
MOV 238, (SP) SET UP TO
RTI sRETURN FROM INTERRUPT
MOV ADHSCR, RS :GET CONTENTS OF SYSTEM CONTROL REGISTER
HLT C : UNEXPECTED INTERRUPT
MOV £3%, (SP) -SET JPT T0
RTI :RETURN FROM INTERRUPT

MOV DHRLVL , 3DHRVEC
CLR ADHRLVL

MOV DHTLYL , SDHTVEC
CLR SOHTLYL ,
SCOPE :CHECK FOR ITERATIONS. LOOP

s INTERRUPT LOGIC TEST
:SET CHARACTER AVAILABLE INTERRUPT ENABLE

:SET CHARACTER AVAILABLE (MAINTENANCE MODE IS ENABLED
:YERIFY THAT AN INTERRUPT OCCURS

MOV 340, PS :DISABLE ALL INTERRUPTS

MOV #4000, ICOUNT :SET UP FOR 4000 ITERATIONS _

MOV %35, ESCAPE :SET UP TO ESCAPE TO NEXT TEST
MOV BIT11, aDHSCR :MASTER CLEAR INTERFRACE

;RESTORE TRAPCATCHER
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002112 012777
002120 Q12777
003126 012777
002134 diaz:

002142 01277
002150 052777

002156 052777

202164 005067
0Ce170 000240
002172 J12767
0022C0 104001

00220 000411
03:204 Oierle
002210 000002
002212 01:705
0C2216 104000
002220 012716
002224 000002
002226 016777
002834 005077
002240 016777
00224€ 005077
002252 10%400

0Jz2254 Q12767
00ceee 012767
002270 012787
002276 012777
002304 012777
0023le 012777
002320 012777
002326 012777
002334 012777
002342 052777

002350 052777

002356 Q05067
002362 000240
002384 012787
002372 1040Ci

002374 00041l
002376 012716
GOE402 000002
002404 017725

16-MRR-78 08:17 PAGE 26

002204

000100
000200
175606
000340

0C2z2ek
013140
002226

wrru
Lo

WItIw
P e h—s

l
1
i
!

0000

000340
004000
002420
0040C0
002376
0G0340
002404
000340
00100C
040000

010000
175414
000340

002420
012746

01317¢e

175576

03144
013136

175404

19%:
28:

3%:

TS:

19:
28:

MOV
M0V
Mov
MO/
MOV
31S

BIS

CLR
NOP
MoV
MLT

3R
10V
RTI
MoV
HLT
MOV
RTI
MOV
CLR
MOV
CLR

SCOPE

MO2

%13, JOHRVEC
£3'  JDHRLVL
2%, SDHTVEC
#3480, aDHTLVL
8BIT09, JDHSCR
$BITCH, IDHSCR
#BI1T07, JDHSCR
PS

:340,PS

33

£33, (SP)
SDHSCR.RS
#38, (5P)

DHRLVL , 9DHRVEC

JDHRLVL

DHTLVL, JOHTVEC
HTLV

SDHTLVL

: INTERRUPT LOGIC TEST
:SET SILO QVERFLOW INTERRUPT ENABLE
:SET SILC OVERFLOW (MARINTENANCE MODE IS ENABLED

: VERIFY THAT AN INTERRUPT CCCURS

MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
MOV
BIS

BIS

CLR
NOP
MOV
HLT

BR

MOV
RTI
MOV

340, PS

#4000, TCOUNT
#38, ESCAPE _
#81%11, JDHSCR
#1$ IDARVEC
340, JDHRLVL
2%, JDHTVEC
#340, JOHTLVL
81703, aDHSCR
$8IT14, ADHSCR

¥BIT12, 3DHSCR
PS
1340, PS

3§
%38, (SP)
aDHSCR, RS

:SET UP FOR RECEIVER INTERRUPT
:SET UP FOR TRANSMITTER INTERRLET

:SET MAINTENANCE MODE

!SET CHARACTER AVAI.ABLE

! INTERRUPT ENABLE

:FORCE INTERRUPT BY

:SETTING CHARACTER AYAILABLE

tALLOW INTERRUPTS

:WINDOW FOR INTERRUPTS

:NO INTERRUPT OCCURED

'WITH CHARACTER AVAILABLE INTERRUPT
iENABLE AND CHARACTER AVAILABLE SET

:SET UP_TO RETURN
;FROM VALID INTERRUPT
:GET CONTENTS OF SYSTEM CONTROL REGISTER
s UNEXPECTED INTERSLPT

;SET UP TO RETURN
;FROM UNEXPECTED INTERRUPT
!RESTORE TRAPCATCHER

:DISABLE ALL INTERRUPTS

;SET UP FOR 4000 ITERATIONS
;SET UP TO ESCAFE TO NEXT TEST
;MASTER CLERR INTERFACE

;SET UP FOR RECEIVER INTERRLPT

;SET UP FOR TRANSMITTER INTERRUPT

:SET MAINTENANCE MCDE
:SET_SILO OVERFLOM

: INTERRUPT ENRBLE

!FORCE INTERRUPT BY

'SETTING STLO OVERFLOW

:ALLOW INTERRUPTS

*WINDOW FOR INTERRUPTS

:NO INTERRUPT OCCURED

*WITH SILO OVERFLOW INTERRUPT
{ENABLE AND SILO OVERFLOM SET

;SET UP TO RETURN
; FROM VALID iNTERRUPT
:GET CONTENTS OF SYSTEM CONTROL REGISTER
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1150 002410 104000 HLT 0 s UNEXPECTED INTERRUPT
1181 002412 012716 002420 MOV 838, (SP) -SET UP TO RETURN
1152 002416 000002 ) RTI ;FROM UNEYPECTED INTERRUPT
1153 002420 016777 012756 012752 3%: MOV DHRLVL , 2DHRVEC 'RESTORE TRAPCATCHER
1184 002426 005077 012750 CLR SDHRLVL
1185 002432 Oler7? 012750 012744 MOV DHTLVL , 3DHTVEC
1186 00z440 005077 012742 CLR ADHTLVL
iigg 062444 1094400 SCOPE
1189 - INTERRUPT LOGIC TEST
1160 :SET TRANSMITTER INTERRUPT ENABLE
1161 :SET NON EXISTATN MEMORY (MAINTENANCE MODE IS ENABLED
}igg :VERIFY THAT AN INTERRUPT CCCURS
1164 002446 012767 000340 175322 Tb: MOV #340, PS :DISABLE ALL INTERRUPTS
1165 002454 012767 004000 012742 MOV 84000, TCOUNT tSET UP FOR 4000 ITERATIONS
1166 002462 012767 002612 012730 MOV %35, ESCAPE :SET UP TO ESCAPE -9 NEXT TEST
1167 002470 012777 004000 012660 MOV sBIt11, ADHSCR *MASTER CLEAR INTERFACE
1168 002476 012777 002576 012674 MOV #28, JDARVEC :SET UP FOR RECEIVER INTERRUPT
1169 002504 012777 000340 012670 MOV %340, SDHRL VL
1170 002512 012777 002570 012664 MOV %18, IDHTVEC :SET UP FOR TRANSMITTER INTERRUPT
1171 002526 012777 000340 012660 MOV 340, QOHTLVL
1172 002526 018777 001000 Q12622 MOV #BIT03, DHSCR :SET MAINTENANCE MODE
1173 002834 082777 020000 012614 BIS #BIT13.3DHSCR :SET TRANSMITTER
1174 X : INTERRUPT ENABLE
1175 002542 052777 002000 012606 BIS 8BITL0, IDHSCR *FORCE INTERRUPT BY
1176 :SETTING NON EXISTATN MEMORY
1177 002550 (0OSO&? 175222 CLR PS :ALLOW INTERRUPTS
1178 005584 Q00240 NOP s WINDOW FOR INTERRUPTS
1179 0025Sp 012767 000340 175212 MOV 340, PS *NO INTERRUPT OCCURED
1180 002564 104001 HLT 1 :WITH TRANSMITTER INTERRUPT
1181 - 'ENABLE AND NON EXISTATN MEMORY SET
1182 , + ERROR
1183 00256& 000411 BR 3%
1184 002570 612716 0O26!2 . 18: MOV %38, (SP) :SET UF TO RETURN
1185 002574 000002 , RTI :FROM VALID INTERRUPT
1186 002576 017705 012554 2%: MOV aDHSCR, RS 'GET CONTENTS OF SYSTEM CONTROL REGISTER
1187 002602 104000 HLT 0 ' UNEXPECTED INTERRUPT
1188 002604 012716 002612 MOV %38, (SP) -SET UP TO RETURN
1189 0026i0 000002 RTI :FROM UNEXPECTED INTERRUPT
1130 002612 016777 012564 012560 3§: MOV DHRLVL , 3DHRVEC 'RESTORE TRAPCATCHER
1181 002620 00S077 012556 CLR SDHRLVL
1192 002624 016777 012556 012552 MOV DHTLVL , 3DHTVEC
1193 002632 005077 012580 CLR FOHTLVL
i%gg 002636 104400 SCOPE
1196 : INTERRUPT LOGIC TEST
1197 :SET TRANSMITTER DONE INTERRUPT ENABLE
1198 :SET TRANSMITTER DONE (MAINTENANCE MODE IS ENABLED
%éEE ‘VERIFY THRT AN INTERRUPT OCCURS
1201 002840 012767 000340 175130 T7: MOV 340, PS ;DISABLE ALL INTERRUPTS
1202 002646 012767 004000 012550 MOV #4000, ICOUNT :SET UP FOR 4000 ITERATIONS _
1203 002654 012767 003004 012536 MOV %38, ESCAPE :SET UP TO ESCAPE TC NEXT TEST
1204 002eb2 012777 004000 012466 MOV #BI1t11,aDHSCR ‘MASTER CLEAR INTERFACE
1205 00267C 012777 002770 -012502 MOV %28, ADHRVEC :SET UP FOR RECEIVER INTERRUPT
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MOV 8340, SCHRLVL
“3, 8.8 oCHTVES
3\ 0340, IDHTLLL
Moy 81709, 2CHSR
BIS 217123, 80MSCR

8IS ®BITIS,3CHSCR

C.R PS
NOP

o 8345, FS
LT .
BR 33
nov .an . SPo
RT!
MOY SDHSCR.RS
HLY
MOV 838, (SP)
RT1

MOV - DHRLVL, JOMRVES
sCHRLVL

MOV DHTLVL , 3DHTVES

ZLR SCHTLY L

SCIPt

:NPR LJGIC TEST

;SET SYTE COUNT 7O | FCR :

*SET BAR BIT FOR LINE O
:PELAY FOR NPR
VESTEY THAT SR 81T FO

s verIFY THST TRANSHITY
MOV 340,05

MOy sac.éccunr

MOV 26§, ESCAPE

MOy 8811} 2CHSCR
TSR PC,CLE

Mo 828, DHTVES

MOV 8340, QOHTLVL
MOV 83, JLHECR
MOV s-|, ODHBC
MGV s080.R?
MOV 81, 30HBAR

Bl 881713, 3CHSCR
CL PS

DEC RO

BNE 18

HLY l

18T JLHSCR

BM] 3%

HLT e

R
R

:SET JP FOR TRANSMITTER I%7EES_=°

:SET MEINTENGNCE MCOE
:SET_TRANSATTTER CINE

: INTERRUPT ENABLE

:FOPTE INTERRUPT B

tSETTING TRANSIITTER DOMNE

:RLLON INTEPRUPTS — ~
twsNDOW_FOR INTERRUPTS
:NC_INTERRUPT SCCUPED

tWITH TRANSMITTER DONE INTESRLPT
iENABLE MO TRANSITTTER CINE SE-

:SET UP TQ RETLRN -
'FRO! VALZD INTERRUFT

' T C TENTS ‘ST ™ \:v. T—C-' ,..I-T-
i0ET SONTENTS OF PRIg[ET CONTAGL BEGISTER

-SET LP T0O RETLRN
:FROM UNEXPESTED INTERRLPT
‘RESTORE TRRPCAT-HER

£3S

T

:DISABLE AL INTERRLPTS _

:SET UP FOR 20 ITERRTIINS _
:SET UP TQ ESCAPE 12 NEXT TEST
;1350 MASTER CLEARR _

:CLEAR ALL BUS ADCRESS .
: AND avr; SOUNT MEMIRY _0SATIONS
:SET P TRANSMITTER

: INTERRUPY VESTOR

:SE#ECT wlNE O

:SET BYTE COUNT T

:SET BAR BIT F2R

+LINE C

:SET TRANSMITTER INTERRLP™ EMABLE
‘ALLOW INTERRUPTS

:DELAY FOR NPR

:NO INTERRUPT JCSURED, EPRIR
:VERIFY THAT TRANSMITIER

:DONE IS SET

: TRANSHITTER CONE NOT SET, ERRCR
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Mac 2”732 le-MAR-TE 09:1° PRGE 29

g8.PF2 -
003.6) 20STTT 12204 38 757 JD4BRR -WAS BRR £.T CLEARED FOR LIMNE C
833164  277N0M BEJ 4§
003:66 00800S LR Qe - (RS )=EXPECTED DATA IN
. :BUFFER ACTIVE REGISTER, 0
a03:7C 017704 DIZLTM v ICHBAR, RY : (R4)=ACTUAL £C. ENTS OF
'BUFFER ACTIVE REG:Sicn _ _ )
n03.7- 104000 , R 0 :BUS ACTIVE BIT NOT CLEAREL, ERSIF
03I7e D227~ 000001 01210 48: NP 8!.20MBA :WAS BUS ADDRESS INCREMENTEL
88 ™ gn;ggg gEQ o§
% Si%09 o218 MCV J0HBA, B4 . (R4 =RCTUARL CONTENTS
‘f§~EU3 ADDRESS MEMORY FZR
9s32;2 512705 020001 @y 81.RS ' 'RS)=EXPECTED VAL'E OF
‘E‘fﬁe ﬁgoniss MEMJRY FCR
0032:6 104053 HLT 3 1815 ACDRESS NOT _PCATED
:CORRECTLY, ER7OR
033220 09S7TT Ol12142 £8: ST JCHBS :0ID BYTE COUNT DECREMENT 7C 2
Cose>v OCIslb . - BE3 68
AO3E3¢ QITTON Ol213% . MOV SDHBC ,RY < {R4I=ACTUAL VALUE OF BYTE
o ) :COUNT FOR LINE 0
AC3Z3Z  D0S00S oLR RS . : (R8)=EXPECTED /ALJE OF BYTE
) | SCOUNT TOR LINE O, 3]
M 10NN HLT Y ‘BYTE COUNT CIC NIT CEIREMENT T2 o, ERROR
20353 01677 oxgxqz 912134 MOV gHRLVL.UDHRVEC :RESTIRE TRAPCATCHER
3 Qosgrr Q12132 cL DHRLVL
333737 ZIert? Cl2138 cl2las MCV OHT- VL, 20HT VES
£3398c 33627~ £iZlgy CLR ontLvl
AD338z Slgree DIF(D 53: MOV 8STACK, 5P .RES”IRE STACK
O03EEE (54«30 SCOFE SRECK EOR ITERATIONS, LoF

+NPR LSGIC TEST

:SET BYTE COUNT T0 | FOR LINE I
+SET BRR BIT FCR LINE |

<DELAY FOR NPR

:VERIFY THAT BAR BIT FOR LINE | C.EARS
:VERIFY THAT TRANSMITTER CONE IS SET

003270 012767 0QO34C LT¥ESC Til: MOV 8340, PS :DISABLE ALL INTERRUPTS
AS3276 Dl276” 200020 Q:2120 MV 220, COUNT :CET JP FOR 23 ITERATICSNS
FE3308 D1g7e? 003830 012105 MOV 868 ESCRPE :SET UP TC ESCAPE TJ NEX® “EST
3033i2 12777 004030 013036 MOV 881111, SDKHSCR :ISSUE MASTER CLEAR
003320 00M767 011740 JSR PC,CLEAR :CLERR nLL BUS ACDRESS

AND BYTE COUNT MEMCRY LIJRTIONS
n03324 012777 003406 0120GE MOV 828, JDHTVEC *SEY (P TRANSMITTER
£03232 QI£777 000340 012046 MOV 8349, SOHTLVL : INTERRUPT VESTOF
A03340 012777 00CQ3l Q123:2 MOV 81, JOHSCR SSELECT LINE |
f03346 012777 177777 0120.2 MGV s-1, JOHBC :SET BYTE COUNT 72 1
003354 612700 001000 Mov  #1000,R0 -
003380 012777 0C0002 (Ci2002 MOV 82, JOHBAR ;E§§Ea?n 81T FOR
0023k6 052777 023300 011762 BIS 881713, ACHSCR :SET TRANSMITTER INTERR_P™ EMRSLE
003374 00S0B? i7427b CLR PS ALLOW INTERRUPTS
232433 0CS300 18: BEC h :DELAY FOR NPR
003402 001376 BNE 1§
PE3454 164001 HUT i :NO INTERRUPT 3CCLRED. ESRIR
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012767
012767
012767
012777
004787

012777

CEe?777

D03

: JERIFY THAT TRANSMITTER
;OUNE IS SEY

; TRANSMITTER DONE NOT =E7, ERRCR

+HAS BAR BIT CLEMRED FOR LINE |

: (RS)=EXPECTED DATA IN
:BUFFER ACTIVE REGISTER,

: (RY)=RCTUAL CONTENTS of
:BUFFER_ACTIVE REGISTER
:BS ACTIVE BIT NCT CLEARED
:WAS BUS ACDRESS INCREMENTED

+ RYI=RCTURL CONTENTS
:OF BUS RDDRESS MEMORY FCR

LINE ]
+ (RS)=EXPECTED VALUE OF
:8US_ADDRESS MEMORY FCR

tLINE 1, I~

;808 AOBRESS NOT UFDATED
:ZORRECTLY, ERROR

;01D BYTE LOUNT DECREMENT TO O

: (R4)=ACTURL VRLUE OF BYTE
;COUNT FCR LINE |
; (RS)=EXPECTED VALLE OF BYTE
:COUNT FOR LINE 1, O
QUNT DiC NUT DECREMENT TC0 O, ERROR

EFCCR

+RESTIRE STRIK
:CHECK FOR ITERATICONS, LSoP

CLERRS
SET

tn

:DISABLE ALL INTERRLPTS
iSET UP FOR 20 ITERATIONG
'SET UP TO ESCRPE 10 NEXT TEST

: ISSUE MASTER CLEAR

iCLEAR BLL BuS ADDRESS

'GND BYTE COUNT MEMORY LOCRTIONS
'GET UP TRANSMITTER

: INTERRUPT VECTOR

}SELECT LINE o

:SET BYTE COUN T0 1

:SET BAR BIT FOR
c_INE 2

18-MAR-T5 09:17 PRGE 30
Q117w 28: ST JOMSCR
BM $
_ ot 3
011748 :8: 151 JDHBAR
BEQ qg
2R R
011736 MV JCHBAR, RY
HLT 0
000001 01722 MS: o 8], 30HBA
BEG 5§
N11TIN MOV J0HBA, R4
0000G1 MOV 8..RS
HLT 3
3.1704 c§: 75T 3DHSC
BEQ 8§
011678 MOV SDHBC . RY
CLR RS
HUT 4 ;gvrs C
011702 OL1676 MOV DHRLVL , 3DMRVEC  ;RESTORE ' TRAPCATCMER
011e7s CLR S0HRLYL
011674 C116°0 MOV DHTLVL . DHTVES
011666 CLR JOHTL L
013102 Bs: MOV 8STACK, SP
SCCPE
:NPR LIGIC TEST
:SET BYTE CCUNT TO I FOR LINE 2
:SE7 BAR BIT FOR LINE 2
:DELAY FOR NPR
:VERIFY THAT BAR BIT FOR LINE 2
| :VERIFY THAT TRANSMITTER JONE I
000340 i74242 TIE: MOV 8340, FS
€00520 011662 MOV 20, 1COUNT
003756 0!1650 MOV €S’ ESCAPE
004000 01:60C MOV 881111, JOHSCR
011502 ISR PC.CLEAR
0C3644 011614 MOV 823, JOHTVEC
000340 011610 MOV 8340, SDHTLVL
050002 11552 MOV 82, aDHSCR
177?277 011234 MOY s-| J0HBC
001000 MOV +1000, RO
00CO04 011544 MOV s4, JDHBAR
020002 0lig24 BIS 81713, 30HSCR

i INE 2
:SET TRANSMITTER INTERRLPT ENRBLE
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DIOHS O MASYLL ST.TI2Y l&-MAR-TS 03:1° PRSE 3!
D20=IB.PFS
1™y 003832 005067 17140 CLR Bg +ALLOW INTERRUPTS
1375 003536 Q05300 13: DEC RS :DELAY FGR NPR
138 B53cuf 0013Ts SNE 18 .
13T 003eM2 104021 HLT 1, :NO INTERRLPT occupsg ERRCR
1378 0C3ew4 00S-+. 011508 2s: ST JDMSCR ;VERIFY THAT TRANSHITtER
1373 :DONE 1S SET
+380 ﬂgssgg 18049' 84 gs
138] AI3eE2 10402 HL - TRANSMITTER DONE NOT SET, EPRZR
1332 003eE4 J0STor G1ls10 03 1631 JCHBAR {WAS BAR BIT CLEARED FOR LINE 2
1383 3536B6C OCI40M BEQ 4
1384 233652 005005 CLR RS : (RS)=EXPECTED DATA IN
1385 :BUFFER ACTIVE REGISTER, O
1386 0038e4 DJ1T7OM  01:500 MOV JDHBAR, RY : (RY)=ACTUAL CONTENTS OFf
1367 :BUFFER ACTIVE REGISTER
1388 203870 104000 HLT 0 :BUS ACTIVE BIT NOT CLERRED, ERRCR
1339 N03e72 (022777 0CD00. Olive4 4S: CHP 81.20HBA :WAS BUS ADDRESS INCREMENTED
1390 993790 00I40S BEQ 13 _
1391 333702 C1770% 011858 MOV I0HBA, RY : (R4)=RCTUAL CONTENTS
1392 :0F BUS ADDRESS MENMORY FOR
1393 :LINE 2
139 003rD% 012705 9000021 MOV #1.RS : (RS)=EXPECTED VALUE OF
1395 :BUS ADDRESS MEMCRY FOR
13% LINE 2, 1
1387 202712 10MO03 HLT 3 :BUS RDORESS NOT UPDATED
1338 :CCRRECTLY, ERROR
1399 203714 00STT7 Cliuyg cs; 757 JDHBC 010 BYTE LOUNT DECREMENT TO 3
1430 203720 DCi+i6 8EQ &S
1401 003722 017704 GOlisN0 MOV aDHBC Ry : (R4)=ACTUAL VALUE OF BYTE
1402 :COUNT FOR LINE @
1403 00372¢ 005005 CLR RS : (RS =EXPECTED VALUE OF BYTE

145% :COUNT FOR LINE 2, O
: :BYTE COUNT DID NOT DECREMENT T2 0. ERROR

1405 0Q37 04074 HLT Y :
1406 003732 016777 011444 011440 MOV DHRLVL, 3DHRVEC  :RESTORE ' TRAPCATCHER
1457 0G3740 00S077 011436 LR S0HRLVL
1408 003744 016777 011436 011432 MOV DHTLVL , 3DHTVES
1408 (003752 005077 011430 CLR  QDHTLVL
1412 003786 012706 01710 BS: MOV 8STACK , 5P :RESTORE STACK
i:éé 003762 104400 S JPE :CHECK FOR ITERATIONS, LOJP
1413 sNPR LOGIC TEST
1414 'SET BYTE COUNT 70 | FOR _INE 3
1415 :SET BAR BIT FOR LINE 3
1416 :DELAY FOR NPR
1417 :VERIFY THAT BAR BIT FOR LINE 3 ZLEARS
{313 :VERIFY THAT TRANSMITTER DONE IS SET
ijac 003;;4 nia;e7 008338 1??303 T13: nox #8340 Ps'HT ;DI%RS#EFREL INT%?EH?{SN
- T O ) iIE
1354 §33008 DiSTR; BBSREY Bifuns oV 35&&8&% 1367 0P FOREEaAETTa NENT TEST
1423 004006 012777 004000 011342 MOV 881111, 3DHSCR ; ISSUE MASTER CLEAR
1424 004014 004787 DIl24M JSR PC, CLEAR :CLERR ALL BUS ADDRESS
1425 :AND BYTE COUNT MEMORY LOCRTIONS
1428 004020 012777 004102 011356 MOV 828, JDMTVEC :SET UP TRANSMITTER
1427 004026 012777 000340 011352 MOV 8340, JOHTLVL : INTERRUPT VECTOR
1428 004034 0l2777 000003 011314 MOV 83, JOHSCR 'SELECT LINE 3
1429 004042 012777 177777 O01:i3le MOV s-}, JDHBC :SET BYTE COUNT =0 !




DTMS

1430
1431
g
4%
1435
5

1837
1439
1433
1440
144]
T4y3
1443
1444
1445

DIOHEB.

MCYLl 27073

PFC

B5Ha8Y

BRRes

004274

8 40
410

024102

004106
004110
004lic
Co4116
204120
00412e
004126
004130

004136
OC41MC

004144

004150
004152
Qa4156
0ou1e0
CO4164

0041866

- 0O4170

004176
004202
004210
GC42i4
S04e20

a1e
318:99

mm
32E0e7
e
18436;
005777
100401
194902
05777
291404
835005
017704
104000
822777

00140S
017704

012735

134302
00S777
301416
017704
005a0s

10400
018777

012705
1044090

16-MRR-T6 09:17

20
010 011306

00}
200

22000 011266
e

0112850

011282

0lle42

000001 OCllezs
0i1220

0CCo0!

011210
011202

011eCe Cll202
011200
011200 Q11174
011172
017132
000340 173546
000020 011166
004452 011154
Q04000 011104
0110086

18:

3%:

4s:

S%:

bS:

FO3

PRGE 32

MOV #1000,R0

MOV 819, JOHBAR ;§§;Esga BIT FCR
Bl 881713, IDHSCR 'SET TRANSMITTER INTERRUPT ENABLE
L PS :ALLOW INTERRUPTS
ggc Tg :DELAY FOR NPR
AL 1 :NO INTERRUPT OCCUFRED, ERRCR
75T JOHSCR :VERIFY THAT TRANSMIT}EP
:DONE 1S SET
BM] 3%
HLT 2 s TRANSMITTER DONE NOT SET, ERRCR
525 ggnann :WAS BAR'BIT CLEARED FOR LINE 3
CLR RS s (RS)=EXPECTED DATA IN
:BUFFER ACTIVE REGISTER, O
MOV JDHBAR, RY : (R4)=ACTUAL CONTENTS OF
:BUFFER ACTIVE REGISTER
HLT 0 :BUS ACTIVE BIT NOT CLEARED, ERRCR
ggg gé,aouen :WAS BUS ACDRESS INCREMENTED
MOV JDHBA, RY : (R4)=ACTUAL CONTENTS
;Eiﬂgug ADDRESS MEMORY FOR
MOV #},.RS : (RS)=EXPECTED VALUE OF
:BUS ADDRESS MEMORY FOR
:LINE 3, 1
HLT 3 :BUS ADDRESS NOT UPDATED
:CORRECTLY, ERRCR
ggg gguac :0ID BYTE COUNT DECREMENT TO 3
MOV 2DHBC . RY s (RY4)=ACTUAL VALUE OF BYTE
:COUNT FOR LINE 3 )
LR RS : (RG)=EXPECTED VALUE OF BY =
:COUNT FOR LINE 3, O
HLT Y _____;BYTE COUNT DID NOT DECREMENT TO 2, ERQOR
MOV OHRLVL , 3DHRVEC :RESTJRE’ TRAPCATCHER
SLR SDHRLVL
MOV DHTLVL , dDHTVEC
CLR JDHTLVL
MOV 8STRCK, SP -RESTORE STACK
SCOPE : CHECK FOR ITERATICNS, LOOP

:NPR LOGIC TEST
'SET BYTE COUNT TO I FOR LINE Y

!SET BAR BIT FOR LINE 4

:DELAY FOR NPR

:VERIFY THAT BAR BIT FOR LINE 4 CLEARS
!VERIFY THAT TRANSMITTER DONE IS SET

MOV #340, PS +5ISABLE ALL INTERRUPTS

MOY 20, LCOUNT :SET UP FOR 20 ITERATICNS

MOV 868 ESCAPE :SET UP TO ESCAPE TQ NEXT TEST
MOV #8111, aDHSCR :1SSUE MASTER CLERR

JSR PC,CLEAR :CLEAR ALL BUS RDDRESS
:AND BYTE COUNT MEMORY LOCATIONS
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<486
1487
1488

N.JHHH'—.'—‘.—..-‘.—IH"DID

Papa b apaPop Dt Pabth bt bt s psPa
N (00 NN L (DM~ OO

m}nmmmmmmmmmmmmm
ufv

004256
80“2&4
042(2

204206
004312

004320
004336
00433
004334
004336
004340

004344
204346
994350
804354
004356

004360

004364
204366
304374
J04376

005402

004408

004410
J04414
004416

004422

00442y
B0443E
004434
004440
034446
04452
004456

004460
0044EE

2nTse

10403
005777

100401
104802
0osv7?
001404
005005

017704

104000
Q22777
001405
017704

012735

104003

0Qs77?
001416
017704

00SCOs

104004
016777
305077
016777
005077
012706
154400

18:

c8:

33:

£3:

T1S:

i6-MRR-78  0S8:17
Q04340 011120
Q00340 Ollll4
CO0004 Q11056
1oree? 011062
001000

000020 011080
020000 011030
17394

011012

11014

011004

00000: 010770
010782

020001

010752

019744

010750 01074y
010742

010742 10738
010734

017102

9C0340 173210
000020 013730

GO3

PAGE 33

+SET UP TRANSMITTER
« INTERRUPT VECTOR
+SELECT LINE 4

+SET BYTE COUNT TO 1

;SET _BAR BIT FOR
sLINE

MOV 828 JOHTVEC
MOV #340, JDHTLVL
MOV 84, JOHSCR
MOV s-1 J0MBC
MOV 1000, RO
MOV 220, 30HBAR

LINE Y
315 881713, 30HSCR SET TRANSMITTER INTERRUPT ENABLE
C.R Pg :RLLOW INTERRUPTS
BEE Tg :DELAY FOR NPR
HLT ! :NO INTERRUPT OCCURED, ERRJR
ST J0HSCR s VERIFY THAT TRANSMITYER

:DONE IS SET
BM] 33
HLT 2 : TRANSMITTER DONE NOT SET, ERROR
EEE ggnsnn :WAS BAR BIT CLEARED FOR LINE &
CLR RS - (RG)=EXPECTED DATA IN

:BUFFER ACTIVE REGISTER, 0
MOV 2DMBAR, RY4 : (R4)=ACTUAL CONTENTS OF

:BUFFER ACTIVE REGISTER
HLT 0 :BUS ACTIVE BIT NOT CLEARED, ERROR
CMP cé.aonsn :WARS BUS ADDRESS INCREMENTED

5
MOV 3DHBA, RY : \R4)=ACTUAL CONTENTS
;pgngug ACDRESS MEMORY FOR
MOV #1.RS : (RS)=EXPECTED VALUE CF
:BUS ADCRESS ME*ORY FOR
LINE Y, ]
HLT 3 :BUS RDORESS NOT UPDATED
:CORRECTLY, ERRCR
75T 2DHBC :DID BYTE COUNT CECREMENT TO 2

BEQ 63
MOV J0HBC , R4 - (R4)=RCTUAL VALUE OF BYTE
:COUNT FOR LINE Y4
CLR RS : (RS)=EXPECTED VALUE OF BYTE
:COUNT FOR LINE 4, 0
HLT Y BYTE COUNT DID NOT DECREMENT T2 0, ERRJR
MOV DHRLVL , 3DHRVEC ;RESTORE' TRAPCATCHER
CLR SDHRLVL
MOV DHTLVL, aDHTVEC
CLR ADHTLVL
MOV #STACK, 5P :RESTORE STACK
SCOPE :CHECK FOR ITERATIONS, LOOP

;NPR LOGIC TEST

;SET BYTE COUNT TO 1 FOR LINE S

;SET BAR BIT FOR LINE S

;DELAY FOR NPR

; VERIFY THRT BAR BIT FOR LINE S CLERRS
; VERIFY THAT TRANSMITTER DONE IS SET

MOV 340, PS :DISRBLE ALL INTERRUPTS
MOV 20, YCOUNT :SET UP FCR 20 ITERRTIONS
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1542

00:4;4
884§IS

0ME 14
gousaz
004530
OC4S35
CO4SHY
00455C

0Q4556
Qo455+
024570
004572
£O4S™Y
Qo4S7e

004602
004604
0C4606
0CYB1e
004614

CO4ELS

004622
CO4624
004632
004634

00464C

004644

004546
0O4ESS
004654

J04680

Qo4BE2
004664
004672
Q04676
004704
004710
004714

Ny oy sy
& vy JC‘

12767
Q1a7rre

Qo8Te7

012777
£12777
g1er7?
012777
0i27CC

912777

JX52777

100401
104002
00s777
001404
00500s

017704

184G00
822777
001435
817704

012705

104203

805777
0o1416
017704

Q0500s

1 04004
016777
Q05077
016777
005077
012706
104400

16-MRR-78  09:17

004710
80400
10S5C
0C4S76
000340
00020S
177777
001000
00CCHo

020000
173206

010554
010558

01C548

giajuialn}}
010524

003001

010S1M
010sCe

010S12
010504
010504
010476
017102

010532

010s06
010500

1%:

3%:

48

S%:

88

FRGE 34

HUY
iR

MOV
MOV

MOV

HLT

TST
BEQ
MOV

CLR

HLT
MOV
CLR
MOV
CLR
MOV
SCOPE

HO3

'S§‘§SCQBESCR
]

PC.CL&AS

2%, JDHTVEC
#340, JOHTLVL
85, 2DRSCR

-1 J0HBC
#1000, R0

$40, JCHSAR
#BIT13, DHSCR
PS

RC
13

1

JDHSCR

39

2

aDHBRR

43

RS
JCHBAR, RY

J
#1.ad0HBR
5§
JDHBR, RY4

81 .RS

3

aDHBC

63

JOHBC R4
RS

Y
CHRLVL ,dCHRVEC [ RESTORE
JDHRLVL

JOHTVEC

#STACK, SP

;NPR LOGIC TEST

sSET BYTE COUNT TO 1 FOR LINE &
:SET BAR BIT FOR LINE &

:DELAY FOR NPR

; VERIFY THAT BAR BIT FOR LINE & CLEARRS

:SET UP TO ESCAPE TO NEXT TEST
: [S9UE MASTER CLEER

:CCEAR ALL Bus ADCRESS

:AND BYTE COUNT MEMORY LOCATICHS
:SET UP TRANSMITTER

t INTERRUPT VECTOR

:SE_ECT LINE §

:EET BYTE COUNT TO |

:E§LEBQR BIT FOR

:SET TRANSMITTER INTERRUPT ENRBLE
ALLOW INTERRUPTS

:DELAY FOR NPR

:NO INTERRUPT OCCURED, ERROR
:VERIFT THAT TRANSMITIER

:DONE IS SET

; TRANSMITTER CONE NOT SET, ERRCR

:WAS BAR'BIT CLEARED FOR LINE 5

: (RS)=EXPECTED DATA IN
:BUFFER ACTIVE REGISTER
: (R4)=RCTUAL CONTENTS Of
:BUFFER ACTIVE REGISTER
:BUS ACTIVE BIT NOT CLERRED, ERRGR
:WAS BUS RDDRESS INCREMENTED

« (R4)=ACTUAL CONTENTS
;EENEUE ADDRESS MEMORY FOR
: \RG)=EXPECTED VALUE OF
:BUS ADDRESS MEMORY FOR
:LINE S, I

:BUS ADORESS NOT LPORTED
:CORRECTLY, ERROR

:DIC BYTE COUNT DECREMENT TO O

: (R4)=ACTUAL VALUE OF BYTE

:COUNT FOR LINE &

: (RS}=EXPECTED VALUE OF BYTE

COUNT FOR LINE S, O

‘BYTE CCUNY DID NOT DECREMENT TO 0, ERROR
TRAPCATCHER

0

;RESTORE STACK
; CHECK FOR ITERATIONS, LOOP
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004716

Bz5a
004740
C047THE

004752
004760
004766
004774
005222
0CS006

00S014
QJscaz2

005032
005034

00S040
JJs042

905054

005060
005062
80s0870
80072

905976

0rsi0e

00Si04
00sSii0
ogsile

005116

005120
Q0Size
005130
00S134
00S142
005146
005152

012767
Bissks
C12777
60476

812777
012777
01277

er7s

005777

10040}
109002
00577

001404
605005

017704

104000
022777
001405
017704

012705

104003

205777
001416
017704

005C05

104004
016777
005077
016777
00S977
012706
104400

16-MAR-76 09:17

000340

BRe%eE

004000
010312

005034

1777727
001000
0030100

023002
172750

910316
010322

010310

000021
010cks

0000cC!

010236
C1025C

Bifies
010410
010424
010423
g103s2
010364
g103%4

010334

C10274

010250
010242

18

cs:

35:

c%:

63:

PRGE 35

103

:VERIFY THAT TRANSMITTER DONE 1S SET
173052 Tle: MOV

H8V
MOV
MoV
JSR

MV
MOV

HLT

TST
BEG
MOV

CLR

HLT
MOV
CLR
MOV
CLR
MOV
SCOPE

8340, PS

icl, H
2. 40T
sB1111, 30HSCR
PC,CLEAR

28, DHTVEC
8340, JDHTLVL
86, aDHSCR

s-1 JDHBC
£1000,R0
8100, 3CHBAR
861713, IDHSCR
PS

RO
1§

1

JCHSCR

KL

2

JDHBAR

4§

RS
JDHBAR, R4

g
8i.J0HBA
S$
JCHBR,RY

#1.RS

3

JDHBC

6%

dCHBC R4
RS

4
DHRLVL , JDHRVEC
v{

aDHRL
DHTLVL , aDHTVEC
JDHTLVL
¥STACK, SP

;NPR LOGIC TEST

;DISABLE ALL INTERRUPTS

:SET UP EQR ERATION

i} Up TRREER.AIECRTIONG 1roy

: ISSUE MASTER CLEAR

:CLERR ALL BUS ADDRESS

:AND BYTE COUNT MEMORY LOCATIONS
'GET UP TRANSMITTER

' INTERRUPT VECTOR

:SELECT LINE 6

:SET BYTE COUNT TC |

:SET _BAR BIT FOR
sLINE &

:SET TRANSMITTER INTERRUPT ENABLE
:ALLOW INTERRUPTS
:DELAY FOR NPR

:NO INTERRUPT OCCURED, ERROR
:VERIFY THRT TRANSMITYER
:DONE IS SET

; TRANSMITTER DONE NOT SET, ERRCR
+WAS BAR BIT CLERRED FOR LINE &

: (R5)=EXPECTED DATA IN
:BUFFER ACTIVE REGISTER, O

s (R4)=ACTUAL CONTENTS OF

:BUFFER ACTIVE REGISTER

:BUS ACTIVE BIT NOT CLEARED, ERRCR
:WAS BUS ADDRESS INCREMENTED

: (R4)=ACTURL CONTENTS
; OF BUS ADDRESS MEMORY FOR

;LINE B
; (RSI=EXPECTED VALUE OF
+BUS_ADDRESS MEMORY FOR

:LINE 6, 1
:B1)S ADDRESS NOT UPDATED
:CORRECTLY, ERROR

;01D BYTE LOUNT DECREMENT T0 0

; (R4)=ACTUAL VALLE OF BYTE

:COUNT FOR LINE 6

s (RS)=EXPECTED VA_UE OF BYTE

: COUNT FOR LINE 6, 0

;BYTE COUNT CI0 NOT DECREMENT TO 0, ERRIR
;RESTORE ' TRAPCATCHER

;RESTORE STACK
; CHECK FOR ITERATIONS, LOCP
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005154

005204
035210

005240
005244

005252
005260
0CSeb4
00S266
g0s270
a0s2re

005276
005300
205302
005306
005310

00s3i12

005316
005320
005326
008330

C0S334

005340

Q0S34e
005346
005330

005354

005356
005360
00E366
005372
203400

052777
005067
005300
00137¢
1C43C1
00S777

100401
104002
00s?777
001404
005005

017704

104000
022777

017704

012705

104003

005777
001416
017704

005005

104004
016777
005077
016777
00s077
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000240
000020
005404
004009
010054

005272
000340
002007

177777

021000
000200

023000
172512

010080
010062

0133%2

003201
010030

000031

010020
01001e

016
010
010
002

010036

gice1e
010C0o4

PAGE 36

~.

18:

2%:

3%:

4$:

C§:

JO3

:9ET BYTE COUNT TO ! FOR LINE 7

:SET BAR BIT FOR LINE 7

:DELRY FOR NPR
: VERIFY THAT BAR BIT FOR LINE 7 CLEARS
:VERIFY THAT TRANSMITTER DONE IS SET

MOV
MOV
o\
Mov
JSR

MOV
MOV
MOV
MOV
MOV
MOV

HLT

TST
BEG
MOV

CLR

HLT
MOV
CLR
MOV
CLR

#8340, PS

%20, JCOUNT
6§ ESCAPE
#8111, JDHSCR
PC,CLEAR

2%, JDHTVEC
#2340, JOHTLVL
17 JDHSCR

s-], JDHBC
21000, R0
3200, JDHBAR
#B8IT13, ADHSCR
PS

RO
1%

1

JCHSCR

38

e

JOHBAR

4§

RS
JDHBAR, R4

0
¥1.JDHBA
S§
JDHBA, R4

#1.RS

3

DHBC

X
aDHBC, R4
RS

Y
DHRLVL , JDHRVEC
SDHRLVL

DHTLVL , JDHTVEC
JDHTLVL

:DISABLE ALL INTERRUPTS
;SET UP FOR 20 ITERATIONS

:SET UP TO ESCAPE 10 NEXT TEST

: ISSUE MASTER CLEAR

:CLEAR ALL BUS ADDPESS

}AND BYTE COUNT M.JRY LCCATIONS
1SET_UP TRANSMITTER

: INTERRUPT VECTCR

}SELECT LINE 7

:SET BYTE COUNT T0 1

;SET BAR BIT FOR
sLINE 7

;SET TRANSMITTER INTERRUPT ENABLE
;ALLOW INTERRUPTS
;DELAY FOR NPR

sNO_ INTERRUPT OCCURED, ERROR
:VERIFY THAT TRANSMITYER
:DONE 15 SET

: TRANSMITTER DONE NOT SET, ERRCR
:WAS Bmr BIT CLEARED FOR LINE 7

: (RS)=EXPECTED DATA IN
:BUFFER RCTIVE REGISTER, 0

: (RY)=ACTUAL CONTENTS OF

:BUFFER ACTIVE REGISTER

:BUS ACTIVE BIT NOT CLEARED, ERROR
‘WAS BUS ADDRESS INCREMENTED

: (R4)=RCTURL CONTENTS
;E;NEU§ RDDRESS MEMORY FOR

' (

: (RGI=EXPECTED VALUE OF

'BUS ADDRESS MEMORY FOR

:LINE 7, I

:BUS ADORESS NOT LPDATED
:CORRECTLY, ERROR

:DID BYTE COUNT DECREMENT TO O

. (R4)=ACTUAL VALUE OF BYTE

:COUNT FOR LINE 7

: (RG)=EXPECTED VALUE OF BYTE

:COUNT FOR LINE 7, O

:BYTE COUNT DI0 NOT DECREMENT TC O, ERROR
- RESTORE  TRAPCATCHER
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DZDHCB. PFC
17.0 0OSHO4 {12706 017102 6: MOV WSTACK,SP :RESTORE STACK
1711 O0S4I0 10W00 SCOPE ;CHECK. FOR ITERATIONS, LOOP
1713 :NPR LOGIC TEST
1714 :SET BYTE COUNT TO_1 FOR LINE 10
1715 :3ET BAaR BIT FOR LINE 10
1716 :DELAY FOR NPR
1717 'VERIFY THAT BAR BIT FOR LINE 10 CLEARS
1738 :VERIFY THAT TRANSMITTER CONE IS SET
{
1720 00S412 012767 000340 172356 T20: MOV #340,PS ;DISABLE ALL INTERRUPTS
1721 005420 212767 000020 007776 MOV %20, 1COUNT ;SET UP FOR 20 ITERATIONS
1722 005426 012767 005642 007764 MOV %8S, ESCAPE 1SET UP TO ESCAPE 70 NEXT TEST
1723 005434 Olar77 004000 007714 MOv  #BI}I1 aDHSCR : TSSUE MASTER CLEAR
1724 005442 004767 007616 JSR  PC,CLEAR ;CLEAR ALL BUS ADDRESS
1725 'GND BYTE COUNT MENORY LOCATIONS
1726 005446 012777 005530 007730 MOV 2%, ADHTVEC :SET_UP TRANSMITTER
1727 0OS4SY Q12777 000340 007724 MOV %340, SDHTLVL : INTERRUPT VECTOR
1728 005462 012777 000010 DO7EEE MOV %10, J0HSCR :SELECT LINE 10
1789 005470 012777 177777 007670 MOV #-1.a0HBC :SET BYTE COUNT TO 1
1730 005476 012700 001000 MOv  #1000,R0
1731 00550z 012777 000400 007660 MOV 400, JDHBAR ;SET BAR BIT FOR
1733 Q0S510 052777 020000 007640 BIS  #BIT13,3DHSCR 'SET_TPANSMITTER INTERRUPT ENABLE
1739 005516 0QSOB? 172259 CLR  PS 'ALLOW INTERRUPTS
1735 J05522 (005300 1§:  DEC RO :DELAY FOR NPR
1736 005524 001376 BNE 1S
1737 003556 10400) HLT ] :NO_INTERRUPT OCCURED, ERROR
1738 003530 005777 007622 2§:  TST  JDHSCR 'VERIFY THAT TRANSMITTER
1739 :DOHE IS SET
1740 0OS534  100M0] BMI 3%
1741 0CS53p 104002 HLT 2 ; TRANSMITTER DONE NOT SET, ERROR
1742 0OSSWO 005777 007624 3%:  T1ST  JDHBAR :WAS BAR'BIT CLEARED FOR LINE 1C
1743 DOSSY4 001404 BEG  MS
1749 0OS54e 00SG0S CLR RS ; (RS)=EXPECTED DATA_IN
1745 :BUFFER ACTIVE REGISTER, O
1746 00SSS0 017704 007614 MOV 3DHBRAR,RM : (R4)=ACTUAL CONTENTS OF
1747 *BUFFER_ACTIVE REGISTER
1748 025554 104000 ) LT O ;BUS ACTIVE BIT NOT CLEARED. ERRCR
1743 005556 022777 D0OCOCL 007600 48:  CMP  #1,3DHBA 'WAS BUS ADDRESS INCREMENTED
1750 0OSSEM 00! 405 BEG 53§
1751 OC°Bep 017704 007572 MOV  aDHBA,RY ; (R4)=ACTUAL CONTE™TS
1752 :OF BUS ADDRESS MEMORY FOR
1763 ;LINE 10
1758 00SS72 0:2705 000OCL MOV #1,RS : (RS)=EXPECTED VALUE OF
1755 :BUS_ADDRESS MEMORY FOR
178 - :LINE 10, 1
1757 005576 104003 HLT 3 :BUS_ADDRESS NOT UPDATED
1758 : CORRECTLY , ERROR
17569 00SE00 005777 007562 €§:  TST  gDHBC :DID BYTE COUNT DECREMENT 70 O
1760 0OSBCY 001416 BEQG &S
1761 00560e 017704 007554 MOV  2DHBC,RY : (R4)=ACTUAL VALUE OF BYTE
1762 :COUNT FOR LINE IO
1763 005612 005005 CLR RS : (RS)=EXPECTED VALUE OF BYTE

1784 ;COUNT FOR LINE 10, O
1765 00se14 104004 HLT Y :BYTE COUNT DID NOT DECREMENT TO 0. ERRCR
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005616
00Se24
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It I et et Lt
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005650
005656
Q0Sbe4
005672
1784 005700

1786 00S704
1787 00S71e
1788 005720
1789 Q35726
1790 005734
1791 005740

1793 005746
1794 005754
1795 005760
179 005762
1797 005764
1798 005766

1800 005772
1831 005774
1802 005776
1803 006002
1804 006004

183t (005006

1808 006012
1809 006014
1810 006022
1811 00804
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00e036
00BQ42
00s044
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Q16777

0127306
10440C

012767
012767
012767
012777
004767

012777
012777
012777
012777
012700
012777

052777
005067
G0S300
001376
104001
005777

100401
104002
00s77?
001404
00S00s

017704
104000
022777

00140S
017704

012705

104003

005777
001416
017704

007560

017102

000340
000020
006100
004000
007360
005766
000340

000011
1777277

001030
0o10ce

620000
172016

007364

0073t6

007356

000001
007334

000C3!

007324
007316

007S54
007546

172120
007E40
007526
007456

007472
007466
007430
007432
007422

007402

007342

6%:

Tel:

1%:

2%:

3%:

4%

c¢:
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MOV
CLR
MOV
CLR
MoV

SCOPE

LO3

DHRLVL , 3DHRVEC

JOHRL VL

DHTLVL , aDHTVEC
JDHTLV

LVl
$STACK ., SP

:NPR LOGIC TEST
:SET BYTE COUNT TO 1 FOR LINE {1

;SET BAR BIT FOR LINE I1

:DELAY FOR NPR

; VERIFY THAT BAR BIT FOR LINE 11 CL
: VERIFY THAT TRANSMITTER DONE IS SE
;91

MOV %340, PS
MOV 20, JCOUNT
MOV #6% , ESCAPE
MOV 481111, JDHSCR
ISR PC,CLEAR

MOV 23, JDHTVEC
MOV 340, JDHTLVL
MOV #11, JDHSCR
MOV 8- JDHBC
MOV #1000, R0
MOV #1000, aDHBAR
BIS BIT13, aDHSCR
C R PS

BEL RO

BNE 1§

HLT 1

TST 2DHSCR

BMI 3%

HLT 2

TST JDHBAR

BEQ 4§

CLR RS

MOV JDHBAR, RY
HLT 0

CMP %1, 3DHBA

BEQ c§

MOV 3DHBA, RY

MOV #1,RS

HLT 3

ST JDHBC

BEG 6%

MOV JDHBC, R4

;RESTORE TRAPCATCHER

;RESTORE STACK
:CHECK FOR ITERATICNS, LOGCP

EARS
T

;0ISABLE ALL INTERRUPTS

;SET UP FOR 20 ITERATIONS

:SET UP TO ESCAPE TO NEXT TEST

; ISSUE MRSTER CLEAR

;CLEAR ALL BUS ADDRESS

:AND BYTE COUNT MEMOPY LOCATIONS
:SET UP TRANSMITTER

; INTERRUPT YECTOR

;SELECT LINE 11

;SET BYTE COUNT T0 1

:SET BAR BIT FOR
tLINE 11

:SET TRANSMITTER INTERRUPT ENABLE
:ALLOW INTERRUPTS

:DELAY FOR NPR

;NO_INTERRUPT OCCURED, ERROR
; VERIFY THAT TRANSMITTER
:DONE IS SET

; TRANSMITTER DONE NOT SEV, ERROR
;WAS BAR BIT CLERRED FOR LINE 1l

. (RS)=EXPECTED DATA IN
:BUFFER ACTIVE REGISTER, O

: (RY)=ACTUAL CONTENTS OF

*BUFFER ACTIVE REGISTER

:BUS ACTIVE BIT NOT CLEARED, ERROR
:WAS BUS ADDRESS INCREMENTED

; (R4)=RACTURL CONTENTS
;OF BUS ADDRESS MEMORY FOR
sLINE 11

: (RS)=EXPECTED VALUE OF

:BUS ADDRESS MEMORY FOS

:LINE 11, 1

-BUS ADDRESS NOT UPDATED
CORRECTLY, ERROR

:DID BYTE COUNT DECREMENT TO O

: (R4)=RCTURL VRALUE OF BYTE




<OHC

1822
1823
18e4
1825
1826
1827
1828
1829

MRCYLL 27(732)
DZDHCB.PFC

00e0so

006052
006054
006062
006066
006074
036100
Q06104

005106
006114
Q06122
006130
006136

005142
906150
006156
GOb16Y
006172
008176

006204
ggeele
006216
006220
006222
006224

00tc30
906232
006234
00e240
00e24e

005244
06250
0JeeSe

0G:ze50
00&ebe

00e266

00s272

005005

104004
016777
605077

104400

0la7e7
012767
012767
012777
004767

012777
012777
012777
012777
012790
012777

052777
0050¢e7
0053CC
00137¢
104001
005777

100401
10400e
005777
001404
00sC0os

017704
104000
022777

001405
017704

012705

104003
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007322
007314
007314
007306
017102

00034C
000029
006336
004Co0
007122

00622k
000340
o0agle
177777
001000
002000

020000
171560

007126

007130

007120

000001
00707¢

000001

007316
0C7310

171662
007302
007270
007220

007234
007230
007172
007174
007164

007144

007104

B%:

Te2e:

1%:

c3:

33:

4%

CLR

HLT
MOV
CLR
MoV
CLR
MOV
SCOPE

MO3

RS

Y
DHRLVL , 2DHRVEC
SDHRLVL

DHTLVL , 3DHTVEC
ADHTLYL
#STACK , SP

:NPR LOGIC TEST
+SET BYTE COUNT TO 1 OR LINE 12

;SET BAR BIT FOR LINE 12

:DELAY FOR NPR
; VERIFY THRT BAR BIT FOR LINE 12 CLEARS
: VERIFY THAT TRANSMITTER DONE IS SET

MOV
MOV
MOV -
MoV
JSR

Mev
MOV
MoV

MOV

HLT

%340, PS
20, 1COUNT
6% ESCAPE

#8111, JDHSCR
PC,CLEAR

#2$, JDHTVEC
£340, IDHTLVL
212, JDHSCR
#-1 JOHBC
#1000, R0
#2000, aDHBAR
$B81T13, ADHSCR
PS

RO
1%

1

JDHSCR
3%

2

JDHBAR

4§

RS
JDHBAR, RY

0
#1,30HBA
5%
JDHBAR, RY

$1,RS

3

:COUNT FOR LINE {1

: (RS)=EXPECTED VALUE OF BYTE

:COUNT FOR LINE 11, O i

:BY"E COUNT DID NOt DECREMENT 17 0, ERROR
-RESTORE TRAPCATCHER

;RESTORE STACK
: CHECK FOR ITERARTIONS, LOCP

;OISABLE ALL INTERRUPTS

;SET UP FOR 20 ITERATIONS

:SET UP TO ESCAPE TO NEXT TEST

; ISSUE MASTER CLEARR

;CLERAR ALL BUS ADDRESS

;AND BYTE COUNT MEMORY LCCATICNS
;SET _UP TRANSMITTER

; INTERRUPT VECTOR

;SELECT LINE 12

;SET BYTE COUNT TO 1

:SET BAR BIT FOR

;LINE 12

:SET TRANSMITTER INTERRUPT ENRBLE
sALLOW INTERRUPTS

:DELAY FOR NPR

sNO INTERRUPT OCCURED, ERRCR
'VERIFY THAT TRANSMITIER
:DONE IS SET

; TRANSMITTER DONE NOT SET, ERROR
:WAS BRR BIT CLEARED FOR LINE 12

: (RS5)=EXPECTED DATA IN
:BUFFER ACTIVE REGISTER, J

: (RY)=ACTUAL CONTENTS OF

:BUFFER ACTIVE REGISTER

:BUS ACTIVE BIT NOT CLEARED, ERROR
:WAS BUS ADDRESS INCREMENTED

s (R4)=ACTUAL CONTENTS

:OF BUS ADDRESS MEMORY FOR
:LINE 12

: (RS)=EXPECTED VALUE OF
:BUS ADDRESS MEMORY FOR
LINE 12, 1

:BUS ADDRESS NOT UPDRTED
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1878
1879
1880
1881
1882
1883
1884
1885
1886
1897

13908
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DD O DNOO0 D000
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OUWNITTNI LW O

MACY1l 271732)

DZDHCB.PFC

QCeery
005300
006302

008306

006310
0063i2
006320
006324
006332
006336
006342

006344
00s352
C0S360
006366
006374

006400
006406
006414
006422
006430
006434

006442
g064s0
006454
008456
006460
GOb46e

00B4EE
006470
00B472
00E47E
006500

00esS0e

006506
006510
00eS16
00es20

C0s0es

104004
Q16777
008077
016777
J08077
012706
104400

012767
C127E7
012767
012777
004767

012777
012777
012777
012777
012700
012777

052777
005067
005200
001376
104001
005777

100401
104002
005?777
001404
00s00S

017704

104000
022777
00140S
017704

16-MAR-76 09:17

00706E
007060

007064
007056
(C7056
€J7050
017102

000340
000020
006574
004000
00ebbH

00e4&2
000340
00CG13
1777277
001300
004000

020000
171322

006673

00es72

00eeb2

000001
00ee4d

007080
007082

171424
007044
007032
Co6762

006776
006772
006734
006736
006726

006706

00ek46

cs:

B%:

T23:

1%:

ce:

3%:

H§:

PAGE 40

TST
BEQ
MOV

CLR

HLT
MOV
CLR
MoV
CLR
MOV
SCUPE

NO3

aDHBC
6$
a0HBC, RY
RS

Y
DHRLVL , 2DHRVEC
ADHRLVL

DHTLYL, aDHTVEC
ADHTLVL
$STACK, SP

;NPR LOGIC TEST
:SET BYTE COUNT TO 1 FOR LINE 13

:SET BAR BIT FOR LINE 13

:DELAY FOR NPR
'VERIFY THAT BAR BIT FOR LINE 13 CLEARS
:VER(FY THAT TRANSMITTER DONE IS SET

MOV
MOV
MOV
MOV
JSR

MoV
MoV

MOV

#340, PS
20, 1COUNT
#6$ ESCAPE
#8111, JDHSCR
PC,CLEAR

2%, IDHTVEC
340, aDHTLVL
#13, JDHSCR
$-1 J0HBC
#1000, RO
#4000, JDHBAR

;BIT13,BDHSCR

JDHBAR
43

RS
JDHBAR, R4

0
&1,30HBA
53
JDHBA, R4

- CORRECTLY, ERROR
:DID BYTE LOUNT DECREMENT TO O

; (R4)=ACTURL VALUE OF BYTE

;COUNT FOR LINE 12

: (RS)=EXPECTED VALLF OF BYTE

:COUNT FOR LINE 12, O

;BYTE COUNT DID NOt DECREMENT TO 0, ERROR
; RESTORE TRAPCRTCHER

:RESTORE STACK
; CHECK FOR ITERATIONS, LOOP

;DISARBLE ALL INTERRUPTS

;SET UP FOR 20 ITERATIONS

;SET UP TO _ESCAPE TO NEXT TEST

; ISSUE MASTER CLEARR

;CLERR ALL BUS ADDRESS

;AND BYTE COUNT MEMORY LOCARTIQONS
;SET UP TRANSMITTER

: INTERRUPT VECTOR

LSELECT LINE 13

; SET BYTE COUNT TO !

:SET _BARR BIT FOR

:LINE 13

:SET TRANSMITTER INTERRUPT ENRBLE
tALLOW INTERRUPTS

:DELAY FOR NPR

:NO INTERRUPT OCCURED, ERROR
'VERIFY THAT TRANSMITTER
;OONE IS SE-

; TRANSMITTER DONE NOT SET, ERROR
;WAS BAR BIT CLEARED FOR LINE 13

« (RS)=Ex~ECTED DATA IN
:BUFFER ACTIVE REGISTER, 0

: (R4)=ACTUAL CONTENTS OF

:BUFFER ACTIVE REGISTER

:BUS ACTIVE BIT NOT CLEARED, ERROR
RS BUS ADDRESS INCREMENTED

: (R4)=ACTUAL CONTENTS
:OF BUS ADORESS MEMORY FOR
;LINE 13
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020340
810
004000
CCe4es
goe720
000340
CCDO;
001000
€10000

32CC23
171584

0Cew32
006434

00e424

cgecti

00622
OCtblw

6s:

PRaE 4!
MoV s1,RS
T 3
gs: TST JoRBC
SEd Y 1
M3y SCHBC . RM
LR RS
3y DHRLVL JDHRVEC
o aCHRL T
MOV DHTLVL oLHTWEC
LR SonTLvL
MOV aSTACK, 5P
SCOPE
NPR LOGIC TEST
SET BYTE COUNT 01 FR !
BRR BI FOR LINE N
DELRV
< VERIFY THQY BRR BIT £IF
:VERIFY THAT TRANSMITTES
TE4: MOY 8249, PS
Ry 820, YcounT
MoV IES‘E: &FE
MoV 88111, &CHSCR
ISR Fv.wLEHR
MOV 828 . JD=TVES
MOV 8340, SOMTLVL
MOV 814, 3DHSSR
MCV 8-1 JOMBC
MOV l'”éU RG
Mo¥ 3 , SUHBAR
BIS 8BIT13,30HSCR
CLR PS
§ DEC RO
BNE 18
.Y !
cs: 187 oDHSCR
BM1 38
HLY g
38: ST DHBAR
BEQ 4$
CLR RS
MOV SUHENR, RY
HLY 0
48 CMP 81, 2CHBR

BO4

sWAS BAR'BIT CLEARED FCR LI

YPECTED VALJE °F
RESS MEMORY £3F

ﬁzsa NOT UFDATED
LY, ESRCR
TE ACNT CECREMENT T35 2

—4OIO

:RE; EXP c#%o VA LUE_CF S/TE
.ccunr FOR LIME .

; :BYTE S3UNT CID wc? ce.ssw- NTOTL L
:GESTCRE  TRAPCATLHER

(RESTCRE STACK
s CHECK SOE ’ERATI.NS. B

L

E

:0ISRBLE ALL INTERR_PTS

:SET UP FOR 20 ITERATICNS -
:SET LP T2 ESCAPE T2 MEXT 7
SSLE MASTER 2LERR” .
(LERR mel BUS RODRESS

:wND BYTE COUNT MEMORY _JCRTIMNS
‘ET P T?QNCﬁI'TEQ

:INTEQRUFT VECTO

:SELECT LINE 14

:SET BYTE o3UNT TC 1

SE;EB;: 3IT FOR

:SET TRANSMITTER INTERRLPT EMAB.E
AL OW INTERRUOTS

:DELAY FCR NPR

:NO INTERRUPT 22 URED, ERSOR

*VERIFY THAT TRANGMITIER

:DONE 1S SET

- TRANSMITTER DINE NOT SE™. ERRIR
NE 194

< RS)=EXPECTED DnTR IN

:BUFFER ACT

.tRHl-RC

r=4.
S <C
MMM
o 1]
M
6)
]
—‘

TER
T NOT SLERRED, ERROR
SS 'N\REHEN'E*

L O )

‘0

e - - c————— o ——
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06M02

gcaCl

DOC340

609258

0043
<06,

007156
3R3A10
?f??:'?
001000
820030

198638

006174

006176

008364
235356

170730

£26302
G8627€
20E34G
005242

0Ct23¢
0dg2le

co4

PRGE 42
Btd g$
MOV 304BR, R4 s (R4 =RCTURL CONTENTS
‘EF sqnoonsss MEMCRY FOR
MOV 8] RS Et£5)=éXPECTED YRLUE OF
:ngenogness MEMCR. FCR
MLT 3 ;Eus nﬁohzés NOT UPDATED
:COR CTEY ERROR
cs: 5;_5’3 ggnac :010 BYTE LCUNT DECREMENT T2 2
MOV S0HBC . RY : (R4I=ACTURL VALUE OF SYTE
:COUNT FOR LINE [4
CLR RS : RS)=EXPECTED VALLE OF BYTE
:COUNT FCR LINE 14, O
MY 4 :BYTE COUNT CID Not DECREMENT T2 0. ZRs.R
MOV DHRLVL , 3CHRVEC  ;RESTORE  TRAPCATCHER
LR SOHRLV
MOV DHTLVL, 3DRTVEL
CLR agnrkvt .
g¢: MOV $STATK, SP :RESTORE S™is
SCOPE :JHECK FZR ITERATIING. L2OP
:NPR LOGIC TEST
;SET SYTE COUNT T0 1 FOR LINE 1S
:SET BAR BIT FOR LINE IS
:DELAY FOR NPR
:VERIFY THAT BAR BIT FOR LINE 15 >_EARS
:VERIFY THAT TRANSMITTER CONE IS SET
TES: MOV 8340, PS :0ISRBLE ALL INTERRUPTS
MoV 20, 1SounT ;SET UP FOR 20 ITERATISNG _
MOV 868’ ESCACE :SET UP T ESCAFE TC NEX® TES™
MOV 881111, 2DHSCR :]SSUE MASTER CLEAP_
ISR PC,CLERR :CLEAR ALL BUS RDCRZSS
:AND BYTE COUNT MEMORY _JCATIONS
MOV 828, DHTVEC :GEY P TRANSMITTER
MOV 349, QOHTLVL : INTERRUPT VECTOR
MOy 815 . JOHSCR :SELECT LINE IS
MV -1, 20HBS :SET SYTE COUNT T0 1
MCV ¢1000.]0
MOV s200G0, JOH3AR ‘§§§£B?§ BIT FCR
gza 881713, 20HSCR :SET rnaugnarrsn INTERRUPT ENABLE
b PS +RLLOW INTERRUPTS
1§: gsc TE :DELAY FOR NPR
HL 1 g +NO INTERRUPT OCCURED, ERRCR
2s: TET SOHSCR - :VERIEY THAT TRANSMITYER
:DONE IS SET
BM] 33
HLT 2 s TRANSMITTER DONE NOT SET. ERROR
33: EEB agnsnn WAS BAR'BIT CLEARED FOR LINE 1S
CLR RS : \RS)=EXPECTED DATA IN

:BLFFER RCTIVE REGISTER, 2




f e ——— - .

ot

MeCYll

DDHCB.PFC

a%4e

00717%

BR-E8
2-81e
0a7223
0oreM

?228
hprky]

Q0727

ﬁg"?ﬂh

007414

007+20
007422

2773

v} g

A3aem
e

c127Cs

104003

10443“

100401
1040C2

6-MRR-TH 08:17 PRGE 43

006166

002001
006 144

030001

006134
0Celehd

006132
go6led
goblau
Q3elib
g171z2

CCO34Q
003320

007414
00C340
000016
177777
001000
040300

620000
170370

005736

0CelS2 uS:

£s:

0oeles
036120
ES:

170872 Tz26:

0CS774
005754
18:

es:

MOV

HLT
CMP
BEG
MCV

MoV

MLT

157
BEJ
MOV

LR

HLT
MOV
CLR
MoV
CLR
MOV
SCOPE

DO4

JDHBAR , R4

n
8l,JDHBA
3
JOHBR, R4

8l,RS

3

J0HBC

ES

JLHBC, R4

RS

g
CHRLVL , dDHRVES
J0HRLVL

DHTLVL, @DHTVEC

ADHTLVL
8STRCK,SP

:NPR LCaIC TEST

:SET BYTE CCUNT TC |
:SET BAR BIT FOR LINE 16

:DE_AY FOR NPR

*VERIFY THAT BAR BIT FOR
:VERIFY THAT TRANSMITTER
MOV 8340, PS
MGV 820, 1ccunr
MOV 868 ESCAPE
MOV 881111, QDHSCR
TSR PC,CLEAR
MOV 828, JDHTVES
MOV 8340, aDHTLVL
MOV 216, JDHSCR
MOV s-1 JOHBC
MOV sxuﬁo RO
MOV 40008, 3DHBAR
BIS 881713, 2CHSCR
CLR PS
BEC RO
8NE 13
HLT 1
ST J0HSCR
BM] 33
HLT 2

FOR LINE 1B

: ISSUE

: RY)I=ACTUAL CONTENTS OF

:SUFFER_ACTIVE REG.S
;BUS ACTIVE BIT NC

TER
cLEARELD

!WAS BUS ACORESS INCREMENTER

: (RY)=RCTUAL CONTENTS
JF EUSSQODRESS MEMORY FOR

Ll
LRS)'EXPECTED v

Ut oF

BJS RCDRESS MEMCRY FOUR

.-6

 CORRECTLY. E

JS nooksss NOT UPDATED

RROR
,mommcwmommmm
: (R4)=ACTUAL anus OF BYTE

:COUNT FOR LINE 1

: RS =EXPECTED VRLJE CF BYTt

:COUNT 7OR LINE 1

:BYTE COUNT DID NO
:RESTIRE ' TRAPCATCHER

;RESTORE STACK

CLERRS
SET
;DI

n
? DECREMENT

:cHECK FOR ITERATISNS, LO

SABLE ALL _INTERRUPTS

:SET UP FOR 20 ITERATICNS
:8ET UP TO ESCAPE T2 NEXT TEST

NASTER CLERR
:CLERR ALL BUS RDCRESS
+AND BYTE COUNT MEMORY LIOCATICNS

:SET UP TRANSMITTER

,LNTERRUPT VE"OR

{SELECT LINE |

;ALLOW INTERRUPTS
:DELAY FOR NPR

:SET BYTE LOUNT Wi
;SET BAR BIT FCR
:LINE 1B

SET TRANSMITTER INTERRUPT ENRBLE

-NO INTERRUPT OCCURED, ERROR
:VERIFY THAT TRANSMITYER

:DONE 15 SET

EFCLR

: TRANSMITTER DONE NOT SEV, zRRJR

R~CR
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2102 00te2Y  QOSTR? DOSTW 33: ST JDHBRR WOS 4P 21T CLEARED COR LINE 18
2123 gﬁ'ugs oeéwgg 3 qg
4 3~432 0050 CL R ; (RS)=EXPECTED DATA_IN
18 :BUFFER ARCTIVE REGISTER, 0
:58 00T 0ITTOM  £0ST30 MOV 3JDHBAR,RY : (R4)=RCTLAY CCNTENTS 3#
3ix BUFFER ACTIVE REG-STER
2:08 00TYMG 104000 ML T 0 :BJ5 ACTIVE BIT NOT CLEAPEL, ERGCS
§1°3 QRr4y 2°°7 00000: 025714 uS: oNP 8].DHBA :WAS BUS ROCRESS INCREMENTEL
3773 IA7ys 14CS Q 5§
giil J0™Nse D177+ 205706 MOV SDHBA, RY s (R4 =ACTUAL CONTENTS
£:ig ;EENgu§BnooREss MEMORY FCR
Eaad L1
S:14 0oT4Ss 012705 000001 MOV 81,RS : [RG)=EXPECTED VALUE GF
2115 :8US ADORESS MEMORY FOR
gllg . INE 16, i
ST 007462 104003 HLT 2 :BUS_ACDRESS NOT UPDATED
si'g :CORRECTLY, ERROR
2119 0374e4 005777 005676 5%: 15T SDHBC :DID BYTE LOUNT DECREMENT T 2
2120 BC747n pOOJ4le 8EQ 6§
2iel 007472 017708 005670 MOV JDHBC . RY : LR4)=RCTUAL VALUE OF BYTE
2122 R :COUNT FOR LINE 16
szsa 00™476 005005 CLR RS : (RG)=EXPECTED VALUE OF BYTE
124 :COUNT FCR LINE 16, O
2125 Q07500 1C4O0M HLT 4 _ :BYTE COUNT OI0 NOt DECREMENT T3 . ERROR
2ic6 007502 016777 00S674 005670 MOV DHRLVL, 3DHRVE. :RESTORE TRAPCATCHER
2le7 207810 00S077 (09S6eE CLR SCHRLVL
2128 O0D07SI4 O0lg777 OC0DSEEE 005662 MOV DHTLVL , SOHTVEC
2ie9 (07522 00S077 GCSEED CLR  SOWTLVL .
2130 007€56 O0l27oe 017102 BS: MOV 8STACK, SP ;RESTCRE STACK )
g;gé 86532 104400 SCOFE :CHECK SOR ITERATIONS, LCOF
£.33 sNPR LCGIC TEST
3134 :SET BYTE COUNT TO 1 FOR LINE 17
2136 SET BAR BIT FOR LINE 17
5.3 :DELAY FOR NPR
2137 :VERIFY THAT BAR BIT FOR LINE 17 CLEARS
g;gg :VERIFY THAT TRANSMITTER OONE IS SET
2:40 [O7TS34 012767 000340 170234 Te?: MOV 8340, PS :DISRBLE ALL INTERRLPTS
2.41 QC7E42 012767 000020 00Se5M MOV 820, }COUNT :SET UP F2R 20 ITERATIONS
2142 DO°ESA 015767 007764 00SEHE MOV 863 ESCRPE :SET UP TC ESCAPE TO NEXT TEST
2143 507856 012777 004000 005572 MOV 881111, JDHSCR : 1SSUE MASTER CLEAR
2i¥4 007564 004767 005474 JSR PC,CLEAR :CLERR ALL BUS RDDRESS
2145 *AND BYTE COUNT MEMORY LOCATIONS
2146 007570 012777 O0Q07652 0OSE06 MGV 828, SDHTVEC :SET UP TRANSMITTER
2147 007876 012777 000340 008602 MOV £340, SOHTLVL : INTERRUPT VEZTCR
214 007604 012777 000017 0OSSY4 MOV 17, 9OHSCR :SELECT LINE [?
2143 007ei2 012777 177777 0OSS4e MOV s-1  9DHBC :SET BYTE COUNT TO 1
£150 027820 012700 001900 MOV #1007 . RO
g;gé A07624 0:2777 (00000 005536 MOV 180600, JOHBAR :553 a?g BIT FOR
Lao Yl /
2153 007832 052777 020000 0OS516 BIS 8BI713, 3DHSCR :SET TRANSMITTER INTERRUPT ENASLE
2154 007640 00SOe? 170132 CLR PS ALLOW INTERRUPTS
21Ec £O7644 005300 18: DEC RC :DELAY FOR NPR
c18E 007646 001376 BNE 1§
2,57 00760 104001 HLT 1 :NO INTERRUPT OJCURED, ERROR
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2158 00NsS2  J0STTT  00SSOC 28 ST JDHSCR : ;ERIFY THAT TRANSMITTER
3189 T :DONE 1S SET

169 0JreSe 100401 gM1 38
2161 Q0~66] 104002 HT 2 ;TRANSMITTER DONE NGT SET, EFRCR
3153 0TER2 00SF?r 008502 3s: 78T 3DHBAR :1lAS BAR'BIT CLEARED FOR LINE 17
3i63 00TBE6E COINOM BEG 4§
2164 007670 005005 AR RS : (RS)=EXPECTED DATA IN
Z.&S - | :BUFFER ACTIVE REGISTER
2165 007672 017704 0OSHT2 MOV 3DHBAR, RY : (R4)=ACTUAL CONTENTS ot
2167 : :BUFFER ACTIVE REGISTER
c1B8 007676 104000 - HLT 0 :8U5 ACTIVE BIT NOT CLEARED, ERROR
2169 00°700 322777 00000I DOS4S6  HS: CHP 81, 30HBA :WRS BUS RODRESS INCREMENTED
2170 007736 00140S SEQ 5§
211 007710 Cl7704 0OS4SO MOV JDHBA, R4 : \R4)=ACTURL CONTENTS
2172 :CF BUS ADORESS MEMORY FOR
2173 . :LINE 17
2179 03T71v 012705 00000! MOV %i.RS : (RS)=EXPECTED VALUE OF
2175 :BUS aoonsss MEMORY FCR
2176 SLIN
2177 007720 108003 HLT 3 :8(IS noohsss NOT UPDATED
2178 *CORRECTLY, ERROR
2179 007722 00S777 DOS44D cs: ST 2DHBC :DID BYTE Counr DECREMENT TO O
2180 007726 00141 BEQ 6$
2181 097730 017704 005432 MOV dDHBC , RY s (R4)=ACTUAL anuz OF BYTE
2182 :COUNT FOR LINE |
2183 007734 00S00S CLR RS : (RS)=EXPECTED VQLLE OF BYTE
2184 :COUNT FOR LINE 17,
2185 09773 104004 HLT Y :BYTE COUNT DIC NC? nzﬂnsnsnr 70 G. ERRZR
-2186 007740 016777 005436 005432 MOV DHRLVL , 3DHRVEC :RESTORE ' TRAPCATCHER
2187 007746 00S07? 005430 CLR SOHRLVL
2188 007752 0lb-77 0QSW30 0OSHRM MOV DHTLVL ADHTVEC
2189 007768 077 00E43D CLR ACHTLVL
2190 00776 012705 017102 6s: MOV $STACK , SP RESTORE STACK
5%35 CG777C 104400 SCCPE :CHECK FOR ITERATIONS, LO2P
2143 :NPR LOGIC TEST
2134 :SET BYTE COUNT ON ALL LINES 70 1
2195 ,:ET BAR BIT FOR LINE O
2196 VERIFY THAT BYTE COUNT FOR LINE O GOES TO O
2137 *VERIFY THAT BUS ADDRESS FOR LINE O IS INCREMENTED
2138 :VERIFY THAT BYTE COUNTS AND BUS RDDRESSES FOR RLL OTHER LINES
5533 *ARE UNCHANGED .
2201 007772 012767 GCOO340 167776 T30: MOV 340,PS :DISABLE ALL INTERRUPTS
2202 010000 C12767 00CCIO 005416 MOV 10, LCOUNT tSET UP FOR 10 ITERATIONS _ _
2203 010006 012767 O0I0I40 00540 MOV %88 ESCAPE {SET UP TO ESCAPE TQ NEXT TEST
2204 010014 012777 004000 005334 MOV s81%11, JOHSCR :MASTER CLEAR INTERFACE
2205 170 SET ALL TBMT BITS
Ze0b 010022 0047&? 005236 JSR PC,CLEAR tCLERR ALL BYTE COUNT AND
2207 :BUS ADDRESS MEMORY LOCATIONS
£208 0. aogg 004757 00S2EM JSR PC.LOAD SET ALL BYTE COUNT LOCATIONS TO -!
3259 017032 Dl2777 00OCO! 005330 MOY #1 30HBAR :SET BAR BIT FOR LINE O
210 0ICO40 005777 00S312 38 157 JDHSCR ‘WAIT FOR TRANSMITTER DONE
8211 CiJ0+4 100375 BEL 35

c212 01004e 012700 0Cocz0 MOV %20, RO :SET UP T0 CHECK ALL 1& LINES
2213 013052 00077 005333 CLR SOHSCR :START AT LINE 3
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1 :l’??

o0S2™y
8CS268
335254

00Sea4

0050¢e6

005114
00cagz
005142

000020
C05130

177777

Q0Sied
00S11s
C0s104

0000C0

00S160

000001

4S:

g8

£%:

B9:

-4
W
>

48:

GO4

CLR Rl : KEEP TRACK OF LINE NUMSER
MOV #-1,RS : (RS)=EXPECTED BYTE COUNT,
. TF LINE NUMBER NOT = 0
CLR R3 ! (RIV=EXPECTED aus_nooas:s
*IF LINE NUMBER NOT = O
MOV JDHB: ,RY ' (P4)=ACTUAL SYTE mACUNT
MOV SDHBA ' RE : (R5)=RCTUAL BJS ADORESS
ggg ggnsch 80 - IF LINE BEING COMPARRED IS LINE O
CLR RS :EXPECTED BYTE COUNT=d
INC R3 :EXPECTED BUS ACDRESS = 1
CHP RS, RY 1S BYTE COUNT CCRRECT
SEQ 3
HUT 4 :8YTE COUNT ERRCR
ggg sg.na :15 BUS ADDRESS CCRPEZT
4
HLT 3 :BUS ADDRESS ERROR
§zg ggasca :PREPARE TO CHECK NEXT LINE
gﬁg 5g :CONTINUE IF ALL NGT DONE
SCOPE :CHECK FOR ITERATIONS, LOOP

;NPP LOGIC TEST

:SET BYTE COUNT ON ALL LINES TO 1

:SET BAR BIT FOR LINE 1

: VERIFY THAT BYTE COUNT FOR LINE 1 GOES TC O
:VERIFY THAT BUS ACCRESS FOR LINE | IS INCREMENTED

:VERIFY THRT BYTE COUNTS AND BUS RDDRESSES FOR ALL OTHER LINES
:ARE UNCHANGED

MOV £340,PS :DISABLE ALL INTERRUPTS
MOV .0, 1COUNT :SET UP FOR 10 ITERATIONS
MV 883, ESCAPE :SET UP TO ESCAPE TO NEXT TEST
MOV #8111, 30HSCR :MASTER CLEAR INTERFACE
70 SET ALL TBMT BITS
ISR PC.CLEAR :CLEAR ALL BYTE COUNT AND
:BUS ADDRESS MEMORY LOCRTIONS
ISR PC,LOAD :SET ALL BYTE COUNT LOCARTICNS TC
MOV 82, 30HBAR :CET SAR BIT FOR LINE |
g;z ggnscn ‘WAIT FOR TRANSMITTER DONE
MOV $20,.R0 :SET UP TO CHECK ALL 1& LINES
CLR aoué :START AT LINE O
LR :KEEP TRACK OF LINE NUMBER
MOV 0-1 RS s (RS)=EXPECTED BYTE COUNT.
:IF LINE NUMBER NOT = |
CLR R3 : (R3)=EXPECTED BLS ADCRESS.
:1F LINE NUMBER NOT = |
MOV J0HBC, R4 : (R4)=ACTUAL BYTE ACOUNT
MOV aDHBR | R2 : (R5)=ACTUAL BUS RDORESS
gng ggﬂsck %] :IF LINE BEING COMPRRED IS LIMNE I
[
CLR RS :EXPECTED BYTE COUNT=0
INC R3 :EXPECTED BLS RDCDRESS =
CMP RS, RY :15 BYTE COUNT CORRECT

-1

&




DOHC

c2v

EEEI
EE;E
cer

ee’H
227s
2276
2?7
g2 8
2279
2280
2281
2c8¢2
c2esl
2284
2285
2286
2c8?
2288
2cB89
:90

MRCYLL

<CHCB.PFC

013264

010366
010372
Cil376
010400

010404

010406
gig412

ar.oTa

001401
104004

00135C
10440C

012767
012767
Q127€7
01777

004767

004767
012777
005777
100375
012700
005077
005001
012705

805022

017704
017702
027727
001002
Q9500s
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020504
001401
104004
020302
0C1401
104003
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005201
005300
001350
104400
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00S0S4

CO4744
600004
004772

00CG20
0047860

1772777

004754
004746
004734

0C4704

167455
035076
005064
0Cs014

005010

000032

PAGE 47
BEQ 6%
HLT 4 :BYTE COUNT ERROR

6$: EEE ;3.92 : 1S BUS ADORFESS CCRPELT

T32:

3%:

43:

58:

£s:

7%:

g8%:

HO4

HLT 3 ;BUS ADDRESS ERROR
sPREPARE TO CHECK NEXT

LINE

INC 1
XC RO ;CONTINUE IF ALL NOT DONE
SCOPE :CHECK FOR ITERATIONS. LOGP

;NPR LOGIC TEST

:SET BYTE COUNT ON ALL LINES T0 1

;SET BAR BIT FCR LINE 2

+VERIFY THAT BYTE COUNT FOR LINE 2 GOES 70 O

;VERIFY THAT BUS ACCRESS FOR LINE 2 IS INCREMENTED

:VERIFY THAT BYTE COUNTS AND BUS ADDRESSES FOR ALL OTHER _INMES

: ARE UNCHANGED

MOV
MOV
MOV
MOV

JSR

JSR
MOV
15T
BPL
MOV

SCOPE

2340, PS

210, YcOUNT
883 ESCAPE
s21t11,a045¢CR

PC,CLEAR
PC,LOAD
4, 9DHBAR
aoﬁscn

can RO
aouécn

!-1 RS
R3
JDHBC . RY

aDHBAR2
JDHSCR, #2

:NPR LOGIC TEST

:DISABLE ALL INTERRUPTS

;SET UP FOR_1C ITERARTIONS

sSET_UP TO ESCAPE TO NEXT TEST
tMASTER CLEAR INTERFACE

:T0 SET ALL TBMT BITS

:CLEAR ALL BYTE COUNT AND

:BUS ADDRESS MEMORY LOCATIONS

:SET ALL BYTE COUNT LOCATIONS TO -!
:SET BAR BIT FOR LINE 2

HAIT FOR TRANSMITTER DONE

;SET UP TO CHECK ALL 1B LINES
:START AT LINE O
:KEEP TRACK OF LINE NUMBER
: (RS)=EXPECTED BYTE COUNT,
:IF_LINE NUMBER NOT = @
: (R3)=EXPECTED BUS_ADDRESS,
:IF LINE _NUMBER NOT = 2
: (R4)=ACTUAL BYTE ACOUNT
; (RS)=RCTUAL BUS ADCRESS

:IF LINE'BEING COMPARED 1S LINE 2

; EXPECTED BYTE COUNT=0
;EXPECTED BUS_ACDRESS =
;IS BYTE COUNT CORRECT

:BYTE COUNT ERROR
; IS BUS ADDRESS CORRECT

;BUS RDDRESS ERROR
sPREPARE TO CHECK NEXT LINE

:CONTINUE IF ALL NOT DONE
:CHECK FOR ITERATIONS, LOOP
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010580
J1C554

313556
010562
G10566
019574
010576

OO0
e b s e

004767

004787
21277

00577
100375
0i2700
00sQ??
QCSC01
012705

CC5aC3

Q177

0i7702
027727
001202
005005
005203
020504
001401
104004
020302
001401
104003
005277
00s201
00530C
00135C
104400
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000340

0042G0
0O454E

CO4S7Y
000013
004622

£aC020
004610

1.’_. -O-)

DO4ECH
CC4576
OC4564

004534

000340
000013
011000
004CO0

167306
004726
0047 14
034644

QC4E4D

00Cazt3

167136
0G4556
004534
004374

733:

38:

49:

T34:

I04

PRGE 48

:9ET BYTE COUNT ON ALL LINES TO |
'SET BAR BIT FOR LINE 3

VERIFY THART SYTE COUNT FOR LINE 3 GOES T0 0
:VERIFY THAT BUS ADDRESS FOR LINE 3 IS INCREMEN
:VERIFY THAT BYTE COUNTS AND BUS ADDRESSES FOR A
1 ARE UNCHANGED

MOV 8340, PS :DISABLE ALL INTERRJPTS
MOV 210, toounT ‘SET UP FOR 10 ITERATIONS
MOV 833, ESCAPE :SET UP TO ESCAPE TO NEXT TEST
MOV 887}11, 3DHSCR 'MASTER CLEAR INTERFACE
:TO SET ALL TBMT BITS
ISR PC, CLEAR :CLEAR ALL BYTE COUNT AND
:BUS ADDRESS MEMORY LOCATICNS
ISR PC,LORD !SET ALL BYTE COUNT LOCATIONS TO -!
MOV 10, JOHSAR :SET BAR BIT FOR LINE 3
ggr SEHQCR :WAIT FOR TRANSMITTER DONE
MOV #20,R0 :SET UP TO CHECK ALL 16 LINES
CLR aonécn :START AT LINE O
2R 'KEEP TRACK OF LINE NUMBER
MOV o-1 RS : (RS)=EXPECTED BYTE COUNT,
:IF LINE NUMBER NOT = 3
LR R3 : (R3)=EXPECTED BUS ADDRESS.
:IF LINE NUMBER NOT = 3
MOV 2DHBC , RY : \RY)=ACTUAL BYTE ACOUNT
MOV 20HBA | R2 : (RS)=ACTLAL BUS ACDRESS
gng SEHSﬁh $3 . 1F LINE BEING COMPARED IS LINE 2
CLR RS : EXPECTEC BYTE COUNT=C
INC R3 :EXPECTED BUS ADORESS =
ggg Eg.nq : IS BYTE COUNT CORRECT
HLT 4 :BYTE COUNT ERROR
528 gg,ne .15 BUS #DDRESS CORRECT
HLT 3 :BUS ADCRESS ERROR
%ﬁ% g?ascn :PREPARE TO CHECK NEXT LINE
gﬁg ﬁg :CINTINUE IF ALL NOT DCNE
SCOPE :CHECK FOR ITERATIONS, LO3P
:NPR LOGIC TEST

'SET SYTE COUNT ON ALL LINES TO 1
;SET BAR BIT FOR LINE 4
:VERIFY THAT SYTE COUNT FOR LINE 4 GQES TO C

ED
LL OTHER _INES

s VERIFY THAT BUS ADDRESS FCR LINE 4 IS INCREMENTED
:VERIFY THAT BYTE COUNTS AND BUS ADDRESSES FOR ALL OTHER _INES

s ARE UNCHANGED

TQ NEXT TEST

MOY 340, PS :DISABLE ALL INTERRUPTS
MOV %10, LCOUNT :SET UP FOR 10 ITERATIONS
MOV %83 ESCAPE :SET UP TO ESCAPE

MOV sBIt11, DHSCR *MASTER CLEGR INTERFACE

:T0 SET ALL TBMT BITS
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010682

013666
010672

J04767

004767
012777
00577

100375
012700
Q0sQ07?
Q05001
012705

05303

017704
017702
027727
001002
005005
005203
020504
001401
104004
020302
0C140]
104303
005277
095201
005300

012787
012767
012787
012777

004767

004767
012777
005777
100375
012700
005077
005001
012705

005003

JOY

PC,CLERR

PC,LORD
220 I0HBAR
ggHécn

820, R0
a0HSCR
R1

8-1,RS

R3
JDHBC, RY
aDHBA’ R2
A0HSCR, #4

RS

;NPR LOGIC TEST
:SET BYTE COUNT ON ALL LINES TO I
:SET BAR BIT FOR LINE §
:VERIFY THAT BYTE COUNT FOR LINE S GOES TO 0

s VERIFY THAT BUS ADCRESS FOR LINE 5 IS INCREMENTED

:VERIFY THAT BYTE COUNTS AND B.5 ADDRESSES FOR aLL OTHER LINES
: ARE UNCHANGED
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0043TH JSR
Q0442 JSR
022020 004473 MOV
008482 38: TST
BPL
000c20 MOV
004443 EFR
-
177727 +3: MOV
CLR
004434 MOV
004426 MOV
004415 000204 CHP
BNE
CLR
INC
c§: CMP
BEQ
HLT
B3: cMP
BEQ
HLT
0043e4 i ¥ INC
INC
REC
BNE
g% SCOFE
000340 166766 T35: MOV
000010 9044706 MCV
011150 004374 MOV
004000 004224 MOV
004226 JSR
004254 JSR
000040 004320 MOV
004302 3%: TST
BPL
000020 MOV
004270 CLR
CLR
177777 4¢: MOV
CLR

$340, PS

%10, FCOUNT
8%, ESCAPE
#3711, IDHSCR

PC,CLEAR
PC, LORD
40 . 3DHBAR
ADHSCR

3%
%20, RO
gouécn

#-1,R5
R3

:CLEGR ALL BYTE COUNT AND

:BUS ADURESS MEMORY LOCATIONS
;SET ALL BYTc COUNT LOCARTIONS “C -1
:SET BAR BIT FOR LINE Y

:WAIT FOR TRANSMITTER DONE

;SET UP TO CHECK ALL 16 LINES
:START AT LINE O
:KEEP TRACK OF LINE NUMBER
(RS)-EXPECTED B/TE COUNT,
; IF_LINE NUMBER NOT = 4
(R3)'EXPEC7ED BUS QDCRESS
:1F LINE NUMBER NOT
: \R4)=ACTUAL BYTE QCOUNT
: (RS)=ACTUAL BUS ADDRESS

:IF LINE'BEING COMPARED IS LINE 4

;EXPECTED BYTE COUNT=C
;EXPECTED BUS RDDRESS =
: IS BYTE CCUNT CORRECT

;BYTE CCUNT ERROR
:1S E_S ADDRESS CORRECT

BUc AJORESS ERROK
:PRFmRE TO CHECK NEXT LINE

:<ONTINUE IF ALL NOT DONE
; CHECK FCR ITERATIONS, LGCOP

;CISABLE ALL INTERRUPTS

:SET UP FOR 10 ITERATICNS

:SET UP TO ESCAPE TO NEXT TEST
:MASTER CLEAR INTERFACE

;TO SET ALL_TBMT BITS

*CLEAR ALL BYTE COUNT AND

;BUS ADDRESS MEMORY LOCATIONS

:SET ALL BYTE COUNT LOCRTIONS TO -1
:SET BAR BIT FOR LINE §

NRIT FOR TRANSMITTER DONE

;SET UP TO CHECK ALL 16 LINES
:START AT LINE O

sKEEP TRACK OF LINE NUMBER

: (RS)=EXPECTED BYTE COUNT,
tIF_LINE NUMBER NOT = S
s \R3V=EXPECTED BUS ADDRESS,
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004214

600340
000010
Cl13e0
004000

004056
004104
003:00
004132

000020
004120

177777

Q04114
004106
004074

166616
CO423E
004224
004154

004150

000006

KO4

PAGE S0
: IF LINE NUMBER NOT = S

MOV 30HBC, RH qu)—QCTunL BYTE ACOUNT
MOV SB g )=A Tunh E S noonsas
gng HSCR, ss JIF LINE BE NG OMPARED IS LINE 5
CLR -EXPECTED BYTE COUNT=0
INC R3 :EXPECTED BUS RCODRESS =

c$: SEE Eg.nw + IS BYTE COUNT CORRECT
HLT ¥ *BYTE COUNT ERROR

63: ggg ;E.RE : 1S BUS ADDRESS CORRECT
HLT 3 +BUS ADDRESS ERROR

7%: §“g g?HSCR *PREPARE TO CHECK NEXT LINE
ggg &g :CONTINUE IF ALL NOT DONE

8s: SCOPE : :CHECK FOR ITERATIONS. LOOP

136:

3%:

4§:

£S:

:NPR LOGIC TEST

:SET BYTE COUNT ON ALL LINES TO |

:SET BAR BIT FOR LINE 6

: VERIFY THAT BYTE COUNT FOR LINE & GOES T0 O

; VERIFY THAT BUS RDDRESS FOR LINE & IS INCREMENTED

s VERIFY THAT BYTE COUNTS AND BUS ADDRESSES FOR ALL OTHER LINES
s ARE UNCHANGED

MOV 340, PS :DISABLE ALL INTERRUPTS
MOV #10. 1COUNT ‘SET UP FOR 10 ITERATIONS
MOV 8%, ESCAPE :SET UP TO ESCAPE TO NEXT TEST
MOV #8111, aDHSCR ‘MASTER CLEAR INTERFACE

:T0 SET ALL TBMT BITS

ISR PC.CLEAR :CLERR ALL BYTE COUNT AND
:BUS ADDRESS MEMCRY LOCATIONS
JSR PC,LOARD :SET ALL BYTE COUNT LOCATIONS T3 -1
MOV 100, aDHBAR :SET BAR BIT FOR LINE b
ggz ngSCR ‘WAIT FOR TRANSMITTER DONE
MOV 20, R0 :SET UP TO CHMECK ALL 16 LINES
CLR JOHSCR :START AT LINE O
CLR R1 *KEEP TRACK OF LINE NUMBER
MOV %-1,RS : (RS)=EXPECTED BYTE COLNT.
:IF LINE NUMBER NOT = &
CLR R3 : (R3)=EXPECTED BUS ADDRESS,
:IF LINE NUMBER NOT = &
MOV 2DHBC, RY : (R4)=ACTUAL BYTE ACOUNT
MOV aDHBA R2 : (R5)=ACTUAL BUS ADDRESS
gnz ggnsch %6 :IF LINE BEING COMPARED IS LINE &
CLR RS :EXPECTED BYTE COUNT=0
INC R3 +EXPECTED BUS ADDRESS =
ggg Eg,nq :1S BYTE COUNT CORRECT
HLT 4 :BYTE COUNT ERROR
ggz ;g,ae :15 BUS ADDRESS CCRRECT




- -
CabMC

DDHCB

2494
2495
2436
2457
o498
2433

MACYLLl 27.732)

PFC

O0000
Popapepopa

011466
011470

104003
005277
005201
0CS300
001350
104400

004767

004767
Q127?27
005777
100375
012700
00SQ77
00SCOol
012705

005003

017704
g17702
027727
001002
00SC0S
00c203
020504
001401
104004
020302
001401
104003
005277
005201
005300
001350
104400

LOY

16-MAR-TS (09:17 PRGE Si
HLT 3 :8US ADCRESS ERROR
304044 7: §ng g?HSCR 'PREPARE TO CHECK NEXT LINE
ggg 5g :CONTINUE IF ALL NCT DONE
8s: SCOPE :CHECK FOR ITERRTICNS, LOOP
:NPR LOGIC TEST
'SET BYTE COUNT ON ALL LINES T0 I
'SET BAR BIT FOR LINE 7
:VERIFY THAT BYTE -OUMT FOR LINE 7 GOES TO O
: VERIFY THAT BUS ADDRESS FOR LINE 7 IS INCREMENTED
:VERIFY THAT BYTE COUNTS AND BLUS RDDRESSES FOR ALL OTHER LINES
:ARE UNCHANGED
000340 18644 T37: MOV $34C, PS :DISABLE ALL INTERRUPTS
0CCO10 00%08k MOV %10, 1COUNT :SET UP FOR 10 ITERATIONS
011470 004054 MOV 83 ESCAPE 'SET UP TO ESCAPE 1O NEXT TEST
004000 00<004 MOV #BIt11, JDHSCR 'MASTER CLEAR INTERFACE
ro SET ALL TBMT BITS
003706 JSR PC.CLEAR :CLEPR ALL BYTE COUNT AND
:BUS ADDRESS MEMORY LOCATIONS
003734 JSR 0AD :SET ALL BYTE COUNT LOCATIONS TQ -!
000200 004000 MOV uaco JDHBAR :SET BAR BIT FOR LINE 7
003762 33: ggl §8H56R :WAIT FOR TRANSMITTER DON:
000c20 MOV ¥20,R0 :SET UP TC CHECK ALL 16 LINES
603750 CLR J0HSCR :START AT LINE O
CLR RI ‘KEEP TRACK OF LINE NUMBER
177777 4§: MOV $-1,RS ; (RS)=EXPECTED BYTE counr
:IF LINE NUMBER NOT =
CLR R3 : (R3)=EXPECTED BUS noonras
:IF LINE NUMBER NOT = 7
003744 MOV 2DHBC, R4 : \R4)=ACTUAL BYTE ACOUNT
003736 MOV aDHBA R2 ; (RS)=ACTUAL BUS ADDRESS_
003724 000007 ggg ngSCﬁ 87 :1F LINE'BEING COMPARED IS LINE 7
CLR RS sEXPECTED BYTE COUNT=0
INC R3 :EXPECTED BUS ADDRESS =
5%: ggz Eg,nq IS BYTE COUNT CORRECT
HLT 4 :BYTE COUNT ERROR
BS: ggz ;g.Ra ;15 BUS ADDRESS CORRECT
HLT 3 -BUS ADDRESS ERROR
003874 7%: %ng g?Hsca :PREPARE TO CHECK NEXT LINE
ggg gg :CONTINUE IF ALL NOT DONE
£s: SCOPE :CHECK FOR ITERATIONS, LOOP

;NPR LOGIC TEST

:SET BYTE COUNT ON ALL LINES T0 1

:SET BAR BIT FOR LINE I

:VERIFY THAT BYTE COUNT FOR LINE 10 GOES TO O
:VERIFY THAT BJS ADDRESS FOR LINE 10 IS INCREMENTED
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2550

25 Biicts
011506

2se3 0

2564 (011545
csbS 011852
cobb 011556
cs67 011580
2568

2373 011575
2574 011604
2575 311606
2576 011610
8577 011612
2578 011614
2573 011616
2580 011620
2561 011622
2582 011624
2583 011626
584 011632
2595 011634
2586 011636
2587 011640
2528
2589
2590
253]
2532
£593
2594
2535
PSag,
2537 0j1642

c604 011676
2805 011702

Bise7
012767
012777

004767

004767
18777
005777
100375
012700
005077
005001
012705

005003
017704

017702
02?727

104400

012767
012767
012767
012777

004767

004767
Q12777

6-MRk-76  09:17

28538 &
011640
CO4C00
0C3536

0C3Se4
00C400
203612

000020
003600

172707

003574
003566
003E54

003524

000340
000010
0i2010
0O4000

0C3366

003414
001000

)
0 3:15
003704
003634

003630

000310

166126
003546
0C3534
003 464

0034&0

T40:

33:

4§ :

S%:

bS:

7%

£9:

T41:

PRGE &2

MO4

: VERIFY THRT BYTE COUNTS AND BUS WDDRESSES FOR ALL JTHER LINES
+ARE UNCHANGED

MOV
MOV
MOV
MOV

JSR

JSR
MOV
TST
BPL
MoV
CLR
CLR
MOV

CLR

340, PS
#10, 1COUNT
#8% . ESCAPE
#3111, JDHSCR

PZ,CLERR
0AD

uqbo JCHBAR

aDHSER

3%

#20,R0

aouécn

a-l RS

R3

2DHBC, R4

JDHBA' R2
aDHSCR, #10

;NPR LOGIC TEST
+SET BYTE COUNT ON ALL LINES TO 1

:SET BAR BIT FOR LINE 1l

;DISABLE ALL INTERPUPTS

:SET UP FCR 13 ITERATIONS

SET UP TO ESCAPE 70 NEXT TEST
:MASTER CLEAR INTERFACE

:T0 SET ALL TBMT BITS

:CLEAR ALL BYTE COUNT AND

:BUS ADDRESS MEMORY LOCATIONS

:SET ALL BYTE COUNT LOCATIONS TQ -1
:SET BAR BIT FOR LINE 10

:WAIT FOR TRANSMITTER DONE

;SET UP TO CHECK ALL 16 LINES
;START AT LINE O
:KEEP TRACK OF LINE NUMBER
; \ARS)=EXPECTED BYTE COUNT,
: IF_LINE NUMBER NOT = IO
: (R3)=EXPECTED BUS RDDRESS
'IF LINE_NUMBER NOT = 10
; (R4)=ACTUAL BYTE ACOUNT
: (RS)=ACTUAL BUS RDDRESS
; IF LINE BEING COMPARED IS LINE 10

;EXPECTED BYTE COUNT=0
;EXPECTED BUS ADDRESS =
;1S BYTE COUNT CORRECT

;BYTE COUNT ERROR
$15 BUS® ADDRESS CORRECT

;BUS ADDRESS ERROR
:PREPARE TO CHECK NEXT LINE

; CONTINUE IF ALL NOT DONE
:CHECK FOR ITERRTIONS, LOOP

:VERIFY THAT BYTE COUNT FOR LINE 11 GOES T0 O

; VERIFY THART BUS ADDRESS FOR LINE 11 IS INCREMENTED

tVERIFY THAT BYTE COUNTS AND BJS RDODRESSES FOR ALL OTHER LINES
; ARE  JNCHANGED

MoV
MOV
MOV
MOV

JSR

JSR
MOV

340, PS
10, ICOUNT
8% ESCAPE
#8111, 2DHSCR

PC,CLEAR

PC,LOAD
1000, 20HBAR

:DISABLE ALL INTERRUPTS

{SET UP FOR 10 ITERATIONS

:SET UP TO ESCAPE TO NEXT TEST
:MASTER CLEAR INTERFACE

;TO SET ALL TBMT BITS

:CLEAR ALL BYTE COUNT AND

:BUS ADDRESS MEMORY LOCATIONS

+SET ALL BYTE COUNT LOCATIONS 70 -!
:SET BAR BIT FOR LINE Il




o e — e

DICHC  MACYIL 27.732) 16-MAR-TE& 09:17 PAGE 53

DZCHCB.PFC
2606 011710 Q05777 003442 33: ST JDHSCR :WAIT FCR TRANSMITTER CONE
2607 011714 10037% BPL 3%
2608 Q11716 012700 £O0002C MOV 220, RO ; gp ?HEPK ALL 16 LINES
2509 811222 005077 003430 CLR anHSCR :START AT
o610 011736 008001 CLR ‘KEEP TRACK OF LINE NUMBER
2611 011730 C127058 177777 4g: MOV c-l RS . \RG)=EXPECTED BYTE COUNT,
2612 *IF LINE NUMBER NOT = 11
2613 011734 005003 CLR R3 : (R3)=EXPECTED BJS nooqsss
2814 +IF LINE NUMBER NOT =
261S 01173t 017704 003424 MOV IDHBC , R4 : (R4)=ACTUAL BYTE ncouur
2616 011742 017702 003416 MOV J0OHBR . R2 : (RS)=ACTUAL BUS ADDRESS
2617 011746 227727 003404 000011 CMP 2DHSCR, #11 IF LINE BEING COMPARED IS LINE 1l
3618 011754 001002 SNE c$
2619 011756 0OS00S CLR RS EXPECTED BYTE COUNT=0
2520 011760 005203 INC R3 :EXPECTED BUS ADDRESS = 1
2621 011762 020504 c§: CMP RS.RY IS BYTE COUNT CORRECT
2622 011764 001401 BEGQ 6§
2623 011766 104004 HLT 4 :BYTE COUNT ERROR
2624 011770 020302 BS: CMP R3.R2 : TS 8US ADDRESS CORRECT
2625 011772 001401 BEQ 7%
2626 GCl1774 104003 HLY 3 :BUS ADDRESS ERROR
2627 011776 005277 003354 7%: INC aDHSCR - PREPARE TO CHECK NEXT LINE
2628 012002 005201 INC R1
2629 012004 005300 DEC RO :CONTINUE IF ALL NOT DONE
2630 012006 00!350 BNE 4§
gggé 312010 104400 eg: SCOPE :CHECK FOR ITERATIONS, LOOP
2633 :NPR LOGIC TEST
2634 :SET BYTE COUNT ON ALL LINES TO .
2635 :SET BAR BIT FOR LINE 12
2636 :VERIFY THAT BYTE counr FOR LINE !2 GOES TO Q
Z£37 VERIFY THAT BUS ADDRESS FOR LINE 12 IS INCREMENTED
2638 :VERIFY THAT BYTE COUNTS AND BUS ADDRESSES FOR ALL OTHER LINES
5?33 :ARE UNCHANGED
2641 012012 012767 000340 165756 TH2: MOV $340,PS DISQBLE ALL INTERRUPTS
2842 (012020 012767 000010 503376 MOV 10, YCOUNT SET UP FOR 10 ITERATIONS
2643 012026 012767 012160 003384 MOV 8% ESCAPE :SET up T0 ESCAPE TO NEXT TEST
2644 012034 012777 004000 003314 MOV #BIt11, aDHSCR :MASTER CLEAR INTERFACE
2645 +TO SET ALL TBMT BITS
2646 012042 004767 003216 JSR PC,CLEAR :CLEAR ALL BYTE COUNT AND
2847 :BUS ADDRESS MEMORY LOCATIONS
2b48 012046 004767 003244 JSR PC,LORD :SET ALL BYTE COUNT LOCATIONS TO -1
2648 012052 012777 002000 003310 MOV #2000, JDHEAR :SET BAR BIT FOR LINE 12
2650 012060 005777 003272 33%: ST JDHSCR :WAIT FOR TRANSMITTER DONE
2661 012064 100375 _ BPL 3%
26S2 012066 012700 000020 MOV $20,R0 SET UP TO CHECK ALL 16 LINES
2663 012072 005077 003260 CLR anuécn :START AT LINE C
2658 012076 005001 CLR Rl :KEEP TRACK OF LINE NUMBER
2666 012100 012708 177777 4$: MOV £-1,RS + (RS)=EXPECTED BYTE COUNT,
2656 :IF LINE NUMBER NOT = 12
2667 012104 005003 CLR R3 : (R3)=EXPECTED BUS RDDRESS.
2658 :IF LINE NUMBER NOT = 12
2689 012106 017704 003254 MOV aDhBC, RY + (R4)=ACTUAL BYTE ACOUNT
2660 012112 017702 003246 MOV aDHBA R2 : (RS)=ACTUAL BUS RDDRESS
266l 01211 027727 003234 000012 CMP JDHSCR, %12 +IF LINE BEING COMPARED IS LINE 12

——
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BOS

oeele MRV 27738 6-YRR-TE 09:17 FRGE SM

vt T
n:2124 301208 5 c
3 Exést Xxinsg i & {EXPECTED BYTE COLM: =0
2te+ 012130 C08333 NG 83 EXPECTED Bus ALORESS =
g3e5 Rifie gedead 5§: P R5,RM 115 B/TE COUNT (ORE
BEE NiBIN ORI BEa 68
o [12l® 14 v G :BYTE COUNT ERRGR
33gg fi21a0 L2032 eS: MNP R3.R2 +3 "B RDRESs orReLT
€3 flenwd G 3E¢ 8
52 EiTud I84nE3 hl 3 18uS_ADDRESS ERROR
2e°1 DiEl4e DCoITF 203a0M s ING HSR :PREPARE S0 CHECK NEX™ LINE
$hi Iigies BpESn) N Sl
f6°3 §12i84 3585 %€l RO ;CONTIMUE IF ALL NOT 20
3tcy £iZiSe Io1aEd SN u§
g5 CiZies TD4833 s:  SIOPE :CHECK FOP ITEwATIONS, LOOP

NPR LCGIC TEST
SET BYTE COUNT CN At LINES T2 1
ER PnR B FOR L

ﬂ'"'ﬂ‘(f'(zg;:f‘mfgfrgh(f‘!l'!f‘!"(rlﬂtl'U'l
’ln- (g-lgff* - ‘(‘I‘U‘ .L,(Jh

2 INE 33

E T 8Y% :eu $°raR <INE 13 GUES ”

2 venzrv THAT BUS ADCRESS FOR LINE 13 1S INCIEMENTED

682 :VERIFY THAT BYTE CJUNTS ANC BLS noonsssss FOR ALL NTHER LINES
g gj QRE UNCHANGED

S538  J12:62 J127eT N0C34D  1BSBOE  T43: "oV 8340, PS :CISABLE ALL INTERRUPTS

2e86 Ci2170 2igTe? 0OCC10 103226 MOV 810, toduNT -SET UP FOR 10 r;nn*zon;
268- J12iTk ClErner czeagg 903214 MOV 8€S ESCAFE :SET P T ESCAPE TC NExT TEST
Ze89 Ji3304 SIZrTr OOWSBE  CO3Iaw M2y aSI¥I1, JDNSCR :MASTER CLEAR zn*snrnus

28 _ 170 SET ALL gnr axr;

3632 21221 DONTET 00304 ISR PC, CLERR tcLEAR ALL BVTE CZUNT anD
SE3; -85 ADDRESS MEMCRY LOCATIONS
DZ3Z  2:22:6 204TB?  DO2CTH ISR PC, L AL ;SET ALL BYTE COUNT LOCATISNG o -2
2292 Cl22zc 012777 0oM0SC n03140 M3v 84030, 3oHBAR ;257 538 BIT FOR LIMNE 13

=59¢ C.233° 0OSTr7 003i22 38: 157 arasch” +WAIT FOR TRANSMITTER JCONE
269c Cigsxy 1003 BPL 38 Cenem
ZesE Oigz3e dlernl ngIges MoV 822,R) ;3E7 WP T3 SHECK ALL 16 LINES
3247 Ri2342 AAEaT7? POB3!IA CLR a“HQ’R :STaRT AT LINE 2

£E3c ClZ24e 00S02! CLR iREEP TRATK_OF LINE MUMBCR

€69 01g9SC 2312708 177777 4s: NI --1 RS : (RSI=EXPEC"ED BYTE CJU."

2525 <TF LINS NUMBER N2T = !3

e78i JigeS+ 005003 LR R3 :{R3T=EXPECTED 8US RD“REE'
E722 :IF LINE NUMBER NJT = 17

2723 01g2Sh 177N DO3IOM MOV S0M3C R4 : R4 =ACTURL BYTE AsguN]

2704 815525 8577 003076 MOV SE“E“ R2 : [RS)=ACTLAL BUS ACORESS
eTx 8 7727 003064 000013 CHP cb -13 : IF LINE BEING COMPRRED IS5 LINE 13
2706 212274 1003002 erE .

2?c7 012276 GOSCOS L .EXPECTED BYTE CCLn™=0

£708 212300 008273 INC R3 "EVPEZTED BUS nroarss = .
2709 012302 o4 cs: cHP RS. R4 : IS BYE COUNT 2JRRECT

37:3 012304 G2I801 BEQ X

z~.. 0:2306 104004 HLT 4 :8YTE COUNT ERRIR

grie 0:2310 020302 &s: CMP R3,RE '15 BUS ADCRESS CORREST

£713 0:2312 001401 BEQ bl

grid Diz3I4 1040 MY 3 :BUS ADDRESS ERROR

e7is Zi231e (005277 00303M 78: INC SDHSCR :PREPRRE TO 7HECK NEXT LINE
£7:& Clz322 (15201 ING Rl

£7.7 2lz3z4 008300 DEC RC «SCNTINLE IF RLL NOT DONE

- . ——— . — —— e ———  ———— - ——— e
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coette  MASYID STT32 B-MAR-TES (09:17 PASE 35

222w08.PFC
Soi§ S13%E  2or3es NE M8
:;§ RiSIRR TRASEE 8§: Ecops :CHECK. FOR ITERATIONS, LOGP
Y EOG ©-0EAT on Ayl LINES 10 1
3% :ET sYf-FoR-LINE 14

:VERIFY THﬂT EYTE COUNT FOR LINE 14 GCES T

mmmmqumn:nmm ruten
2

00
3 :VERIFY THAT BUS ACCRESS FOR LINE 14 IS INC Ens EC
=28 :VERIFY THAT SYTE COUNTS AND BLS RODRESSES FOR ALL CTHEP _INES
Z-i’g' :ARE UNCHONGEC
&
TE9 012332 2127BT QOC3H0 168436 Ty4: MOV 8340, P5 :DISABLE ALL INTERRUPTS
=3¢ A:23%0 DI1Z7eT DAGT.D  253:25¢ MOV 810, 12DUNT :SET UP FOR_10 ITERATICNS
273. Ci23wb oS'2ver QIZEAT 40333y MOV 88§ ESCAPE :GET UP TG ESCAPE TO NEXT TEST
£r32 D1238% Jigtr? 004050 DGaTTw MOV 881111, 3DHSCR :MASTER CLEAR INTERFACE
333 :TC SET ALL TBMT BITS
o~ 012362 0ONTET 00267% ISR PC,CLERR :C.EAR ALL BYTE COUNT AMD
=3 :BUS ADDRESS MEMORY LCCATIONS
373% DI23b OONTE? C027M ISR PC,LORD :SET ALL BYTE COUNT LQZATIONS T2 -§
~3? 012372 012777 Q13000 00270 MOV 218050, 3CHBAR :SET SAR BIT FOR LINE I
2738 012430 2305777 9027se 38 157 SDHSCR SMAIT FOR TRANSMITTER DOCNE
2~39 L1240y 100375 BAL k3
2743 012406 012700 000020 MOV 220, RO :SET JP T0 CHECK ALL 16 LINES
e~4:  J12412 00S3I7T 502740 CLR ﬁcué :START AT LINE O
gr42 13416 008701 AR kEEP TRACK OF LINE NUMBER
gre3 Ji24e0 012736 1777eT ug: MJV --1 RS : RS 1=EXPECTED BYTE COLNT,
i 1= LINE NUMBER NOT = 14
2745 Ci2424 005002 CLR R3 :(R3 =EXPECTED BUS aocns:s
S74E IF LINE NUMBER NOT = 14
2747 012428 0L770M 734 MOV DHEC , R4 Lm =ACTURL BYTE ACCUNT
2748 Didy32 43I 2726 MOV DMEA k2 1=RCTUA. BUS ROSRESS
S749 0i343g 027727 002714 000014 CHP SOHSCR, 814 LINE asxw COMPRRED IS LINE L4
3780 Dis4u4 061002 BNE 13
2751 Clgw4e 00SQ0S LR RS -EXPECTED BYTE COUNT=0
Z7tZ Ql2wsl 008203 ING R3 :EXPECTED BUS_RDDRESS = !
2753 Di3482 020504 c§: CMP RS,Qy + 1S SYTE COUNT JCRRECT
2754 Q12454 00140 BEQ X3
3755 C1248s égqccw HoT 4 -B\TE COUNT ERROR
27S% Q1240 02030z B3: NP R3.R2 :35 BuUS ADDRESS -CRRE:T
2757 0I24e2 001401 BEQ ~3 )
2752 1244 104003 HLT 3 .85 ADDRESS ERROR
278 Z124ep 2305277 (0OC2edM 3. INC ADHSC :EREPARE T2 CHECK NEXT LINE
S7E6 Q12w?2 £0530] INC RI
Z7e] Digv?4 HDE3DG 0ec RD -CONTINUE IF ALL NCT DINE
2762 Nlg47e 031350 BNE 4§ ,
5325 012505 10s400 e3: SCOPE :CHECK FOR ITERATIONS. LJOF
I'4
Z7EE :NPR LOGIC TEST i
275 SCET BYTE COUNT ON ALL LINES 72 !
2787 :SET BAR BIT FOR LINE 15
27 :VERIFY THAT BYTE COUNT FCR LINE 1S 30ES T2 O
27€5 :VERIFY THAT BUS AOCRESS FOR _INE 15 15 INCREMENTED i
2772 VERIFY THAT BYTE COUNTE AND BUS ADDRESSES FOR RLL JTHER LINES
S;;é : RRE UNCHANGED

2773 212502 Cle7e? CC0C34C 1BS2EE  THS: MOV 834C,PS :0ISRBLE HLL INTERRUPTS
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CoOMCIBLPFS

2774 DIZSL0 JI2Ten 293010 302706 MOV 810, ICOLNT :SET UP FOR 10 ITERATIZNS
i=~5 212616 Qlerer 21JeS 00267TH MOV 48§, ESCAPE :SET_UP "0 ESCAPE 7O MEXT TEST
iTcE 013834 0127t [0ONSXC G264 MOV #8111, 30HSCR ;MASTER CLEAR INTERFACE

-0t _ :TO SET ALL TBMT BITS

2778 012832 QQNTET 002526 ISR BL,CLEAR :CLEAR ALL BYTE COUNT AND
279 :BUS ADCRESS MEMCR: LOCATIO
2780 01253 0C476-  00255H JSR  PC,LOAD :SET ALL BYTE COUNT LOCATICNS T2 -1
eT81 013842 Ql2777 025000 co2s20 MOV #2000, 30MBAR :EET BAR BIT FOR LINE 15

g-82 12550 Q0ST7e 002802 33: TST  JOHSCR :MAIT FOR TRANSHITTER CCHE
2~93 Q12584 1003rS _ BPL 3§

¢T84 012556 012-00 QCCCED MOV #20,R0 :SET UP TO CHECK ALL 16 LINES
£085 012562 J0S0°7 002570 CCLR OMSCR ;START AT LINE O

2736 01255 9205001 LR Rl :KEEP TRACK OF LINE NUMBER
et8r CI25F) CI2f0s 177777 4s: MV #-1,RS : {RS)=EXPECTED BYTE COUNT,
o8 ) ;IF_LINE NUMBER NCT = I5_
£739 012574 00SC03 (LR 83 : (R3)SEXPECTED BUS AGCRESS,
2an i :IF LINE_NUMBER NOT = 1S

€731 212576 QITTOY 2D2Sh4 MY 3CHBC,RY : \R4)=ACTUAL BYTE ACOLN®
Z-32 Clgel2 QIo7d2 C025Se MOV JDHBR,R2 : (RS)=ACTUAL BUS ACDRESS

$733 Q012606 Q3rrar 0C254¢ CCOCIS CMP  SDHSCR,#15 ;IF LINE'BEING COMPRRED 15 LINE 1S
2734 01del4 001002 BNE S8

2795 Qlgkle 025005 (LR RS ;EXPECTED BYTE CQUNT=0

g7% 012620 005292 INO  R3 :EXPECTEC BUS RDDRESS = 1
g7s; Jlgede 32054 c§: (M RS.R4 : IS BYTE COUNT CCRRECT

2798 013624 01401 BEQ 68

2739 3126k 104004 KT 4 :BYTE COUNT ERROR

2800 (12630 (020302 e8: CMP R3.RE : IS BUS ACORESS CORRECT

280! C13632 001+l BEQ 73

2802 012634 104033 AT 3 :BUS ADCRESS ERRCK

2803 Q0i2e3p 005277 002514 s ¥ INC  JDMSCR :PREPARE TO CHECK MNEXT LINE
2804 ([12642 0952C) IN Rl

2976 0id6«44 005300 DEC RO sCINTINUE IF ALL NOT DONE
2906 Clgs4k 00138 BNE 4§

g3c7 012650 104409 8s: SCCPE ;CHECK FOR ITERATISNS, LOOP
2203 ;NPR LOGIC TEST

2818 :SET BYTE COUNT ON ALL LINES TO |

2811 :SET BAR_BiT FOR LINE 16 .

2812 :VERIFY THAT BYTE COUNT FCR LINE 16 SQES T 0

2913 :VERIFY THAT BUS AODRESS FOR LINE 16 IS INCREMENTED )
2814 s VERIFY THAT BYTE COUNTS AND BUS ADORESSES FCR Ru. JTHER _INES
-£815 s ARE UNCHANGED

2817 012652 012767 (020340 16SI116 T4e: MOV w340,PS :DISABLE ALL INTERRUPTS

2818 012660 (C:2767 00QC1D 002536 MOV w10, ICOUNT :SET UP FCR 10 ITERATIONS _ _
2619 Dl2666 0i2767 013920 052524 MOV 88, ESCAPE :SET_UP TO ESCAPE 70 NEXT TEST
2820 012€74 012777 004000 00245H MOv  #BIt11,3CHSCR sMASTER CLEAR INTERFACE

28zl :TO SET ALL TBMT BITS

cBc2 012702 004767 D023SE JSR  PC,CLEAR :CLEAR ALL BYTE COUNT AND

2823 :85S ADDRESS MEMCRY LOCATIONS
24 012706 004767 00240Y JSR  PC,LOAD :SET ALL BYTE COUNT LOCATIONS TC -1
£625 0i2712 012777 04000C 002450 Me¥  »400C0, JDHBAR :SET BAR BIT FOR LINE 16

g2t 0ic7e0 D0QOS777 (002432 38: TST  JOHSCR {WAIT FOR TRANSMITTER DONE
gg27 Cigzed 100378 BPL 3% .
ceze L1272 (Glg7CO0 9C00C2Q MOy 820,RO :SET UP Y0 CHECh ALu 16 LIMES
2829 D1g732 (COE077 (00220 (LR 3I0HSCR :START AT LINE O
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caOnIB.PFC

013738
0iav40

0i2744

v
w
7Y

(a) Gl (2 )¢)
N LU=

nfu
P |
o

furururutu rofarurul
(DWW §(D (LULn

£l
51

3 212

38 (Cl27ed

39 21276¢
=840 i 0
28342 (12774
2343 LI2776
e384 (0130090
2845 213202
g 13004
2939 313906
2848 Q13Cie
2549 013014
gS80 [01201¢
2881 2123c2%
28E2
c2S3
SEEq
28ss
95k
2857
s
2859
2880
zeg! 2:.3222
286 0i1303C
2863 013336
£8e4 013044
2868
2866 Q13052
286"
2388 (013056
2869 013062
2870 0.3079
28?1 013074
2872 01307
c873 Cl3l
2874 013106
2878 013110
287¢
2877 1013114
£8?
2879 013116
g880 (Ql3l22
=gl Cl3lee
zgez Q0I313M
gee: L1313
z684% 013140
28EE DIzlvyg

2T7T3)

20520
i
0Cs003

e

817

1C44CC

012708
00s003

Q17704
Q17702
Qe77e?
001002
0Cs0S
005203
020804

EOS

16-MRR-T6 09:17 PRGE S7

) Sy

ARG 1Y
5cu40e

Q22374

£02344

000340
000310
013179
C04000

002206
002234
10C0C0
002252

90002
0C228

177777

Q02244
002236
CC2z24

164746
Cl23e6
002354
0023CH

002300

000C1?

CLR Rl
4s: MOV s-].RS
CLR R3
MOV OMBC . R4
v SphBRR:
oMP S0HSCR, 816
BNE c§
CLR RS
INC ]3
5§: SMP RS, RY
3E% 6§
LY 4
5%: CMP R3.R2
8EQ 3
HLT 3
ol ¥ INC 0HSCR
No Ré
EC R
BNE 43
es: SCOPE
:NPR 'ogéc TEST
:SET BYTE COUNT ON ALL L
:SET BAR BIT FOR LINE 17
:VERIFY THAT BYTE COUNT
:VERIFY THAT BUS AGORESS
:VERIFY THAT BYTE COUNTS
:RRE UNCHANGED
T47: MCV 340,PS
MOV 81G. JCOUNT
MOV 88 ESCAPE
MOV 881t11,30HSCR
ISR PC,CLEARR
ISR PC,LORD
_ MoV #1000C0, 30HBAR
3s: 767 ADHSCR
8PL 33
MOV sgo R
CLR IBHEC
CLR R1
4§: MOV $-1,RS
CLR R3
MOV JDHBS , RY
MOV JDHBA . R2
CMP JDHSCR, 817
BNE 5§
CLR RS
INC R3
c§: CMP RS, RY

:#nEEP TRACK OF LIME NUMSER
: \RS)=EXPECTED BYTE COUNT,

:IF _LINE NEHEER NgT = AE‘

: (R27=EXPECTED BUS AODRESS,

:IF LINE NUMBER NOT = 16

: RY)=ACTURAL SYTE RRCUNT

: (RS)=RCTUAL BUS ACORESS
:1F LINE BEING COMPRRED IS _INE &

:EXPECTED BYTE COUNT=C
:EXPECTED BUS ACDRESS = |
; IS BYTE COUNT CORREC™

:SYTE COUNT ERROR
; IS 3US ADCRESS CORRECT

:BUS ACDRESS ERAOR
;PREPARE 10 CHECK NEXT LIME

(CONTINCE IF RLL NCT DONE
;CHECK FCR ITERRTIONS, _CJP

INES TC 1
FOR LINE 17 GOES 7O C

FOR (INE 17 IS INCREMENTED

AND BUS ROCRESSES FCR AL. JTHER _INES

:LISAB_E ALL INTERRUPTS

:SET UP FOR 10 ITERATIONS

:SET UP 7O ESCRPE 7O NEXT TEST
{MRSTER CLEAR INTERFACE

:TO SET ALL TBMT BITS

:CLEAR ALL SYTE CCUNT AND

:BLS ADCRESS MEMORY LOCATIONS

:SET ALL BYTE COUNT LOCRTIONS TC -1
:SET 3RR 81T QR LINE 17

+WRIT FOR TRANSMITTER DCNE

:s;r UP T3 CHESK ALL 16 LINES
:5TARY AT LINE D

‘hEEP TRACK OF LINE NUMBER

: \RS'=EXPECTED BYTE COUNT,

:IF LINE NUMBER NOT = I7

: (R3)=EXPECTED BLS ADCRESS,

:IF LINE NUMBER NOT = 17

: IR4)=ACTUAL BYTE ACCUNT

: (RS)=ACTUAL BUS ACORESS _
+1F LINE BEING COMPARED IS LINE !

:EXPECTED BYTE COLNT=0
:EXPECTED BLS_RDCRESS = !
: IS BYTE COUNT CORRECT

e e e s
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D30H38. PFC
2088 O131W4 201401 BEQ &S
533 D12l 104904 , V% : .BYTE CCUNT ERROR
2539 oiaiso Unrfaog 28: P R3R2 175 BUS RODRESS CORRECT
332 Bidlas (mddR | ML 3 :BUS RODRESS ERROR
2331 ci:qgg L0s27s 0027 s Ing ﬁusca 'PREPARE TO CHECK NEXT LINE
£33 AhdiES 3525% 1 R3 -CONTINCE IF ALL NOT DCNE
3833 0136 DC138C ENE  uE
333 A130%7 134935 gs: SCoPE . CHECK FOR ITERATIONS, LOCP

—— ———— e em———
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2996
2937 :SILO LOSIC TEST (MAINTENANCE MCDE}
2839 :FORCE 1 CHRRACTER INTO SILO USING SILG
2899 <MAINTENANCE BIT
gggc ;\ER}FY THAT cnnnngrEa RVR{LRBLE éNTERRUPT 0CCLURS
5401 :VERIFY THAT CHARACTER AVAILABLE BIT IS
2302 <SET IN SYSTEM CONTROL REGISTER
£903 ;vgqxrv THAT SILO FILL REGISTER INCREMENTS TO |
2934 *VERIFY THAT NEXT RECEIVED CHARARCTER REGISTER
2995 *VALID DATA BIT IS SET
§gg§ :VERIFY THAT CORRECT DATA PATTERN WAS RECEIVED
[ ¢
3339 Qi3172 21278T 00030 164STHE  TSO: MOV 8340, PS :DISABLE ALL INTERRUPTS
3908 (13200 0I5767 000010 002216 MOV 210, fCOUNT :SET UP FOR 10 ITERATIONS
2310 213206 012767 013350 002204 MOV 253, ESCAPE -SET UP TO ESCAPE TO NEXT TEST
3811 Q013214 012777 004C0D 0023 MOV 5111, 30HSCR :MASTER CLEAR INTERFACE
2312 013222 Qi2T7? 013270 002:50 MOV %28, JDHRVEC :SET UP RECEIVER INTERRUPT
2813 013230 0512777 DOD340 002144 MOY 2330, aDHRLYL :VECTOR AND STATUS
3914 013236 062777 100000 002130 BIS sBIT!S, SDHSSR -SET SILO MAINTENANCE
29:5 013244 Ql2r7? 000100 002134 MOV 881 TC6, QOHSCR ~ i8ET RECEIVER INTERRUPT ENABLE
2516 013252 00S067 184520 CLR PS :ALLOW INTERRUPTS
2917 013286 Q12720 (01090 MOV #1000, R0 © ;SET UP_DELAY FOR SILO LORD
29!8 012262 005300 18: DEC R :DELAY FUR SILO LORD
2919 Q13264 OC1376 BNE 18
2920 013266 104901 HLT 1 :NO CHARACTER AVAILABLE INTERRUPT 3JCCURED
2821 213270 042777 1000CC 002078 28: 5IC 851715, AOHSSR :CLEAR SILO MAINTENANCE BIT
c922 013276 105777 (02054 , 7STB A0HSCR : 1S CHARARCTER AVAILABLE BIT SET
2923 013302 100401 ' BM1 33
2924 013304 1040CS HLT € : CHARACTER AVAILASLE NOT, ERROR
2925 013306 017703 002082 3% MGV JDHSSR. R3 :RERD SILO STATUS REGISTER
2926 013312 917704 002C4: MOV JOHNRC | R4 : (R4)=ACTUAL DATA IN NEXT
2327 :RECEIVEC CHARACTER REGISTER
2928 013316 012705 125252 MOV #125252.RS : (RS)=EXPECTED CATA IN )
2929 :NEXT RECEIVED CHARARCTER REGISTER
2930 013322 020504 CMP RS, R4 1S DATA IN SILO CORRECT
2931 013324 001401 8EQ 4§
2932 013326 104006 HLT 3 -SILO DATA ERROR
2933 013230 010304 43: MOV R3,RY :GET SILO STATUS REGISTER
2934 013232 042704 00J390C BIC 300, R4 :CLEAR UNWANTEC BITS
2935 013336 012705 000400 MOV 400, RS : (RS)=EXPECTED DATA
233k tIN SILO STATUS REGISTER
2937 013342 22050M CMP RS. R4 ' CHECK RESJLTS
2938 013344 001401 BEQ 13
| €539 013346 104007 HLT 7 ;SILO STATUS ERRSR
2940 01330 012706 017102 5$: MGV #5TACK, SP "RESTORE STRCK
Sg:é 013354 104400 SCOPE sCHECK FOR ITERATIONS, LOOP
2343 ;SILO LOGIC TEST (MAINTENANCE MGDE)
2844 +L0AD 63(DECIMAL} CHARACTERS INTO SILO
5332 :VERIFY THAT SILO STATLS RESISTER COUNTS "'~ CORRECTLY
| 2947 013356 012767 00034C 164412 TSi: MOV 2340, PS -DISABLE ALL INTERRUPTS
' 2948 013364 012767 000001 002032 MOV sl ICOUNT :SET UP FOR 1 ITERATIONS
2943 013372 012767 013510 002020 MOV 858 ESCAPE :SET UP TO ESCAPE TC NEXT TEST
| 2950 013400 0l27e? 013412 00201 MOV 313 FREEZ! :SET UP YO LOCP WITH DATA
| 295! 013406 (12701 000001 MOY 81 Rl SET UP TO LOAD SILJ WITH 1 CHARACTER
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MRCY1L 2773y

PFC

QI3Ml2

31’43
1342

Q134eM

01350C

01350z
013506
J13510

COOOQOO0OCO0O0O0O000O0000 O0O00OO0O0O000

a1arre

104307
1048418

005201

022701
001341
<CH4C0

012702
005777
005302
001376
005300
001370
117704
C42704

16-MRR-78 09:17

004000

103300
0C1200

100003

go1rla
£a030¢C

000i00

00C340
000001
013670
013546
00000l
004300
0021€0

000100
001630
100030

10CC00

C01000
0C1530

0CclS
0003

oW
wn

001736

CC17T42

0oi724

164256
001876
QCleb4
001660

0018622

aC1s74

0C1See

18

2s:
38:

43:

TS2:

18:

28:
3%:

4%
58:

PRGE &0

HLT
SCOPEL

INC
CMP

BNE
SCOPE

HOS

#BIT1.,3CHSCR
R1,RO

RS

881715, 2DHSSR
%1000, R2

R2

33 )
881715, 2DHSSR
RS

R

23

3DHSSR, R4
8300, RY

RY

RS, RY

43

(

R1
#1030,R1

&

:MASTER CLEAR INTERFACE

: SAVE gOUNT o
:WILL BE COUNT QF CHARACTERS .l~IED
:LORD R _CHARACTER

;STALL FOR SILO

;CLEAR LOAD BIT

:UPDATE COUNT JF CHRRACTERS LOACED
:IF ALL CHARACTERS NOT LOQDED
;LOAD ANOTHER

tREAD SILO STATUS REGIiSTER

CLEQR UNWANTED BITS

{GET DATA INTO LOW BYTE

: COMPARE

:SILO STATUS ERROR

: CHECK FOR_LOOP WITH CURRENT
;LORD COUNT (RS)

;ADD 1 TO NUMBER OF CHARACTERS
:T0 BE LOACEC INTQ SI.O
:CONTINUE UNTIL SILO IS FULL

;SILO LOGIC TEST (MAINTENANCE MODE)
:L0AD &4 (DECIMAL CHRRQCTERS INTQ SILO

:READ _CHARACTERS OUT OF

SILC
:VERIFY THAT SILO STATUS REGI:TER COUNTS DOWN CORKRECTLY

MOV
MOV
MOV
MOV
MOV
MOV
MOV
SUB

2340, PS
i, ICOUNT
87§, ESCAPE
oxshr95521
ueirlx JDHSCR
£100,RS

R1,RS

$100,R0
#1000, R2
anglé 3DHSSR

3%
;BITIS,UDHSSR

2§

R1,R0
#1000,R2
aanné

S$
RO

4§
JDHSLR, R4
300, R4

DISQBLE ALL INTERRUPTS

sSET UP FOR 1 ITERATIONS

:SET up 10 ESCRPE TO NEXT TEST

:SET UP 7O LOOP WITH DATA

:SET UP TO READ 1 CHARACTER

:MASTER CLEAR INTERFACE
:S1L2 STATUS COUNT SHOULD BE

: 100(OCTAL ) -NUMBER

:0F CHARACTERS READ

:SET UP T9 LOAD SILO

:SET UP DELAY

:LORD 1 CHARACTER

: DELAY

;CLEAR SILO LOAD BIT
:CONTINUE IF SILO NOT FULL

;SET UP TO RERD SILO
:SET UP DELAY FOR SILO
sREAD SILO

:DELAY FCR SILO

; UPDATE NUMBER OF CHRRACTER S TO BE RERD
s CONTINUE RERDING

:READ SILO STATUS REGISER

:CLERR UNWANTED BITS
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3038
3039

3010

B8 o35
3013 013652
3014 013654
3015 013656
3016 013660
17 D13s62
3318 213866
3313 813873

2riv3d"  1e-MAR-TS 09:17

6S:

PAGE 6!

RS.RY

8101

— 0D =~
W

105

: LRS)=EXPECTED SILO STATLS

: (IN UPPER BYTE)

P (RY)= =ACTUAL L0 STATUS

: (IN UPPER )
: (CNPARE EXPECTED GND RECEIVED CATA

;S1L0 STATUS ERROPR
CHE’K FOR LOOP UITH SAME RERD LoUMT
PORTE COUNT OF CHRRRCTERS TO 3t RERC

conrxwut IF NOT DONE
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3220
352l
3022
3223

3882

3026
3027
3028
3229

MRCYLL 27,732
DIDHCS.PFC

014010
Q14012
014016
914020
014024
014026
014030
014032
014034
Q14036
014040
Q14044
814046

105777
100406
005701
001360
117703
104010

00C406
Q20127
003403
117703
104010
104410
005705

001327
104420

16-MARk-78 09:17

000343
00004C
015046
0137eN
004000
001436

120003
001Coa

130000
Jol3ee

001370

00Caa!
pol3ce

00C190

164076
QCiSl1e
Q01534
001500

001424

00i4e4

0314C6

T83:

1%:

38:

43:

108:

S8:

PRGE &2

:SILO

s T
VERI

Q

:
30

L
SI
Fy

N

q

JO5

OGIC TEST (MAINTENANCE MOOE:
LO RLARM LEVEL TO ALL .ALUFS 0-77

THRT CHARACTER AVAILABLE F

CT SET UNTIL SILO FILL LEVEL IS GRERTER THAN

LRARM LEVEL

8340, PS

40, 1COUNT
tSS ESCAPE
als ,FREEZ!]

sBIT11, JOHSCR
RE, IDHSSR

RS R]

sexrxs JDHSSR
#1000, R0

ROE

a?xr1s.aonssn

JOHSCR

a3

Rl

2%

aDHSLR,R3

10

4§

R1.#l

4§

JDHSLR, R3

10

RS
1C3$

RS
#100,RS
13

;OISABLE ALL INTERFUPTS

:SET UP FOR 43 ITERATIONS

:SET UP TO ESCAPE TO NEXT TEST
;SET UP 70 LOOP WITH DATA
:START AT ALARM LEVEL 0
tMASTERCLEAR INTERFACE

iSET ALARM LEVEL

:SET FILL COUNT

:ONE_MORE THAN ALARM LEVEL

:LOAD A CHARACTER
;WAIT FOR SILO TO SETTLE

:CLEAR MAINTENANCE BIT

;UPDRTE FILL bOUNT

%ESCHRRPCTER AVRILABLE FLAG SET
CHQRRCTER AVAILALBE FLAG NOT SET
sSHOULD IT BE

: READ SILC FILL LEVEL

;SILO ALARM ERROR

:NO CHARACTER AVAILGALE WHEN EXPECTED

;READ SILO FILL LEVEL
:SILC ALARM ERROR
:CHECK FOR FREEZE AT CURRENT ALARM LEVEL

;GO TO NEXT ALARM LEVEL
:CONTINUE IF NOT DINE

:CHECK FOR ITERATICONS, LOOP
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3062

3063

3064 ;END CF PASS

3365 :TYPE _NAME OF TEST

305¢& :UPDATE PASS COUNT

3067 ; CHECK FOR EXIT TO RCT-1!

gggg :RESTART TEST

3072 QOl43S0 104401 EOP: TYPE ; TYPE NAME OF TEST
Sr1l 014052 0160SS MEPARSS

30:% 014054 005967 gglg?q CLR %RET ;CLERR % éT ERROR PC

2073 014350 JGS067 13eM CLR RRFLG :CLERR ER

3J°4 014364 005267 001322 INC PASCNT ;UPDATE PASS COUN’
307°S Q14070 Q016767 001316 163472 MoV PASCNT, LIGHTS DISPLQY PRSS COUNT

3376 014076 013701 (003042 MoV and2, Rl ;CHECK FOR RCT-11 OR CDP

3077 014102 00I14CS 8EQ RESTﬁT :IF NOT, CONTINUE TESTING

2078 01410% 000305 RESET

3679 014106 00471} LCGICAL: JSR PC, .R1)

3080 C14I110 000240 NOP

3081 0l4ll2 (£0324d NOP

3082 014114 000240 NOP

3833 0i4116 000167 185120 RESTRT: JMP BEGIN

3285 :CHECK FOR LOOP ON CURRENT TEST

ggg% :CHECK FOR ITERATION SUPPRESSION

3088 Cli4i22 032757 C02000 163440 SCOPER: 3IT $SK10, SKR

3089 Ci4130 00.303C BNE 43

3080 Q14132 032767 O04000C 16343C 183: BIT #SW14, SR

3C81 OCIl4140 00132l BNE 33

3092 Oi4i42 032767 004000 163420 BIT $SW11, SR

3083 014150 001006 BNE cs

2094 O0Ol41S2 005267 001250 INC LPCNT

2095 014156 026767 001244 00124C cHP LPCNT, ICOUNT

3086 OlI4le4 001007 BNE 33

3087 014166 005067 001234 23 CLR LPCNT

3098 OGOl4i72 Q0S0e” 00lzl2 CLR ERRFLG

2083 QI4176 O0Ol1ee7 00i214 MOV (SP),RETURN

3100 014202 000002 RTI

3101 014204 Q016716 001208 3%: MOV RETURN, (SP)

3102 014210 000002 RTI

3103 0li42ig 005767 001172 48: TST ERRFLG

3104 0l421& 031745 BEQ 1%

gigg 0i4220 000782 BR =4

gigg ;CHECK FOR FREEZE ON CURRENT DRTR

2109 0i42ge 232767 001000 163340 SCOFIR: BIT #SW09, SWR

3110 014230 001402 BEQ 1%

3111 0l4232 018716 DClIeM MoV ~REEZ1, (SP)

giig 014236 000002 18: RTI

%%%g ; ERROR HANDLER

3116 0l4e40 032767 020C00 183322 ERRORS: BIT #Si13, SKR

3li?7 0l4246 001051 BNE HALTS
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ri

g216k?
Q01404
C11667
0CSO&7
109406
011605
162705
011504
006304
006304
Q42704
J62704
glase?
011467
005767
0014C3
005767
001007
104402
014434
012767
104401
00000C
QCS7e?7
001402
104402
000000
104407
005767
10C00S
010046
016600
000000
012600
005267
032767
001402
016716
gcoooz
gcogol

006
015446

014250
Q14254
014256
014262
014266
014270
Ql4e7e
014276
014300
014302
014304
014310
014314
014320
014324
014330
01433c
0143%3
C14340
014342
014344
0143%¢
0143%H4
914356
014362
Ji4364
014366
014370
014372
014376
014400
014402
014406
014410
014412
014416
01444
014426
014432
014434
014436
014440

014442
014444
014450
014454
014456
0l4462
014466

14472

O0O00O000—0
OO0 L OO0
ONNLO IO
— N NN
It e s pa s = [
oo oo

o

LOS

16-MAR-75 089:17 PARGE &4

001200
Coll7e
001122

000002

177001
016164
000034
000042
001060

000030

090001

0JC00H

163172
0oooo2
00C776

002000
000756

0de

000002
000000

177001
016104
00Ca00

001036

163144

CMP (SP),LAST
BEQ 1§
MOV (Sp),LAST
CLR ERRF{G
1S: SAVOSP
MOV .SP), RS
SUB #2,RS
MOV (RS) . R4
ASL RY
ASL RY
BIC $177001,RY
ADD $ERRTAB RY
MOV (R4) +, ERRMSG
MOV (RY),DATABP
ST ERRFLG
BEQ TYPMSG
TST DATABP
BNE TYPDAT
TYFMSG: OCTASC
ERTABO
MOV %1, ERRFLG
TYPE
ERRMSG: O
TYPDAT: TST DATABP
BEQ RESREG
GCTASC
DATABP: 0
RESREG: RESOS
MALTS: TST SWR
BPL EXITER
PUSHRO
MOV 2(SP).RO
HALT
POPRQ
EXITER: INC ERPCNT
BIT 2Sl10, SHR
BEQ 13
MOV ESCAPE, (SP)
1%: RTI
ERTABO: |
.BYTE b,2
SAVPC
: TRAP DISPATCH SERVICE
:ARGUMENT OF TRAP IS EXTRACTED
'AND LSED RS OFFSET TO OBTAIN POINTER
:TO SELECTED SUBROUTINE
TRPSRV: MOV (SP),-(SP) :GET PC OF RETURN
SUB 82, (5P) +=PC OF TRAP
MOV 3(8P), (SP) :GET TRP
TRPOK: ASL (SP) 'MULTIPLY TRAP ARG BY 2
BIC $177001, (SP) : CLEAR UNWANTED 8ITS
ADD $TRPTAR’ (5P) :POINTER TO SUBROUTINE ADCRESS
MOV 3(SP), (5P) : SUBROUTINE RDDRESS
JMP 5P :G0 TO SUBROUTINE
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g;zg : [ELETYPE OUTPUT ROUTINE
176 014474 017605 000000 TYPER: MOV 3(SP),RS
014500 02716 000002 ADD 82, (SP)
INE04 106777 000642 18: TSTB  3TPCER
14810 100375 BPL 13
014512 105718 TISTE  (RS)
014514 001001 BNE 2¢
014516 0000C2 RTI
914620 112577 000e30 2%: MOVB  (RS)+,aTPDER
014524 000767 BR 13

:ASCIT STRING INPUT ROUTINE
014526 017667 000000 000006 INSTRG: MOV Jd(SP),MSG

(DI G DG LI )G WD (W W TI LI WL W LI LI )
Pome Pt ot Pt Pt e Pt P Pt ot Pt s B n Pt Bt Pt Bt Bva | s P o B Pt
OO DO N DL OO~~~
ONOCN LW OO~ ICNNLWMNY— O~

014534 0B2716 000002 ADD RC, (SP)
01us80 104401 INSTR1: TYPE
Ji4S42 000000 MSG: O
014844 012704 DlE126 MOV-  ®INBUF,RY
014650 012703 0000067 MOV #7,R3
014554 105777 000SEE 1§: TSTB  JTKCSR
01456C 100375 BPL 1§ ,
014862 117714 000S62 MOVB  JTKDBR, (RY)
014566 142714 000200 BICE %200, (RY)
014572 122427 000015 CMPB  (R4)+, #15
3193 9i4576 0OI413 BEQ INSTR®
3200 Q14600 117777 000544 000546 MOVB  JTKDBR.aTPDBR
3201 014606 105777 GCOSHO 2%: TSTE  3ITPCSR
3202 014612 100375 £3L 2%
3203 0l4614 005303 LEC R3
3204 014616 001356 BNE 13
3205 Q14620 104401 INSTRE: TYPE
3206 0l4e22 015761 MGM
3297 Cl4624 000745 BR INSTRL
gggg 0i4625 000002 INSTR2: RTI
gg{? : CONVERT ASCII STRING TO OCTAL
—C
3212 014630 011805 PARAMS: MOV (SP),RS
3213 0I4632 012567 COO146 MOV (RS)+,LOLINM
3214 014636 012567 000144 MOV (RS} 4+, HILIM
3215 0l4e42 012567 000142 MOV (RS)+. DEVADR
3216 014646 112567 000140 MOVB  (RS)+ LOBITS
3217 0I4652 112567 000135 MOVB  (RS5)+ ADRCNT
3218 014656 010516 MOY RS, (SP)
3219 Dl4660 00S00S PARAMI: CLR RS
3220 Q14662 012704 016126 MOV $INBUF ,RY
3221 014666 122714 0000IS CMPE  #15, (RY)
3222 014672 001420 BEQ PARERR
3223 0I4674 121427 000080 18: CMPB  (RY), #60
3224 014700 00241S BLT PARERR
3225 0i4702 121427 000067 CMPB  (R4), #67
322t 014706 003012 BGT PARERR
3227 014710 142714 000080 BICB  #60, (R4)
3228 014714 152405 BISB (R4}+,R5

2229 014716 122714 0OCOIS CMPB %15, (RY)
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3230 014722 Q01406
3331 0iv7ed 006305
3232 0ly7ee 006305
3233 Q14730 00630

3239 014732 00076

3935 014724 10440M
3036 014736 000750

3240 018740 020567
3241 014794 101373
3242 014746 020567
3243 014752 103770
3044 Q147584 136705
3045 014760 001365

3249 014762 016704
3250 014766 010524
3251 014770 062705
3252 014774 105367
3253 015000 001372

3258 015012 000000
3259 015013
3260

3261

3262

3263 C1S5014 104401
3264 015016 01576S
3255 015020 01780!
3266 015024 062716
3267 015030 012167
3268 015034 112187
3269 015040 112167
3270 015044 01231k7
3271 015050 016704
3272 015054 116705
3273 015060 012700

3277 015076 110320
3278 015100 006204
3279 015102 006204
3280 015104 0062OY
3281 DI5106 005505
3282 015110 001365
3283 015112 012703
2284 015116 114023
3285 015120 105387

6-MAR-76 ([9:17 PAGE &6

003042
000032
000032

000022

000002
000013

000300
00000¢e
000130
000126
000123
000120
000114
000106
01614C

177770
000280

gleise2
000042

BtG LIMITS
RS

ASL .

ASL RS

ASL RS

BR 13
PRRERR: INSTER

B8R PARAM!

+ TEST TO SEE IF NUMBER IS WITHIN LIMITS
LIMITS: CMP RS, HILIM

BHI PARERR

SMP RS, LOLIM

BLO PARERR

EIT8  LOBITS,RS

BNE PARERR

:STCRE NUM3ER AT SPECIFIED RDDRESS
MOV DEVROR, P4

18: MOV RS, (R4)+
ADD 2. RS
DECB  ADRCNT
BNE 18
RTI

LOLIM: G

HILIM: O

DEVRDR: 0

LOBITS: O

ADRCNT=_CBITS+!
s CONVERT OCTAL NUMBER TO ASCII AND OUTPUT TO TELEPRINTER
OCTASN: TYPE

MCRLF
MOV 3(SP).RI
ADD 82, (SP)
MOV (R1)+, URDCNT
1%: MOV  (R1)+,CHRCNT
MOVB  (RI)+.SPACNT
MOV 3(R1)+, BINWRD
2%: MOV BINWRD . RY

MWB  CHRCNT.RS
MOV sTEMP, RO

3%: MOV RY, 83
BIC $127770.R3
ADD 260, R3
MOVB  R3.(RD)+
ASR RY
ASR RY
ASR RY
DEC RS
BNE 2§
MOV $MDATA, R3
4g: MOVB  -(RD),(R3)+

DECB  cHRcht
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8tJd Y 1
€S MoV 8249, .R3
OE.B SCachT
B\E <3
3 F ~uRT (R3
P
MCATA )
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WROCNT: 3
CHRINT: O

SPACNT=IRRINT+]
EINKRD: O
:SAVE PC OF TEST TWAT FAILES ANC RO-RE
SVISP: MOV 4(SP), SAVPC
+SAVE RO-RS
SvlS: MOV RS, SAVRS
MOV R4 . SAVRY
' MOV R3.5AVR3
MOV Ra.gnvnz
MOV RI.SAVR;
MOV RO, SAVRG
RT]
-OESTORE RO-RS
RS05: MOV SAVR]. R0
M3V SAVR1 R
MV SAVR2,Re
MOV SAVR3.R3
MOV SAVRY RY
MOy SAVRS RS
RTI
+CLEAR BYTE COUNT AND BUS ADCPESS MEMIRIES
SLEAR: MOV 820, R0 ;SET_UPT TO SLEAR 18 ([ESIMALT LIISTIONE
CLR JCHSCR :START AT LOCRTIN A
'8: oLR JOMBE :SLERR BYTE SCUNT
CLR A0HBA -CLEAR BUS RDDRESS
INC SDHSCR :ADVANCE LINE NUMSER
DEC R :CONTINUE IF NOT 02
SNE 13
RTS PC <RETURN
:LCAD ALL B:TE COUNT MEMCRY LICATIONS WITH -1
LJAD: MOV 820, R :sgr yP TQ LORC 16 (JEJIMAL: LSIATIONS
CLR S0HSC :START WITH LINE G
28: MOV -1, 9DHBC :SET BYTE cJANT O -1
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342 01533 20527
;g13 3§5335 205300
- ¢
345 gx gwu Egﬁgc;

39E
33"
3348 015346 1°7SHL
3349 18350 1nvBel
3353 B1838 inTEeN
335] 018384 1~vEee
S5 i Eg
3384 gxsasa ggccsc
3358 CI5368 020CaC
3356 Jﬂ% %mw
3357 (1537 00CC30
3388 0I8372 DOCSCH
3389 918374 500020
3360 Q1537 (000029
3361 015400 ggococ
3362 0IS+32 9900
3362 01340y NRacac
3364 0154de DBOTCHD
3368
3358
337 21540 DOCOO
3388 DiS4i2 000CA0
3363 CiS4:4 030200
337] Oit4ip DOOBAD
3371 Ri5433 OCC
a3r: SiS432 393500
3373 31S+24 000000
3374 CiEude 00
32re CiS430 090397
337 018432 alals
3377 OIS slalsiale)
337 3:8 043300
3379 9jt

A1g

Z36. DiC444 200300
3333 TiE44g  DApAOT
3353 Citysa 380020
3304 £IE+EZ 950200
3335 BiZ.E4 000000
3306 Nig4Se 0000DC
3367
2:80

3389
339 0IE4E0 DI1004p
3337 DiBse2 DIQI<E
3232 Cifugq 21Czee
3333 O0lC4ge Di03s6
2337 CI84720 210446
3365 ZiZ4?2 Didewe
SIS CIE4T4 ClBTHE
3387 21Zzcn fifee?

16-MRk-76 (9:17 PRGE 68

00.21b

CO6

INC SOMSCR +~DVANCE LINE NUMBER
otC R0 SCIONTINUE IF NCT DONE
?E +RETURN TO CALLING ROUTINE
s INDIRECT POINTERS
TKCSR: 177860
TkDBR: 177the
TPOSR:  177SEM
TEOBR: 177SBE
DHSCR: O
CHNRC: O
DHLPR: 9
fHBR: O
DHBS: g
THBER:
OWBIR:
PHSSR: 2
OHSLR: C
CH4RVES: O
CHRLAVL: O
OHTVEC: O
CrR¥lvl: D
:PRCSRAM VRRIABLES
ERRFLS: O :ERRIR FLRAG
PASCHT: O :PRSS COUNT
ERRCNT: O :ERRCR COQUNT
RETURN: C +SCOPE RETURN RCDRESS FOR TEST LOZPING
ESCAPE: :ACCRESS FOR ERRCR ESCAFE
FREEZL: O toNTR LOOPING RETURN RDDRESS
ICOUNT: O +ITERRTICN COUNT FOR T;ST IN PRCIRESS
LPCNY: O ‘NUMBER OF ITERATIONS THIS TEST
SAVRS: ;R0 SAVE ARER
SAVFL: 0 +Rl SAVE RREA
SA/R2: C 182 SAVE RRER
SRVR3: 0 :R3 SAVE ARE
SAVRY: C :RY SAVE RREA
SRYRS: O :RS SAVE ARER
SavepP: 3 ;STACK PCINTER SAVE ARER
SRVPC: O +CALLING ROUTINE SAVE ARER
INIFLG: C +PROGRAM INITIRLIZRTICN FLRG
STFLG: 2 :OPRCGRAM STARY FLAG
L§§£é % :LAST ERROR P(
:ENTER HERE ON POWER FRILURE
PFmlc: MOV RD,-.3P} +SAVE RJ-RS N PROCESSCR STRIK
HCV Rl [ =\ sp)
HOV PE s SP ’
HOV R3\ '(Sp)
MOV RY,-.5P)
MOV RS, -1SP)
MOV 24, -5k
MOV SP,SRVEP +SRVE STRCk POINTER

e e T
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ot  Twafs

3398 015504 J1z276- QJ15S516 1623.2 MYV sRESTART, 24 :3ET UP FCR POUER UP TRAF

3333 Gifsla 00000 HALT tHALT ON PCWER GOWN NORMAL
3. 85Iy ooc”h BR :
gzi :PROCESSOR WILL TRAP HERE WHEN POWER IS RESTORED
3} 015516 DIETOE 1TTTR2 RESTAR: MQV  CAVSP,SP :RESTORE STACK BLINTER |
3405 o:ssag 21562 MOV gSP:¢.2S REZTORE RO-RS
343 019839 QioeCd MV (3P)elRY |
57 A1883c 212603 MOV (SP)+.R3
3408 015530 Gi3eC2 MOV (5P)+.R2
2409 Q18832 212601 MOV (S5P)+.RI
3419 015834 312830 MOv  (SP)+ RO
341. CISS36 Q:576F O0I546C 562262 MOV aPFAIL 24 :SET UP FLR POWER FAI_URE
3412 2155wy Qi2Ter (COD3+3 16223% MOV #34C,PS_
3313 fiS552 0127% (G17:02 MV 8STALK.SP
341§ 0IS5Ep (QOSOET DO03SE CLR  TEMP
3415 0i5Bg2 0DS2p7 000382 [N TEWP
351 CI33ep 0613w BNE .-
347 188720 104802 0CTRSC
3418 C18872 Aiseldy PFTRB
3419 DI857%  1D¥NDL TYPE
30 0i857 015770 MPFAIL
24z QI1ERO0 ODSCE? 17TBOM CLR  ERRFLG
3432 OIS DOSDE? 17ne CLR  LAST
3423 3DiSela ODDI77 1776C2 I SRETURN
3433 21514  0COOO! PFTRG: |
345 CiSple 00OCDE GOOD02 6,2
3426 015622 (00207 RETURN
3487 (018624 00SOIS Q42012 030510 MTITLE: .ASCIZ «<15%<12:<12>.CHI1 TRANSMITTER ANC RECEIVER LOGIC TEST /(15° (12>
439 015632 0200B1 Osiled Q4718!
3429 015640 046523 DB2111 Queses
M3C DiBee 022122 047101 020104
3431 Ci5eS4 (042522 042803 053111
3432 D1B6E2 0SII10S DuEQMC Q43517
3433 015670 091511 0s2Q40 90s150S
3438 2iSe76 020124 00SOLS als i
335 Q015703 _ (15 053012 Q41535 MVECTd: .ASCIZ «<15<12>.VECTOR ADCRESS--
3435 0I57I0 Q47829 023122 o42101
3427 0157:6 351104 051805 026523 ,
3438 015734 7T 000 -
439 §iE725 0I5 Q41412 Q47117 MREGAD: .ASCIZ «15>(12>/CONTROL REGISTER ACDRESS-
3480 01E732 051129 Q46117 051040
3441 018740 043505 GS15il (042524
3442 01EP4e 020122 0942101 OSI10M
3.3 DIE7o4 (51505 026523 009
444 BIS7p] 040 037990  DOD MgM: .ASCIZ2 s ¥/
244g 0iS765 0I5 000012 MCRLF: .ASJIZ 1§12 i
3446 015770 020040 0497520 Q42527 MPFAIL: .#3CIZ - POMER FAILURE, PROGRAM RESTART AT “ES™ IN PROIRESS
3447 015776 020122 040506 046111
3448 O1EOQY 051125 026105 050040
3449 Cienlz 047522 0SI1107 0946SOl
24e0 016020 051090 0S:E05 Q40524
34E] C£1e026 OE21z2 248440 02C1ed
3t 0l6034 042524 052123 049440
3+83 0lgC42 0zClle OBI:13) OWacl7
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OoDHC8.PFL

3454 016050 oQ4a2S22 051523 202
3435 0160SS Q1S 042012 042132 MEPRSS: .RSCIZ <15 ¢ 12> DIDMC/

2 Eigggs 041 g gog . , .
BE AR N ml m Moo E BB e

g
g:gg C160™ C£2n124 091830 0D00SS

§3E§ :TABLE OF POINTERS FOR TRAP DECCOING
463 16104 ﬂxngﬁ TRETRS: §cop R

964 D1E106 Biue: YPE

2465 Dielln 2isoid OCTASN

3486 Di16:id D143 INSTRG

3457 Cloiid Dl4Ea0 ;NSTR

348 gxsxxg QI4e0 ARAM

3§ BIgI30 Aigip SvOSP

20 olpl1ZE 0ig332 RSOS

g;zé Sieios Gis2z2 SCOPIR

gqu :BJFFERS FOR INPUT-CUTPUT

375 Ciel2e 000000 INSJF: O

3478 916140 Tz, 4l

™77 216140 QO000CO TE¥: 0

3478 016152 .=.+10

3479 21ei52 000013 MDATA: G

;:g? 0ib164 .=.+10

Kt

g:gg :TRBLE OF POINTERS TC ERROR MESSASES ANC CATH

JEY DIE1E4 ERRTRS:

3485 016164 0156230 EMC

2486 0iE166 016656 D%i

3487 C!6I70 016310 EMI

3488 616172 0602000

3485 016174 016325 EM2

M3 016176 0O70OC 0

1491 016200 016356 EM3

3452 016202 D1665E OT1

3433 016204 016415 EMY4

494 (18206 D1GBSE DT!

]9 [le210 016453 EMS

34% 016212 000000

3497 Die2l4 016507 EME

3498 0l6216 016656 Tl

3499 016220 016544 EM7

3500 016222 0166SH DTl

3601 Die22Y O1E6D3 EMIO

€02 Qle22e O1BEZD 012

3573 016230 047126 0S4i05 Q42523 EMO:  .ARSCII /UNEXPECTED INTERRUPT.

3504 0lE236 052103 042105 O444N0

3Efc QlEP44 052115 051105 052522

ZE3E 0ig2s2 052120 .
3€57 TDies54 OOSCIS 047503 052116 JASCIZ  <15>¢12>/CONTROL REGISTER SONTENTS
3278 DIEZE2 (47522 020114 D42E22

€79 01g270 (044507 052133 05:105
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cooMe  MACYLL
CoCHIB.PFC

3810 016276
35.1 i34
-~12 Q018310
35:2 016318
3514 0l162eM
3515 (16325
3516 01533%
3517 Q16
35.8 0lb34%
35.3 016354
3520 016356
3521 01638
3322 01837
3823 Cle3r
3524 164N
26 (le+le
3526 (01B641S
3827 QJlsuze
3328 Q18430
29 016435
3830 Q0is44e
3S31 016450
3832 016453
3533 1460
3534 0158468
3535 J1e474
3536 216822
£37 018807
3538 01ES!y4
3539 018852¢
3S4C 216526
3541 D16534
2542 016542
3543 ClBS'™
3c44 (16552
3545 QI65€E0
3546 QJ1BSES
47 (18572
35+48 (QIlEEDRC
3549 CleeC3
35S0 C1esl0
3551 OQlEelb
3562 0166zl
383 0Iiee30
2CC4 016636
3JEEE  JIeku4
35St (1leeSe
2557

25E8

3559

3560

3CE! BESE

016656

0ocage
006
015442
0C6
C15440

16-Mn =78 09:17

o4711r
02012
04444
gca2522

e
0201eM

020123
051505
Q47s22
Q42412
0e0040

003
0S2131
gu7128
o47s2e
Q42412
020040

000
£40510
0sS110S
0§6111
047040
£c2105
C46l1ll
040524
051117
0S4105
020040

047514
Q52524
047522
Q42412
020040

000

04e11l
051131
Q47522
Q40412
g46040
020040
O4e040

000

002
c00

0L XL

022105
02G12v

122
£S0130
051040

40522
Q4044C
41101
052117

nn

oo 0o OO0
-NL v o

O
4z
£
wmn

W O -0
[ V2 Lt Sy S [am I
COOr—=MUeep—- 4 ()
oL~y 00

053108

FO6

PRIE ™1
EMI JASCIZ  -NO INTERRUPT/
EME: LASC12 /TRANSMITTER DONE NOT SET/
EM3: LASCII /BUS ADDRESS ERROR/
LASCIZ (1S (12> /EXP REC/
EMY: .ASCII .BYTE COUNT ERROR-/
ASSIZ (IS (1) /EXP REC/
EMS: _ASCI1Z /CHARACTER AVAILABLE NOT SET.
EMG: LASCII /SILO DATA ERROR-
LASCIZ <15>¢12) /EXP REC -
EMT: LASCII /SILO STATUS ERRIR.
LASCIZ  «16°¢<12> /EXP REC-
EMI0:  .ASCII  /SILO ALARM ERROR/
JASCIZ <15>¢12>/ALARM LEVEL FILL LEVEL/
_EVEN
:DATA TRBLES FOR ERROR QUTPUT
C11: 2
.BYTE 6,2
SAVRS
.BYTE 6,0
SAVRY

e —— —— v —— ———  a——




CoOHE MRCYLL 27073
DIDHCB.PFC

L1~ 1

3566 016670
356" 01667

s
o1

-

bopepape

£702

16-MRR-76 09:17 PRSE 72

o1y

nTe: 2
BYTE 2,14
BYTE SéERS

éhvaa
ENDCIC: O
END

GO6
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DooHC  MACYLL! 20.732) 18-MAR-TS (09:17 PRAGE 7M

DoOHCB.PFC oRJSs REFERENCE "mBLE -- JSER SYMBOLS

#oRCNT= 018013 3217« 3252%  3259s

2E3IN  00124e 528 957 Qc3s 3083

EINKRD Q15170 3270+ 3271 3301#

8ITx = 0CCOCL i23cs  1e93s 1352 IM13m 1472 15328 15%92¢  1eS2s 1712s 17728 18328 18928  13S2»
SClZe 2272w Z132w 21928 2236 22908  2324s 23688 24128  24Sks 25008 2544s  2583s
2b3cs  2tTbs  2720% 2764w 2B0OB8s  2B8S2s 2896s

37700 = 0200101 £04s

BITC! = Q0CCLR2 6038

81732 = CCCO04 Yard ]

21703 = 000C! g0l

BITA4 = 000020 6008

81T0S = 000040 S99 .

82736 = DCC1a0 5984 997 10999 29185

SIT07 = 020200 SQrs 1171

2IT08 = 000M00 5964

21738 = CC1000 S35s 1098 1135 1172 12C8

81710 = 032200C S94s 1175 X

EIT11 = DCNOOC 5338 9390 1024 1058 1093 1120 1187 1204 1243 1303 1363 1423 1483
1543 1603 1663 1723 1783 1843 1903 1963 223 283 2143 2204 2248
2292 2336 2380 2424 2468 2tl2 258k 2500 b4y 2688 2732 2778 2929
2864 2911 295¢ 2987 3033

8iT12 = DICOOC S928 1031 1138 . _

3IT13 = 020000 S9ls  106S 1173 1210 1253 1313 1373 1433 1493 1553 1813 1£73 1733

, 1793 1853 1913 1973 2033 2093 2183

BITI4 = 040000 c30s 1136 _ -

BITIS = 100000 c8ey 1212 2914 2921 2955 2359 2933 2996 3036 3040

CHRCNT DIS1E6 3268 3272 3285% 32998 3300

CLERR 01526 1244 1304 1364 1424 1484 1544 1604 1664 1724 1784 1844 1304 1954
20e= 2084 2144 2206 2250 2294 2338 2382 2426 2470 2S1y 2558 2802
2646 2690 2734 2778 28ee 2866 33288

CRTRBP 014366 3131 3134 3141 31448

DEVRDR 015010 3215% 3249 32578

CHBR 0iS364 1269 1271 1329 1331 1389 1391 1449 1851 1509 1S11 1569 1571 1623
1631 1689 169} 1749 1751 1809 1811 1869 1871 1923 1931 1993 199]
2049 2051 2108 2lll 2169 2171 2220 2264 2308 2352 2396 2440 2484
cSe8 2572 2616 2660 2704 2748 2792 2835 2880 3331% 3355 ]

CHBAR (0158370 1251% 1262 1266 1311 1322 1326 1371 1382 1386 1431% 1442 1448 1491
1502 1506 1551#% 1562 1566 16l1* 1622 1626 1671% 1682 1686 1731 % 1742
1746 1791% 1802 1806 1851% 1862 1866 1911 1922 1926 1971% 1982 1986
2031% 2042 2046 2091 2102 2106 21581l 2162 2165 2209¢ 2253* 2297  234l#
2385% 2429 2473x 2617% 2551% 250S* 26439x 2693 2737% 278lx 2828 23e9%  335T#

CHBC 015366 1249 1279 1281 1309¢ 1339 1341 1369 1399 1401 1429%  1N59 1461 1433
1519 1821 1549% 1579 158! 1609+ 1639 1641 1669+ 1699 1701 1729% 1759
1761 1789 1819 1ec! 1849+ 1879 1881 1909% 1939 1941 1963« 1399 2cC.
20z9% 2059 2061 2089+ 2119 2121 2149% 2179 2181 2219 2253 230: 2351
2395 2439 o483 2527 2571 261¢€ 2659 2703 2787 2791 ¢83S 2973 333Cx

3341%  3356#

DHEcR 015372 33588
015362 33t4s

DHNRC 015360 2326 3001 3353 )

DHRLVL 0154g2 933« 1011  1Dl2* 1027* 1045 1046*  106l¥ 1079 108C* 1095k . Ill6  IlI7» 1132
1153 1154 11gSx 1150  1191» 12Ce» 1227  1228¢ 1286 1287+ 1346 1347 1406
1407% 1466  Iebr+ 1506 1527+ I1SE6  1S87% 16496 ENP*  1°06  L7aew 1%6h  1TEeh
1826 1827» 1886  1BE7+¢ 1346 1347« 2006  2007* 0b6 2067 213  2127x 313
2187¢ 2913x 3362w )

DHRVEC D15400 943 391s 1011+ 1025+ 1045% 1059+ 1079x  1094% 1116  1131® 1153  1183x 1133
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v

MCYLL 200032

D'DH»B PFC
DMSCR 015356
CWSLR  31537E
MHSSR 013374
ChRTLVL 018406
OHTVEC 2154CH
DTl 016655
D12 016670
EMO 016230
EMI 0ig310
EMIOD C16603
EM2 016325
EM3 016356
EM4 016415
EME 016453
EME 016507
EM7 016544
ENDCOD O0Q16&7
EOP 0140590
ERRCNT 015414
ERRFLG 015410
ERRMSG 01435Y4
tRRORS 014240
ERRTAB 016164
ERTABD 014434
ESCAPE 015420
EXITER 014412
FREEZ1 015422
HALTS 014372
HCCRE  01548§

16-MAR-7S  09:17

PAGE 7S

CROSS REFERENCE TRBLE -- USER SYMBOLS

35374
3543
3571s

3152+

Q1%
3140s
3116%
34848
3157
1023%
1662+#
2379#
2949%
31528
2985*
31468

Q2o

1286%

g8

1099+%
1204*
1363%
1548
1732%
1918
2143
2275
2389*
2512%
2617
738
28‘4: %
3329*
3006

33694
3073#

1057%
1722#%
cHe 3
2984#

3030#
3386#

1346%

103"

3038%*

1092%
1782*
2467 %
3029+*

3111

3103

1129%
1842%
2511*
3155

3372k

DO~
a0

CITU s = p—e ——
Ule— -3 D

oLLoom

3121#

3132

1203#%
1962#*
2599

3138#

1242%
c0ceox
cb43x

33678

1302#
2082#
2687 %

N2l

5362!
4o
2731%

17664

1CES+
1157
1258
1483%
1e58*
1853#
2J38
c23l*
2345%
2468+
2573
269+
2803%
2322

303+
1118
1293+
1547%
1828
2069

1170%
1528+
1905

1422%
22C3»
2. 75%

1826+

107!

11724
13035+
14ELs
1673#
1858

2083#
22484+
2353

2474

cSB3#
2E37%
2820%
£352*

3040
1119
1307#%
1588

1829+
2087%

1192+#
1546
1548%

M-t ]
2247#%
2819+%

1542%
2291%»
2863%




O<THC

MCYLL 27732

DIDHCB.PFL

HILINM
ICOUNT

IN3UF
INAFLG

LCRD

LOBITS
~SGICR
LOLIM
LPCNT
MCRLF
MDATA
MEPRSS
MFFAIL
GM

PASCNT

015906
Bis42y

016126
015450
104404
194403
Q1462C
014526
014540
014628
015454

= (77570

C14740
00300C

015316

0146860
014734
Qic412

PC =7000007

EFAIL
PFTAB
POPRQ =

FOP1SP=
PCPeSP=
= 177778

FS

015460
015514

16-MRRk-76 09:17

CROSS REFERENCE TRBLE -- USER SYMBOLS

1103*
1300%

3240
1022*
1bbl*
2arss
2948+
3220
25
3235
938
3467
3465
3207

3074%
1244%
2024*
o426 #
2bc*
907

34244
3151

qOS*
1105+
1314#

PRGE 76
2256

10S6%  1091%
172l 17Blx
c4y22x  2466#%
2983 30282
347S#

356 9S8*
946 7T
3120% 3385%
13528 14128
cl3es 2192%
c7c0s 27648
2296 2340
2866 3339
32588 3259

3255#
3097% 33744
34798
3143 3417
48 869
2226 3235
3075 3368
1304%  1364#*
2084x  2144x
2428+¢  2470%
2734% 2736
33908 39411
SE3* 987 %
1127%  1150%
1360¢  1374%

3241

1424 %
220E*
247
2778

939»
11492%
1420+

JOb

Y »——
WU O -

oo
£ r—-N
& W

1832
c280#
235¢cs
2428

3243

1484
22C8#*
2El4*
2-80»

1001+
1164
1434

1592+
23244
28961
2472

3245

1S44»
2250*
2C1b#%
2822+

e e be
L0
O~
W

16528
23688

e516

ad
3
»

[y

-

eldle
2eees

1712%
c4l2s

2560

1664#
2294*
2560*
2866%

1035*
1ecl#*
1540%

(4 VX ANT =)
~Je L
[V I & o o)
Oe—=+—
M W

1772%
24568

2604

1724%
2295%
cEd2x
2B68*

105S»
12149*
1554»

14921
2202+
2774+

18324
25C0s

2648

(421
52451
2818+

18%=3
2544s

2532

TN

2362#

=952
2589s

2736

4 (nc)

Gilrta.g

4
* 4 A
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